


VERTICAL PUMPS

Rev. D

EVM

CONTENTS 50Hz
Page
- CONTENTS
CONTENTS 100
- SPECIFICATIONS
SPECIFICATIONS 200
SELECTION CHART (TYPE KEY) 202
SELECTION CHART  (TABLE) 204
PERFORMANCE CURVE EVM(.)3 207
PERFORMANCE CURVE EVM(.)5 211
PERFORMANCE CURVE EVM(.)10 216
PERFORMANCE CURVE EVM(.)18 220
PERFORMANCE CURVE EVM(.)32 224
PERFORMANCE CURVE EVM(.)45 231
PERFORMANCE CURVE EVM(.)64 236
- CONSTRUCTIONS
SECTIONAL DRAWINGS EVM(.)3 without ball bearing 300
SECTIONAL DRAWINGS EVM(.)3 with single ball bearing 301
SECTIONAL DRAWINGS EVMG3 without ball bearing 302
SECTIONAL DRAWINGS EVMG3 with single ball bearing 303
SECTIONAL DRAWINGS EVM(.)5 without ball bearing 304
SECTIONAL DRAWINGS EVM(.)5 with single ball bearing 305
SECTIONAL DRAWINGS EVMG5 without ball bearing 306
SECTIONAL DRAWINGS EVMG5 with single ball bearing 307
SECTIONAL DRAWINGS EVM(.)10 without ball bearing 308
SECTIONAL DRAWINGS EVM(.)10 with single ball bearing 309
SECTIONAL DRAWINGS EVMG10 without ball bearing 311
SECTIONAL DRAWINGS EVMG10 with single ball bearing 312
SECTIONAL DRAWINGS EVM(.)18 without ball bearing 314
SECTIONAL DRAWINGS EVM(.)18 with single ball bearing 315
SECTIONAL DRAWINGS EVMG18 without ball bearing 317
SECTIONAL DRAWINGS EVMG18 with single ball bearing 318
SECTIONAL DRAWINGS EVM(.)32 without bearing 320
SECTIONAL DRAWINGS EVM(.)32 with single bearing 321
SECTIONAL DRAWINGS EVM(.)32 with double bearing 323
SECTIONAL DRAWINGS EVMG32 without bearing 324
SECTIONAL DRAWINGS EVMG32 with single bearing 325
SECTIONAL DRAWINGS EVMG32 with double bearing 327
SECTIONAL DRAWINGS EVM(.)45 without bearing 328
SECTIONAL DRAWINGS EVM(.)45 with single bearing 329
SECTIONAL DRAWINGS EVM(.)45 with double bearing 331
SECTIONAL DRAWINGS EVMG45 without bearing 332
SECTIONAL DRAWINGS EVMG45 with single bearing 333
SECTIONAL DRAWINGS EVMG45 with double bearing 335
SECTIONAL DRAWINGS EVM(.)64 without bearing 336
SECTIONAL DRAWINGS EVM(.)64 with single bearing 337
SECTIONAL DRAWINGS EVM(.)64 with double bearing 339
SECTIONAL DRAWINGS EVMG64 without bearing 340
SECTIONAL DRAWINGS EVMG64 with single bearing 341
SECTIONAL DRAWINGS EVMG64 with double bearing 343
100

B EaARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

CONTENTS 50Hz
Page

CONSTRUCTIONS: Material EVM(.)3-5 344
CONSTRUCTIONS: Material EVM(.)10 346
CONSTRUCTIONS: Material EVM(.)18 348
CONSTRUCTIONS: Material EVM(.)32 350
CONSTRUCTIONS: Material EVM(.)45 352
CONSTRUCTIONS: Material EVM(.)64 354
CONSTRUCTIONS: (Qty for model) EVM(.)3-5 356
CONSTRUCTIONS: (Qty for model) EVM(.)10-18 357
CONSTRUCTIONS: (Qty for model) EVM(.)32 358
CONSTRUCTIONS: (Qty for model) EVM(.)45 359
CONSTRUCTIONS: (Qty for model) EVM(.)64 360
BEARINGS 361
MECHANICAL SEAL 362

- DIMENSIONS
DIMENSIONS: 400
DIMENSIONS: EVM(.)3-5 401
DIMENSIONS: EVM(.)10-18 402
DIMENSIONS: EVM(.)32 404
DIMENSIONS: EVM(.)45 405
DIMENSIONS: EVM(.)64 406
PACKING AND WEIGHT 407
PACKING AND WEIGHT EVM(.)3-5 408
PACKING AND WEIGHT EVM(.)10-18 409
PACKING AND WEIGHT EVM(.)32 410
PACKING AND WEIGHT EVM(.)45 411
PACKING AND WEIGHT EVM(.)64 412

-MOTOR DATA
MOTOR DATA: EVM(.)3-18 500
MOTOR DATA: EVM(.)32 501
MOTOR DATA: EVM(.)45 502
MOTOR DATA: EVM(.)64 503

101

B EaARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

speciFicaTions EVIM(.)3-18

50 Hz

PUMP
Type EVMG EVM EVML EVMW
Type of liquid Clean water, water contains glycol and moderately Drinking water
aggressive fluids
Liquid T t °C 1510 +120 15 0 +85
Handled emperature [°C] -15to
Max solid content 50 ppm (Particle size 0,1-0,25mm or less) /
Max chlorine ion density 500 ppm /
Maximum working pressure [MPa] 16/25
[bar] 16/25
Construction Impeller Closed centrifugal type
Shaft seal type Mechanical seal
Bearing Sealed ball bearing with permanent grease
Pipe connection Suction /Discharge See dimension table
Impeller EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Intermediate casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Bottom casing Cast iron EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Casing cover Cast iron EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Outer casing EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Shaft EN 1.4401 (AISI 316)
Material Liner fin EPDM / EPDM / PTFE / EPDM (1) /
9 EN 1.4301 (AISI 304) | EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
Motor bracket Cast iron Castiron/ Castiron/ Cast iron /
EN 1.4301 (AISI 304) [ EN 1.4401 (AISI 316) | EN 1.4301 (AISI 304)
. - . Silicon Carbide/
Mechanical Seal Silicon Carbide/Carbon/FPM Carbon/EPDM (1)
O-Ring EPDM | EPDM | FPMm EPDM (1)
Applicable standard of test 1ISO 9906 annex A
MOTOR
Electric -TEFC
Type -
Single phase | Three phase
No. of Poles 2
Insulation class Class F (class B for temperature rise)
Protection form IP 55
) [kW] 0.37+2.2 0.37+15
Power rating
[HP] 0.5+3.0 0.5+20
Frequency [Hz] 50
230/400 = 10%
0,
Voltage v 230tv2:21(ivcu (up to 4 kW)
(upto 2.2 kW) 400/690 V  10% Delta conn.
(above 5.5 kW)
Over load protection User to provide
Casing material Aluminium

Flange mount (IEC motor)

IM B14 (up to 4 kW)

IM B5 (above 5.5 kW)

(1) EPDM Wras approved for EVMW

200

——J =TT

EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

speciFicaTions EVIM(.)32-64 50 Hz
PUMP
Type EVMG EVM EVML
Type of liquid Clean water, water conta_ins glycol and moderately
o aggressive fluids
hlggzjdle d Temperature [°’C] -15t0 +120
Max solid content 50 ppm (Particle size 0,1-0,25mm or less)
Max chlorine ion density 500 ppm
Maximum working pressure [MPa] 1.673.0
[bar] 16/30
Impeller Closed centrifugal type
Construction Shaft seal type Mechanical seal
Bearing Sealed ball bearing with permanent grease
Pipe connection Suction /Discharge See the dimension table
Impeller EN 1.4301(AISI 304) EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
Intermediate casing EN 1.4301(AISI 304) EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
Bottom casing Cast iron ASTM CF8 ASTM CF8M
Casing cover Cast iron Gast iron + Cast iron +
EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Outer casing EN 1.4301(AISI 304) EN 1.4301(AISI 304) EN 1.4401 (AISI 316)
. Shaft EN 1.4401 (AISI 316)
Material
EVMB2 EPDM/ EPDM/ PTFE/
) ) EN 1.4301 (AISI 304) EN 1.4301 (AISI 304) EN 1.4401 (AISI 316)
Liner ring BTFE
EViS.64 EN 1.4401 (AISI 316)
Motor bracket Cast iron
Mechanical Seal Silicon Carbide/Carbon/FPM
O-Ring EPDM | EPDM | FPM
Applicable standard of test ISO 9906 annex A
MOTOR
Electric -TEFC
Type .
Single phase | Three phase
No. of Poles 2
Insulation class Class F (class B for temperature rise)
Protection form IP 55
. [kW] 22 2.2+37
Power rating [Pl 3 3.0:50
Frequency [Hz] 50
230/400 £ 10%
230V+10% (up to 4 kW)
Voliage M (22kW) 400/690 V = 10% Delta conn.
(5.5 kW and above)
Over load protection User to provide
Casing material Aluminium
IM B14 (up to 4 kW)
Flange mount (IEC motor) IM B5 (above 5.5 kW)

201

——J =TT

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

seLecTION cHART EVM(.)3-18 50 Hz

example for pump without motor:

| EWM [ 10 | | 2 | N | 5 |

50 Hz

Flanges N Oval flanges
F Round flanges

No. of impellers

12/ 3] 4]5]6]8[10{11[12{14[15[16[ 18] 20 [ 22|

m°h at max. efficiency

[ 315 ([10]18]

EVM AISI 304 version
EVML AISI316 version

EVMG Cast iron version
EVMW Woras version

Model series

example for pump with motor:

[ EVWM | 10 | | 2 | N | 5 | /| 114 | ™M |

Single phase only

Power output in kW

[0.75/1.1 1.5/2.2/3.0/ 4.0/ 55]7.5 11|

50 Hz

Flanges N Oval flanges
F Round flanges

No. of impellers

[2]3]|4]|5[6]|8[10[11]12][14]15]16[18] 20| 22|

m®h at max. efficiency

[ 3] 5([10] 18]

EVM AISI 304 version
EVML AISI316 version

EVMG Cast iron version
EVMW Wras version

Model series

202

% E=2ARA EBARA PUMPS EUROPE S.p.A.




VERTICAL PUMPS

Rev. D

EVM

seLecTioN cHART EVM(.)32-64

50 Hz

example for pump without motor:

| Evm | 32 |

2 |- 2 | F

| 5 |

50 Hz

Round flanges

No of reduced diameter impellers

No. of impellers

[o[1[2]3]

[1]2]3]4][5][6]7]8

9 [10[11]12]13114]

m®/h at max. efficiency

Model series

[32]45] 64

EVMG Cast iron version

EVM  AISI 304 version

EVML AISI 316 version

example for pump without motor:

| EvMm | 32 |

2 |- 2 | F |

5 |/ 30 ] m |

Single phase only

Power output in kW

[2.2]3.0/4.0{5.5(7.5/ 1] 15[18.5] 22| 30|

50 Hz

Round flanges

No of reduced diameter impellers

No. of impellers

loJ1]2]3]

[1]2]3[a]s5]6[7]8

9 [10[11]12]13] 14|

m®/h at max. efficiency

Model series

52]45] 4]

EVMG Cast iron version

EVM  AISI 304 version

EVML AISI 316 version

203

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

seLecTION cHART EVM(.)3-18 50 Hz

Pump Type Motor Maximum Q=Capacity
EVM(.) kW | HP | Size | WOrking | ymin o| 20 40 60 75 100 | 130 | 150 200 | 250 | 300 | 350 | 400
p;:/ls::;e mh o 12 | 24 | 36 | 45 | 60 | 7.8 9 12 15 | 18 | 21 24
Single phase Three phase H=Total manometric head in meters
3 2N5/0.37 M 3 2N5/0.37 037 | 05 | 71 18.6| 16.7 | 140 | 103 | 66 - - - - - - - -
3 3N5/0.37 M 3 3N5/0.37 037 | 05 | 71 27.9| 251 | 209 | 155 | 9.9 - - - - - - - -
3 4N5/0.55 M 3 4N5/0.55 0.55| 075 | 71 37.2| 334 | 279 | 206 | 132 - - - - - - - -
3 5N5/0.55 M 3 5N5/0.55 0.55 | 075 | 71 46.5| 42.0 | 349 | 258 | 165 - - - - - - - -
3 6N5/0.75 M 3 6N5/0.75 075 | 1 80 16 56.0| 50.0 | 42.0 | 30.9 | 19.8 - - - - - - - -
3 7N5/0.75 M 3 7N5/0.75 075 | 1 80 65.0| 58.5 | 49.0 | 36.1 | 23.1 - - - - - - - -
39N5/1.1 M 3 9N5/1.1 11| 15 | 80 84.0| 750 | 63.0 | 46.5 | 29.7 - - - - - - - -
3 11N5/1.1 M 3 11N5/1.1 11 | 15 | 80 102.0| 92.0 | 77.0 | 56.5 | 36.3 - - - - - - - -
3 13N5/1.5 M 313N5/1.5 15| 2 | 90s 121.0{ 109.0 | 90.5 | 67.0 | 43.0 - - - - - - - -
3 15N5/1.5 M 3 15N5/1.5 15 | 2 | 90s 140.0( 125.0 | 105.0 | 77.5 | 49.5 - - - - - - - -
318F5/2.2 M 3 18F5/2.2 22| 3 | 9oL 167.0| 151.0 | 126.0 | 92.5 | 59.5 - - - - - - - -
322F5/22M 3 22F5/2.2 22| 3 | 9oL 25 205.0 184.0 | 154.0 | 113.0 | 725 - - - - - - - -
- 3 26F5/3.0 3 4 | 100 242.0| 217.0 | 182.0 | 134.0 | 86.0 - - - - - - - -
5 2N5/0.37 M 5 2N5/0.37 037 05 | 71 20.2| - 184 | 169 | 154 | 122 | 6.9 - - - - - -
5 3N5/0.55 M 5 3N5/0.55 055|075 | 71 30.2| - 276 | 253 | 231 | 184 | 103 - - - - - -
54N5/0.75 M 54N5/0.75 075 | 1 80 405 - 36.8 | 33.8 | 30.8 | 245 | 13.8 - - - - - -
55N5/1.1 M 5 5N5/1.1 11| 15 | 80 50.5| - 46.0 | 420 | 386 | 306 | 17.2 - - - - - -
56N5/1.1M 56N5/1.1 11 | 15 | 80 60.5 - 550 | 50.5 | 46.5 | 36.7 | 20.6 - - - - - -
57N5/1.5M 57N5/1.5 15| 2 | 90s 16 705 - 64.5 | 59.0 | 54.0 | 43.0 | 241 - - - - - -
58N5/1.5 M 58N5/1.5 15| 2 | 90S 80.5| - 735 | 67.5 | 615 | 49.0 | 27.5 - - - - - -
5 10N5/2.2 M 5 10N5/2.2 22 | 3 | 9oL 1020 - 935 | 86.0 | 79.0 | 63.0 | 36.6 - - - - - -
5 11N5/2.2 M 5 11N5/2.2 22 | 3 | 9oL 1130 - | 1030 | 945 | 865 | 69.5 | 40.5 - - - - - -
512N5/2.2 M 5 12N5/2.2 22 | 3 | 9oL 1230| - | 1120 | 103.0 | 945 | 755 | 44.0 - - - - - -
- 5 14N5/3.0 3 4 | 100 1430/ - | 131.0 | 120.0 | 110.0 | 88.0 | 51.0 - - - - - -
- 5 16N5/3.0 3 4 | 100 164.0( - | 150.0 | 138.0 | 126.0 | 101.0 | 58.5 - - - - - -
- 5 18F5/4.0 4 | 55 | 112 184.0| - | 168.0 | 155.0 | 142.0 | 113.0 | 66.0 - - - - - -
- 5 19F5/4.0 4 | 55 | 112 25 1940 - | 178.0 | 163.0 | 150.0 | 120.0 | 69.5 - - - - - -
- 5 22F5/4.0 4 | 55 | 112 2250 - | 206.0 | 189.0 | 173.0 | 139.0 | 80.5 - - - - - -
- 5 24F5/5.5 55 | 7.5 | 1328 246.0 - | 224.0 | 206.0 | 189.0 | 151.0 | 88.0 - - - - - -
10 2N5/0.75M | 10 2N5/0.75 075 | 1 80 220 - - - 210 | 204 | 189 | 176 | 132 | 7.8 - - -
10 3N5/1.1 M 10 3N5/1.1 11 | 15 | 80 330 - - - 316 | 305 | 284 | 264 | 198 | 117 - - -
10 4N5/1.5 M 10 4N5/1.5 15| 2 | 90S 440 - - - 42,0 | 405 | 378 | 352 | 264 | 15.6 - - -
10 5N5/2.2 M 10 5N5/2.2 22 | 3 | 90L 55.0| - - - 525 | 51.0 | 475 | 440 | 33.0 | 195 - - -
10 6N5/2.2 M 10 6N5/2.2 22 | 3 | 9oL 16 66.0| - - - 63.0 | 61.0 | 570 | 53.0 | 395 | 234 - - -
- 10 8N5/3.0 3 4 | 100 88.0| - - - 84.0 | 815 | 755 | 705 | 525 | 31.2 - - -
- 10 10N5/4.0 4 | 55 | 112 1100 - - - 105.0 | 102.0 | 945 | 88.0 | 66.0 | 39.0 - - -
- 10 11N5/4.0 4 | 55 | 112 121.0| - - - 116.0 | 112.0 | 104.0 | 97.0 | 725 | 43.0 - - -
- 10 12N5/5.5 55 | 75 [ 1325 1340 - - - 130.0 | 126.0 | 118.0| 111.0 | 865 | 55.0 - - -
- 10 14N5/5.5 55 | 7.5 | 1328 157.0| - - - 151.0 | 147.0 | 138.0 | 130.0 | 101.0 | 64.5 - - -
- 10 15F5/5.5 55 | 7.5 | 1328 168.0| - - - 162.0 | 158.0 | 148.0 | 139.0 | 108.0 | 69.0 - - -
- 10 16F5/7.5 75 | 10 |132S 179.0( - - - 173.0 | 168.0 | 158.0 | 148.0 | 115.0 | 73.5 - - -
- 10 18F5/7.5 75 | 10 |132S 25 202.0| - - - 194.0 | 189.0 | 177.0 | 167.0 | 129.0 | 83.0 - - -
- 10 20F5/7.5 75 | 10 |132S 2240 - - - 216.0 | 210.0 | 197.0 | 185.0 | 144.0 | 92.0 - - -
- 10 22F5/11 11 15 | 160M 246.0| - - - 238.0 | 231.0 | 217.0 | 204.0 | 158.0 | 101.0 - - -
18 2F5/2.2 M 18 2F5/2.2 22 | 3 | 9oL 32.0| - - - - - 310 | 303 | 285 | 257 | 219 | 172 | 116
- 18 3F5/3.0 3 4 | 100 480 - - - - - 46.0 | 455 | 43.0 | 386 | 328 | 257 | 17.4
- 18 4F5/4.0 4 | 55 | 112 1.6 64.0 - - - - - 615 | 605 | 57.0 | 51.5 | 440 | 343 | 232
- 18 5F5/5.5 55 | 7.5 | 1328 80.0| - - - - - 770 | 755 | 715 | 645 | 545 | 43.0 | 29.0
- 18 6F5/5.5 55 | 7.5 [ 1328 96.0| - - - - - 920 | 910 | 855 | 77.0 | 655 | 51.5 | 34.8
- 18 7F5/7.5 75 | 10 |132S 1120 - - - - - 108.0 | 106.0 | 100.0 | 90.0 | 76.5 | 60.0 | 40.5
- 18 8F5/7.5 75 | 10 |132S 128.0| - - - - - 123.0 | 121.0 | 114.0 | 103.0 | 87.5 | 685 | 46.5
- 18 10F5/11 11 15 | 160M 162.0| - - - - - 157.0 | 155.0 | 147.0 | 134.0 | 116.0 | 935 | 69.0
- 18 12F5/11 11 15 | 160M 25 1940 - - - - - 189.0 | 186.0 | 177.0 | 160.0 | 139.0 | 112.0 | 83.0
- 18 14F5/15 15 | 20 |160M 2270 - - - - - | 220.0| 217.0 | 206.0 | 187.0 | 162.0 | 131.0 | 96.5
- 18 15F5/15 15 | 20 |160M 2430| - - - - - | 236.0| 233.0 | 221.0 | 201.0 | 174.0 | 141.0 | 104.0
- 18 16F5/15 15 | 20 |160M 2590 - - - - - | 252.0| 249.0 | 236.0 | 214.0 | 186.0 | 150.0 | 110.0

1.6 MPa=16 bar
2.5 MPa=25 bar

204

ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

seLecTioN cHART EVM(.)32-64

50 Hz

Pump Type Motor Maximum Q=Capacity
EVM(.) working |l/min 0 200 350 500 600 700 900 1000 1200 1400
kW HP Size |Pressure fmyh o 12 21 30 36 42 54 60 72 84
[Mpa] H=Total manometric head in meters
32 1-0F5/2.2 2.2 3 90L 22.6 20.2 17.5 13.9 10.3 5.7 - - - -
32 2-2F5/3.0 3 4 100 39.0 34.6 29.7 212 14.2 - - - - -
32 2-0F5/4.0 4 5.5 112 45.0 40.5 36.0 29.5 23.2 14.9 - - - -
32 3-3F5/5.5 55 7.5 1328 55.0 52.0 45.0 32.8 22.7 - - - - -
32 3-0F5/5.5 55 75 1328 68.0 61.0 54.5 45.0 36.1 241 - - - -
32 4-3F5/7.5 7.5 10 1328 81.0 72.5 63.5 48.5 35.6 - - - - -
32 4-0F5/7.5 7.5 10 1328 16 90.5 815 73.0 61.0 49.0 33.3 - - - -
32 5-3F5/11 11 15 160M 104.0 93.0 82.0 64.0 48.5 30.5 - - - -
32 5-0F5/11 1 15 160M 113.0 102.0 91.5 76.5 62.0 42.5 - - - -
32 6-3F5/11 11 15 160M 126.0 114.0 100.0 79.5 61.5 39.7 - - - -
32 6-0F5/11 11 15 160M 136.0 123.0 110.0 92.0 75.0 51.5 - - - -
32 7-3F5/15 15 20 160M 149.0 134.0 119.0 95.5 74.5 49.0 - - - -
32 7-0F5/15 15 20 160M 158.0 143.0 128.0 108.0 87.5 61.0 - - - -
32 8-3F5/15 15 20 160M 172.0 155.0 137.0 111.0 87.0 58.0 - - - -
32 8-0F5/15 15 20 160M 181.0 164.0 147.0 123.0 101.0 70.0 - - - -
32 9-3F5/18.5 18.5 25 160L 194.0 175.0 156.0 127.0 100.0 67.5 - - - -
32 9-0F5/18.5 18.5 25 160L 203.0 184.0 165.0 139.0 114.0 79.5 - - - -
32 10-3F5/18.5 18.5 25 160L 25 217.0 196.0 174.0 142.0 113.0 76.5 - - - -
32 10-1F5/18.5 18.5 25 160L 223.0 202.0 180.0 151.0 122.0 84.5 - - - -
32 11-3F5/22 22 30 180 239.0 216.0 193.0 158.0 126.0 85.5 - - - -
32 11-0F5/22 22 30 180 249.0 225.0 202.0 170.0 139.0 97.5 - - - -
32 12-3F5/22 22 30 180 262.0 237.0 211.0 174.0 139.0 95.0 - - - -
32 12-1F5/22 22 30 180 268.0 243.0 217.0 182.0 148.0 103.0 - - - -
32 13-3F5/30 30 40 200 285.0 257.0 229.0 189.0 152.0 104.0 - - - -
32 13-0F5/30 30 40 200 3.0 294.0 266.0 239.0 202.0 165.0 116.0 - - - -
32 14-3F5/30 30 40 200 307.0 278.0 248.0 205.0 165.0 113.0 - - - -
32 14-0F5/30 30 40 200 316.0 287.0 257.0 217.0 178.0 125.0 - - - -
45 1-1F5/3.0 3 4 100 21.0 - 18.9 17.6 16.3 14.3 8.3 - - -
45 1-0F5/4.0 4 55 112 27.0 - 25.6 24.6 23.5 21.8 16.7 13.3 - -
45 2-2F5/5.5 5.5 7.5 1328 42.0 - 38.1 35.8 33.4 29.8 18.6 - - -
45 2-0F5/7.5 7.5 10 1328 54.0 - 51.5 50.0 48.0 45.0 35.4 29.1 - -
45 3-2F5/11 11 15 160M 69.0 - 64.0 61.0 58.0 53.0 37.3 - - -
45 3-0F5/11 11 15 160M 16 81.0 - 77.5 75.0 72.5 68.0 54.0 45.0 - -
45 4-2F5/15 15 20 160M 96.0 - 90.0 86.0 82.0 76.0 56.0 43.0 - -
45 4-0F5/15 15 20 160M 108.0 - 103.0 100.0 96.5 91.0 73.0 60.5 - -
45 5-2F5/18.5 18.5 25 160L 123.0 - 116.0 111.0 107.0 99.0 74.5 58.5 - -
45 5-0F5/18.5 18.5 25 160L 135.0 - 129.0 125.0 121.0 114.0 91.5 76.5 - -
45 6-2F5/22 22 30 180 150.0 - 142.0 137.0 131.0 122.0 93.5 745 - -
45 6-0F5/22 22 30 180 162.0 - 155.0 151.0 146.0 137.0 110.0 92.5 - -
45 7-2F5/30 30 40 200 177.0 - 168.0 162.0 155.0 145.0 112.0 90.5 - -
45 7-0F5/30 30 40 200 189.0 - 181.0 176.0 170.0 160.0 129.0 108.0 - -
45 8-2F5/30 30 40 200 25 204.0 - 194.0 187.0 180.0 168.0 131.0 106.0 - -
45 8-0F5/30 30 40 200 216.0 - 207.0 201.0 194.0 183.0 148.0 124.0 - -
45 9-2F5/30 30 40 200 231.0 - 219.0 212.0 204.0 191.0 150.0 122.0 - -
45 9-0F5/37 37 50 200 243.0 - 233.0 226.0 219.0 206.0 166.0 140.0 - -
45 10-2F5/37 37 50 200 30 258.0 - 245.0 237.0 229.0 214.0 168.0 138.0 - -
45 10-0F5/37 37 50 200 270.0 - 259.0 251.0 243.0 229.0 185.0 156.0 - -
64 1-1F5/4.0 4 5.5 100 23.7 - - 21.0 20.4 19.7 17.5 15.9 11.4 -
64 1-0F5/5.5 55 7.5 1328 293 - - 26.6 26.1 254 237 223 18.5 135
64 2-2F5/7.5 7.5 10 1328 47.5 - - 42.5 41.5 40.5 36.5 33.5 253 -
64 2-1F5/11 11 15 160M 53.0 - - 48.0 47.0 46.0 425 40.0 324 23.0
64 2-0F5/11 11 15 160M 58.5 - - 53.5 53.0 52.0 49.0 46.5 39.5 30.6
64 3-3F5/15 15 20 160M 71.0 - - 64.0 62.5 61.0 55.5 51.0 39.3 -
64 3-2F5/15 15 20 160M 76.5 - - 69.5 68.0 66.5 61.5 575 46.5 325
64 3-1F5/15 15 20 160M 82.5 - - 75.0 74.0 725 68.0 64.0 53.5 40.0
64 3-0F5/18.5 18.5 25 160L 16 88.0 - - 80.5 79.5 78.0 74.0 70.5 60.5 475
64 4-3F5/18.5 18.5 25 160L 100.0 - - 91.0 89.0 87.0 80.5 75.5 60.5 42.0
64 4-2F5/18.5 18.5 25 160L 106.0 - - 96.5 95.0 93.0 87.0 81.5 67.5 49.5
64 4-1F5/22 22 30 180 112.0 - - 102.0 101.0 98.5 93.0 88.0 745 57.0
64 4-0F5/22 22 30 180 117.0 - - 108.0 106.0 104.0 99.0 945 81.5 64.5
64 5-3F5/30 30 40 200 130.0 - - 118.0 116.0 114.0 106.0 99.5 81.5 59.0
64 5-2F5/30 30 40 200 135.0 - - 124.0 122.0 119.0 112.0 106.0 88.5 66.5
64 5-1F5/30 30 40 200 141.0 - - 129.0 127.0 125.0 118.0 112.0 95.5 74.0
64 5-0F5/30 30 40 200 147.0 - - 135.0 133.0 131.0 124.0 119.0 103.0 815
64 6-3F5/30 30 40 200 159.0 - - 145.0 143.0 140.0 131.0 124.0 103.0 76.0
64 6-2F5/30 30 40 200 165.0 - - 151.0 148.0 146.0 137.0 130.0 110.0 83.5
64 6-1F5/37 37 50 200 170.0 - - 156.0 154.0 151.0 143.0 136.0 117.0 91.0
64 6-0F5/37 37 50 200 25 176.0 - - 162.0 160.0 157.0 149.0 143.0 124.0 99.0
64 7-3F5/37 37 50 200 188.0 - - 172.0 169.0 166.0 156.0 148.0 124.0 93.0
64 7-2F5/37 37 50 200 194.0 - - 178.0 175.0 172.0 162.0 154.0 131.0 101.0
64 7-1F5/37 37 50 200 200.0 - - 183.0 181.0 178.0 168.0 161.0 138.0 108.0

1.6 MPa=16 bar
2.5 MPa=25 bar
3.0 MPa=30 bar

205

E2ARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

SELECTION CHART 50 Hz

U.S.g.p.m. 10 15 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
I I I I I I L TR I N I
T T T T T T T T T T 1 T T T T T T 1
Imp.g.p.m. 10 15 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400
400
H 300
900
ft
[m] 250 = H 200 (ft]
= i 700
200 L NG 4
s NC ] = EEEAN - 600
\ ~
| | L
150 1 N N 1 g 500
! \ \ !
120 i HEAN N - 400
: \ | | 350
100 | \ \ |
I - 300
80 | 250
] |
! I 1 N
| | - 200
60 1 R -+
i 3 S 1001 8 521401164
50 I |
| 150
40 I }
I
|
30 1 = 100
|
i ]
| I
| ! 75
20 T = He=~r
=S Amnag] = 3
= N L ]
as= = \ q
15 T N - 50
N 2 \
\ L
NC N\ \ \ w0
10 \\
g — 30
) \i
25
7
6 — 20
5
15 20 30 40 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000
Q [I/min]
T T T T T T T T T T T T T 11 U T USR] T
1 1.5 2 3 4 5 8 7 8 910 12 14 161820 25 30 40 50 60 70 100 g [m V]
PERFORMANCE CURVES
The specifications below qualify the curves shown on the following pages.
e  Tolerances according to ISO 9906 Annex A
e  The curves refer to effective speed of asynchronous motors at 50 Hz
e  Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm2/s (1 cSt)
e  The NPSH curve is an average curve obtained in the same conditions of performance curves.
. During the pump selection, consider to get a safety margin of at least 0.5 m.
e  The continuos curves indicate the recommended working range. The dotted curve is only a guide.
. In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%

of best efficiency point.

Symbols explanation

Q= volume flow rate
H = total head
P, = pump power input (shaft power)
n-= pump efficiency
NPSH = net positive suction head required by the pump

206

= EaArA

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

Rev. D

EVM

PERFORMANCE cURVE: EVM(.)3 50 Hz
Impeller diameter =89 mm
0 USgpm. 4 8 10 12 14 16 18 20 22
| | | | | | | | | | |
ll) Imp.g.p.rln. Jt EIS 1|0 1|2 1|4 1|6 1|8
30
< — 90
H ~—_ H
™~~~
[m] N~ 80 [ft]
T~
3. —70
)
20 \‘/0{
T N _60
T \\
\ \
S —— 2/\/5 \ — 50
/QJ7 N
\\\ 40
10 \‘\
NPSH 30
[m] [ft]
310 20
NPSH — 2
e — — 5 10
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 15 2.0 2.5 3.0 35 4.0 45 50 Q[m3/h]
0.4
P2 03
[kw] = L
3N5/0.37 —
2N5/0.37 ——me——
0.1 i
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
[%] 50 —
/// ~~—
40 ~
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
207

B Eamra

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)3 50 Hz
Impeller diameter =89 mm
0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
80 CI) Imp.g.p.rln. Jt é é 1|0 1|2 1|4 1|6 1|8
— 250
H H
[m] [ft]
60 T~ — 200
\|
T T~ 7
— | \\ N 150
~—~ |4 NN 100
X055 | U TN
~—_ N LN NPSH
20 \‘ [m] [ft]
\\
~ 310 (50
NPSH — 2
P— | " 5
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 15 2.0 2.5 3.0 35 4.0 45 50 Q [m3/h]
0.8 |
P2 o 7N5/0.75
[kw] ™ 6N5,/0.75 T
04 5N5,/0.55 ———
' 4N5/0.55 — | —
0.2 I
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
[%] 50 —
/// ~
40 -~
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: 1ISO 9906-Annex A
208

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)3 50 Hz
Impeller diameter =89 mm
0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | |
| I I I I | I I I
0 Imp.g.p.m. 4 6 8 10 12 14 16 18
150
~— — 450
H ~—_ H
~~
[m] ~— 400
\.\\\\ \
= 75 - 350
100 =< \/1/5//5
~ \\ \ 7\5/1;/\\\ L300
——— \\ 77/\/‘ 2 \\
—= 5 — 250
T ] \\\
9
5, 7,\> \¥§ IS R Y,
50 \‘\ AN
\\\\\1 NPSH [~ 190
N [m] [ft]
310 (100
NPSH — 2
— —T 5 150
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 1.5 2.0 25 3.0 35 40 45 50 Q [m3/h]
1.6
|
P2, 15N5/1.5 — _
[kw] 13N5 /1.5 L~ —"_—
0.8 1IN5/1.14 —
‘ " ON5 /11— ——
0.4 |
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
(%] 50 S
40 -~
30
0 10 20 30 40 50 60 70 80 Q [1/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
209

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)3 50 Hz
Impeller diameter =89 mm
0 USgpm. 4 6 8 10 12 14 16 18 20 22
| | | | | | | | | | | |
| I I I I | I I I I
0 Imp.gp.m. 4 6 8 10 12 14 16 18
300
— 900
H H
ft
[m] _ 200 [ft]
— 700
200 ===
e 2% -
- SN Fg/jo 600
- \
7
—~ 2 T~ — 400
N
100 ~~ ~ N
\\\\\1 NPSH 300
NN [m] [ft]
3410 200
NPSH — 2
—— —T 5 100
1
0 0
0 10 20 30 40 50 60 70 80 Q [I/min]
[ I I I I I I I I I I
0.0 0.5 1.0 15 2.0 2.5 3.0 35 4.0 45 50 Q [m3/h]
3.2 |
i 2.4 26F5|/3 0
kW] < :
Lew] 20F5 /2.2 5>
1.6 18F5/2.2 =T
0.8
0 10 20 30 40 50 60 70 80 Q [I/min]
60
n
[%] 50 S
40 ~
30
0 10 20 30 40 50 60 70 80 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: 1ISO 9906-Annex A
210

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)5 50 Hz
Impeller diameter =95 mm
0 USgpm.5 10 15 20 25 30 35
| | | | | | | |
CI) Imp.g.p.m. L'!) 1|0 1|5 2|0 2|5 3|0
50
160
H H
[m] ~ M0 (4]
40 =
\\*ﬂ\\ 120
~—— 4
30 _—] ‘ 100
T — I\
~—_ 5/\/5/0 \‘ |
\ﬁs\ \ 80
2 R T \\
- 2N — 60
\\@7 \\\\\ NPSH
~ [m] [ft] o
10 \\\ 8
T~ 2
. 20
NPSH | 10
0 0
0 50 100 Q [1/min]
[ I I I I I I I ]
0 1 2 3 4 5 6 8 Q [m3/h]
0.8
P2 1 1
o] 06 IN5 /0,75
3N5/0.55 —
0.4 N5 /0.3 7>
02 [ |
0 50 100 Q [I/min]
60
n /,
(%]
- 7 N
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
211

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)5 50 Hz
Impeller diameter =95 mm
0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
(I) Imp.g.p.m. é 1IO 1|5 2|0 2|5 3IO
90
Ho o P~ H
[m] = H—_ 250 [ft]
~-\__\\\ \\ 8/1/5/
&
60 M ~— 5 — 200
5\\_\ \‘LVS//Q\
T J \\\\ — 150
- 5/\/5/777\\ NN
30 ™~ \\\\\ —100
\\\\\\1 NPSH
TN [m] [#t]
™ 620 50
NPSH _— ; 10
0 0
0 50 100 Q [1/min]
[ I I I I I I I |
0 1 2 3 4 5 6 8 Q [m3/h]
16 | |
P2 8N5/1.5 T
[kw] ™ IN5/1.5 < T —
08 BN5/1.1 — T —T
’ 5N5,/1.1——
0.4 | |
0 50 100 Q [I/min]
60
n —
(%]
5 7 N
40
0 50 100 Q [1/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
212

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)5 50 Hz

Impeller diameter =95 mm

0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
| | I I I | I
0 Impgpm. 5 10 15 20 25 30
150
— 450
H
[m] . | 00 [ft]
T T - 350
100 == . - &
~— \ > /22
B N5 2 — 300
\70/\/5 . N
RN N - 250
\\\
\\\\ — 200
50 \\\
\\ NPSH [~ 150
N [m] [ft]
6—20 100
4
NPSH - ) 10 —50
0 0
0 50 100 Q [I/min]
[ I I | I | I | I
0 1 2 3 4 5 6 7 8 Q [m3/h]
2.4 | |
P2 0 12N5 /2.2 e ——
kW] = . — —
1.6 10N5/2.2 =
| | ,/
12 | |
0 50 100 Q [I/min]
60
Tl /,
(%]
%0 — N,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
213

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)5 50 Hz
Impeller diameter =95 mm
0 USgpm.5 10 15 20 25 30 35
| | | | | | | |
CI) Imp.g.p.m. L'!) 1IO 1|5 2|0 2|5 Z)IO
180
H  FoT—a H
[m] T 500 [t]
-— 1 _ 5
120 T4ys ) - 400
\/Q)\\
\\ \
\‘ N — 300
\\\
\i\
60 \\ NPSH 200
[m] [ft]
4
| 3410 |-100
-
NPSH _— 2 |
1
0 0
0 50 100 Q [1/min]
[ I I I I | I I ]
0 1 2 3 4 5 6 8 Q [m3/h]
3.0 | |
p \ \ — —
] 28 16N5,/3.0 —
| | T — —
2.2 14N5/3.0 '// —
18 [
0 50 100 Q [1/min]
60
n —T
(7]
5 T N\,
40
0 50 100 Q [1/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
214

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)5 50 Hz
Impeller diameter =95 mm
0 USgpm. 5 10 15 20 25 30 35
| | | | | | | |
ll) Imp.g.p.m. t!) 1|0 1|5 2|0 2|5 3|0
300
— 900
H t
[m] _ | 00 [f
= S — = ~— L
- —— \\ 241 700
m—— T~ /5,5
R R e \2€F5 > 600
_\ﬁl\Q\ 79/35/4" \\\
0 — 500
18F5 N\\\
0 \\ \\ — 400
\k NPSH [~300
\1 [m] [ft]
6 — 20 200
4
NPSH - 10 100
2
0 0
0 50 100 Q [I/min]
[ I I I I I I I I |
0 1 2 3 4 5 6 7 8 Q [m3/h]
5
\ \
Pa 24F5/5.5 ]
kW] 22F5 ;4.0 //,
19F5/4.0 —
\ \
2
0 50 100 Q [I/min]
60
n —
(7]
50 7 N,
40
0 50 100 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
215

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE curRve: EVM(.)10 50 Hz
Impeller diameter =96 mm
0 US.gpm.10 20 30 40 50 60 70
| | | | | | | |
(I) Imp.g.p.m. 1|0 2IO 3|0 4|0 5|0 6|0
80
- 250
H H
[m] L [ft]
60 i - 200
I \\6’1’%
T _""l-\\ <
~NL e | N
—— \/\VS/Q,Q —150
40 O e | AN
~ s ]
\\5/’%5\ \\\
— o — — s, \\ —100
T SN \
\ | ‘\\ ‘\ N NPSH
20 N s e s s \/\/5 0 75 \\ N [m] [ft]
—— NS
T —
— 1240 50
T~ ™~ 8
~~ 20
NPSH — 4
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/h]
2.4 T T T
P, 6N5,/2.2 SR
k] 6 5N5/2.2 D —
4N5 /1.5 =]
0.8 3N5/1.1
2F5/0.75=
0.0 -
0 50 100 150 200 250 Q [I/min]
70
n "
[%] 60 o —
// ™N\
- N
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
216

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE curRve: EVM(.)10 50 Hz

Impeller diameter =96 mm

0 US.gpm.10 20 30 40 50 60 70
| | | | | | | |
| I I I I | I
0 Imp.g.pm. 10 20 30 40 50 60
150
- 450
H H
ft
[m] N | — 400 [
N.*\\\
e —— ~ L
— 1 ~ 350
100 \\\\\\/04/5/{ 0
\\4/5/4 — 300
e s L ON
— —"F\\\ ‘ \\
~ N N L
~W5 30 \\ 250
NN
\\\ \Q\\ — 200
%0 \\‘\ \\ 150
N\ NPSH [~
[m] [ft]
6—20 |-100
4
NPSH _— , 10 =50
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/h]
45
. T
35 11N5,/4.0
L] 10N5/4.0N =
2.5 §N5/3.9 — =
5 |
0 50 100 150 200 250 Q [I/min]
70
n —
\
[%] 60 I
// ™N\
d N
50
40
0 50 100 150 200 250 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
217

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE curRve: EVM(.)10 50 Hz
Impeller diameter =96 mm
0 USgpm.10 20 30 40 50 60 70
| | | | | | | |
| I I I I | I
0 Impgpm. 10 20 30 40 50 60
200
—600
H H
[m] ——— [ft]
160 —1— ———
I gy - 500
*\\\\\ /S/\%
_ TN /4/1/5 &)
T T T — €
120 \\\~‘ /2,\,5' NN — 400
~55 Q\
\\\
N L
L NN 300
80 N NPSH
NG \ [m] []
\\\ 620 200
15
40 4
7 10 {-100
NPSH — , |
I —9
0 0
0 50 100 150 200 250 Q [1/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/h]
5.5
5 ] T
on] +5 15F5/5.5 —— —
14N5 /5.5 T
35 12N5/5.5—>= ]
| L
25 na
0 50 100 150 200 250 Q [1/min]
70
n
/
\
[%] 60 — N
P S
//
50
40
0 50 100 150 200 250 Q [1/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
218

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE curRve: EVM(.)10 50 Hz
Impeller diameter =96 mm
0 USgpm.10 20 30 40 50 60 70
| | | | | | | |
[ I I I I [ I
0 Imp.gpm. 10 20 30 40 50 60
300
— 900
H H
[m] L _ 00 [ft]
N *\\\\
I L >
oL +\\\\:2\8§< — 700
— T ~s
——— 5% > \\ 600
-s\\\:E§¥<\\\\~
— 500
AN
~_ \\\\ - 400
S NN
100 NN
NN -
NO NPSH [~ 300
N [m] [ft]
6 —— 20 200
4
NPSH /// , 10 100
0 0
0 50 100 150 200 250 Q [I/min]
[ I I I I I I I I ]
0 2 4 6 8 10 12 14 16 Q [m3/h]
9
ol
P2 22F5 /11 .
kW] 20F5/7.5 T —
; 18F5,/7.5 N —
16F5,/7.5
3 | ! |
0 50 100 150 200 250 Q [1/min]
70
n
-
N
[%] 60 i ~
s S
//
50
40
0 50 100 150 200 250 Q [1/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
219

EBARA

PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)18 50 Hz

Impeller diameter =115 mm

0 USgpm 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| T T T T 1 T T T T l |
0 0 Imp.gp.m. 20 30 40 50 60 70 80 90 100 110
- 250
H H
[m] [ft]
60 I b = - 200
N Py
)
o
[ e - NG 150
J
40 \\%0
| .
. NN
—~22 NN\ [m] (]
N~ \ N
20 ~> 8
NPSH —~ 4
L] , —10
0 0
0 100 200 300 400 Q [1/min]
| T T T T T T T T T T T T T T |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3h]
4
P2 1 1
3F5/3.0 ~——+—
2 2F5,/2.2~— —
0 100 200 300 400 Q [I/min]
70
Tl /
/
[%] 60 L
_— \\
~ N\
50 AN
N
40
0 100 200 300 400 Q [I/min]

Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A

220
% ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)18 50 Hz

Impeller diameter =115 mm

0 USgpm. 20 30 40 50 60 70 80 9 100 110 120 130
| | | | | | | | | | | | | |
| T | | | | | T T | | |
5 0 Imp.gp.m. 20 30 40 50 60 70 80 90 100 10
— 450
H H
T T — — — ft
[m] iy 00 [ft]
— \ (5>/\
L | % i
100 *\\ s 30
7
o T T ——— 5
— \(z 5N — 300
I
4 ~% 575\\
I T — R - 250
~X3s N
~ \\\\ 200
5 NN\ NPSH
‘\‘ N (m] [ft] |45,
NEREN
> 6—20 100
_~ 4
NPSL/// —10 50
2_
0 0
0 100 200 300 400 Q [I/min]
| I T T T T T T T T | | T | T |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3/h]
8
|
Pa 8F5/7.5<
[iW] 775/7.5 1 T~ _—1—
5F5/5.5— T ——
9 ||
0 100 200 300 400 Q [I/min]
70
T.l /
[%] 60 /,’/ <~
e N
- N
50 AN
N
40
0 100 200 300 400 Q [I/min]

Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A

221
% ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)18 50 Hz

Impeller diameter =115 mm

0 USgpm. 20 30 40 50 60 70 8 90 100 110 120 130
| | | | | | | | | | | | | |
| I I I I | I I I I | ]
0 Impgpm. 20 30 40 50 60 70 80 90 100 110
200
T~ =
' T~ 600
\ 7
2,
ml ] | \5// [ft]
160 e 7
—
~—_ T\ — 500
™S
K S
120 \\\\‘\ - 400
AN \\ NPSH
AN [m] [#] 300
80 AN 8
- 25
/ 20 200
/ r 6
15
40 /,/ 4
NPSH |~ —10 {100
4// 92—
-5
0 0
0 100 200 300 400 Q [I/min]

T |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m/]

" ‘ ‘
Po I I ///
w ° 12F5/11<—] —
\ \ —
7 10F5 /M =——1—
. ]
0 100 200 300 400 Q [1/min]
70
n /,4 \‘\
[%] 60 N
e N
7 N
50
40
0 100 200 300 400 Q [1/min]

Rotation speed ~ 2850 min™
Test standard: 1ISO 9906-Annex A

222
% ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)18 50 Hz
Impeller diameter =115 mm
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| I l I I I I I I I | |
0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
300
— 900
H L H
T T ft
ml T —-I\\\ | goo LM
I I e \\ \ /6/\5
~—~——— /5/0/75 — 700
200 TSI
QAN
NN\ — 600
\\\
— 500
NN
\&\ — 400
00 \% NPSH
Y [m] [f] | 300
8_
| 6—— 20 200
>
T
NPSH 4
T —10 100
2_
0 0
0 100 200 300 400 Q [I/min]
[ I I I I I I I I I I I I I I |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 Q[m3h]
14
P 1 1 -
o T
SIS
10 MFS /15—~
. ] ~
0 100 200 300 400 Q [I/min]
70
n ,‘/ ~—
L~ N
(%] 60 N
P N\
7 N
50
40
0 100 200 300 400 Q [I/min]
Rotation speed ~ 2850 min™
Test standard: ISO 9906-Annex A
223

B Eamra

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 1-0 F5 2.2 (2.2kW) no.1 impeller diameter =136 mm
EVM32 2-2F5 3.0 (3.0 kW) no.2 impellers diameter = 125 mm
EVM32 2-0 F5 4.0 (4.0kW) no.2 impellers diameter = 136 mm
0 US.gpm. 50 100 150 200
| | | | |
| | 1 1
0 Imp.g.p.m. 50 100 150
50
—160
H ~—_
[m] T—— 710 1]
40 ~
-~ —_ \i\O —120
\ \
30 SN 5 \‘\ —100
=
\\ \\ s
i A N —60
— \\ NPSH
\\ [m] [ft] 40
10 ~ 8
20
NPSH s [
0 0
0 200 400 600 Q [I/min]
| | | | |
0 10 20 30 40 Q [m3/h]
4
|
P2 2-0=— —
KW \ T —
1-0
0 |
0 200 400 600 Q [I/min]
70
n — —
[%] 20
50 ) NN |
\(/1—0
N
30
0 200 400 600 Q [I/min]
Rotation speed ~ 2900 min ~
Test standard: ISO 9906-Annex A
224

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 3-3 F5 5.5 (5.5kW) no.3 impellers diameter = 125 mm
EVM32 3-0 F5 5.5 (5.5kW) no.3 impellers diameter = 136 mm
EVM32 4-3 F5 7.5 (7.5kW) no.1 impeller diameter = 136 mm / no. 3 impellers diameter= 125 mm
EVM32 4-0 F5 7.5 (7.5kW) no.4 impellers diameter = 136 mm
0 US.gp.m. 50 100 150 200
| | | | |
| 1 1 1
0 Imp.g.p.m. 50 100 150
100
— 300
H \\\
[m] " ~— [ft]
T T~ - 250
\\| \\4\0
60 — P — ~Lo o N - 200
~ \i\\\\ .
I T~ \ —150
~ \
40 I~ N\
N NPSH | 100
\\ [m] [
20 8
7 20 |50
NPSH 4
0 0
0 200 400 600 Q [I/min]
| | | | |
0 10 20 30 40 Q [m3/h]
8 T
p 4-0
2 | e
[kw] 3 N —
I
4 3-0 e
‘ el
3-3—
2 |
0 200 400 600 Q [I/min]
80 T
| 4—‘0
(%] — 3-0
60 \\\\
~ 4-3 T~
\
3-3
40 ‘
0 200 400 600 Q [I/min]
Rotation speed ~ 2900 min
Test standard: ISO 9906-Annex A
225

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 5-3 F5 11 (11kW) no.2 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm
EVM32 5-0 F5 11 (11kW) no.5 impellers diameter = 136 mm
EVM32 6-3 F5 11 (11kW) no.3 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm
EVM32 6-0 F5 11 (11kW) no. 6 impellers diameter = 136 mm
0 USgpm. 50 100 150 200
| | | | |
| 1 1 1
0 Imp.g.p.m. 50 100 150
150
L — 450
H ~~ H
— — ft
[m] ~ ~—_ o [0
— e s
\ T~ Y — 350
100 +—— -] ~—_ 65 ‘\
— T~ 5 DN \\ — 300
~J ~ \\ 250
\\ N \\ 200
~N NPSH
5 N [m] {14
—150
8_
/ —20 100
4_
NPSH T —10 50
fmm—
0 0
0 200 400 600 Q [I/min]
| | | | |
0 10 20 30 40 Q [m3/n]
12 T
6-0 —
P2 i — — ‘\
[k 63 N | ——— =
e
s 573/
0 200 400 600 Q [I/min]
80 | ‘
[2] 5-0/6-0 |
o >
_— NN
6-3 N
‘ 5-3
40 }
0 200 400 600 Q [I/min]
Rotation speed ~ 2930 min
Test standard: ISO 9906-Annex A
226

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 7-3 F5 15 (15kW) no.4 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm
EVM32 7-0 F5 15 (15kW) no.7 impellers diameter = 136 mm
EVM32 8-3 F5 15 (15kW) no.5 impellers diameter = 136 mm / no.3 impellers diameter= 125 mm
EVM32 8-0 F5 15 (15kW) no.8 impellers diameter = 136 mm
0 US.g.pm. 50 100 150 200
| ! ! ! !
| | | |
0 Imp.g.p.m. 50 100 150
200
— 600
H ~~_
[m] —_ [ft]
— -~ o~
150 b= ~ T~ — 500
M~ — e T 8
R N
~_ N - 400
O RNL N\
\ ~
100 S~
~ N\ — 300
NN N\
\\ \\
ONY e
50 "
8
- 20 =100
NPSH 4
0 0
0 200 400 600 Q [I/min]
| T | | |
0 10 20 30 40 Q [m3/h]
16 T
[kW] 12 8_“3 l/l/ p— e
7-0- D\ ————— —
. 7-3— |
0 200 400 600 Q [I/min]
80 | |
1 7-0/8-0—
(%] — o<
" 8-3
7-3
40
0 200 400 600 Q [I/min]
Rotation speed ~ 2930 min ™
Test standard: ISO 9906-Annex A
227
% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 9-3 F5 18.5 (18.5kW) no.6 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 9-0 F5 18.5 (18.5kW) no.9 impellers diameter= 136 mm
EVM32 10-3 F5 18.5 (18.5kW) no.7 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 10-1 F5 18.5 (18.5kW) no.9 impellers diameter= 136 mm / no.1 impeller diameter = 125 mm
0 USgpm. 50 100 150 200
| | | | |
| 1 1 1
0 Imp.g.p.m. 50 100 150
250 mp.g.p.m
800
H ~ H
[m] === 700 4]
200 = —1
— ~— \\‘ 10I .
~— T~ iy 10-3 - 600
B e e
R
150 B N N Ny - 500
X\
9-073 \‘\\
9-3] x\vii — 400
N N
100 \
\N — 300
N
NPSH
[m] [ft] [~200
50
8
— 20 |-100
NPSH — “To
0 0
0 200 400 600 Q [I/min]
[ I I I
0 10 20 30 40 Q [m3/h]
22 T
P, . 10‘—1
14 9—;0 ———— —
o e —
10 ‘
0 200 400 600 Q [I/min]
80 ‘ ‘
1 — e — 9-0/10-1—
[%] /; \\
60 - \g
—~ 9-3/10-3
40 |
0 200 400 600 Q [I/min]
Rotation speed ~ 2930 min ™
Test standard: ISO 9906-Annex A
228

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 11-3 F5 22 (22kW) no. 8 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 11-0 F5 22 (22kW) no.11 impellers diameter= 136 mm
EVM32 12-3 F5 22 (22kW) no. 9 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 12-1 F5 22 (22kW) no.11 impellers diameter= 136 mm /no.1 impeller diameter =125 mm
0 USgpm 50 100 150 200
| | | | |
| 1 1 1
0 Imp.gp.m 50 100 150
300
—900
[m] L ==—_ [ft]
— = — 12-1 800
B e iy S o N P
T~ 700
200 —_—
~ 600
11_>‘\/\\‘\
| T N \\ - 500
1-3 ‘\ \
N
\\ Nps | 10
100 N [m] [ft]
300
\ N
// 20 200
4_
NPSH | —10 100
0 0
0 200 400 600 Q [I/min]
| | | | |
0 10 20 30 40 Q [m3/h]
24 ‘
P, 12‘—1
[kw] 20 12-3 —
16 1-0 — 7
PR~
12 ‘
0 200 400 600 Q [I/min]
80 ‘ ‘
n
— 1-0/12-1—
(%] /’- Sl
00 e \§$
— 1-3/12-3
o |
0 200 400 600 Q [I/min]
Rotation speed ~ 2930 min ™
Test standard: ISO 9906-Annex A
229

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVIM(.)32 50 Hz
EVM32 13-3 F5 30 (30kW) no.10 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 13-0 F5 30 (30kW) no.13 impellers diameter= 136 mm
EVM32 14-3 F5 30 (30kW) no.11 impellers diameter= 136 mm / no.3 impellers diameter = 125 mm
EVM32 14-0 F5 30 (30kW) no.14 impellers diameter= 136 mm /no.1 impellers diameter = 125 mm
0 US.gpm. 50 100 150 200
| | | | |
| 1 1
0 Imp.g.p.m. 50 100 150
400
—1200
H H
[m] [ft]
00 m==— | 1000
e~ —— 14-0
\\\:\ ‘§\< 14-3
\\§\\ — 800
200 ™
13-0 /\\ N 00
13-3 \\\&
NN
NN\
ft
100 [m] [ft]
8
_~ 20 |- 200
NPSH 4
0 0
0 200 400 600 Q [1/min]
| | | | |
0 10 20 30 40 Q [m3/h]
26 T
14-0 %
P2 29 \ e
(kW] 14-3 T
f ~ -
18 13‘ =
13-3—]
14 ‘
0 200 400 600 Q [I/min]
80 ‘ ‘
n
13-0/14-0—
(%] ~
60 —— 5\\\
" 13-3/14-3
40
0 200 400 600 Q [I/min]
Rotation speed ~ 2960 min -
Test standard: ISO 9906-Annex A
230

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)45 50 Hz
EVM45 1-1 F5 3.0 (3.0kW) no.1 impeller diameter =127 mm
EVM45 1-0 F5 4.0 (4.0kW) no.1 impeller diameter = 143 mm
EVM45 2-2 F5 5.5 (5.5kW) no.2 impellers diameter = 127 mm
EVM45 2-0 F5 7.5 (7.5kW) no.2 impellers diameter = 143 mm
0 USgpm. 50 100 150 200 250 300
| | | | | |
| | | 1 1
0 Imp.gpm 50 100 150 200 250
— 180
H T — —— H
[m] R 2% o [
—— 140
40 — ——T B
\\\ 5 \ 120
N —100
==t <0 80
o ~_ NPSH
20 ~
e = = e — N [m] 1) |
-
\7\\ \\ L2
\
S o T
—10
NPSH,/ o 20
0 0
0 200 400 600 800 1000 Q [I/min]
| | | | | | | |
0 10 20 30 40 50 60 Q [m3/h]
8
I
P2 2-0 J—
[kW] 2-2 I
4 I
10—
T=1T—
0 |
0 200 400 600 800 1000 Q [I/min]
80
n "_=_
— \\\
[%] 70 N ~J 7.0
2- 2 NINC T -
5 TN\ 1-0
1_I\A\
N
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2900 min
Test standard: ISO 9906-Annex A
231

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)45 50 Hz
EVM45 3-2 F5 11 (11kW) no.1 impeller diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 3-0 F5 11 (11kW) no.3 impellers diameter = 143 mm
EVM45 4-2 F5 15 (15kW) no.2 impellers diameter = 143 mm / no.2 impellers diameter= 127 mm
EVM45 4-0 F5 15 (15kW) no.4 impellers diameter = 143 mm
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| 1 1 1 | |
0 Imp.g.p.m. 50 100 150 200 250
120 mp.g.p.m
H T ——— —350 H
[m] 4~0 [ft]
\—“‘~~—-q\\ T~ - 300
80— — \\
T T ) - 250
T 3 \& - 200
\ \
~ O\
N \ NpsH | 190
40 N [m] [ft]
6—20 |-100
/'/ 4
NPSH —10 50
// 2]
0 0
0 200 400 600 800 1000 Q [I/min]
| | | | | 1 | |
0 10 20 30 40 50 60 Q [m3/h]
16 I
[kw] 2 4-2 S~ __—
8 3-0 r~—~—  —T
3+2 —_—
4
0 200 400 600 800 1000 Q [I/min]
80 ‘
% 4-0
n \
[%] 70 \X 50
N\
” _o/
60 '/ 3-2
4-2
50 |
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2930 min
Test standard: ISO 9906-Annex A
232

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)45 50 Hz
EVM45 5-2 F5 18.5 (18.5kW) no.3 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 5-0 F5 18.5 (18.5kW) no.5 impellers diameter= 143 mm
EVM45 6-2 F5 22 (22kW) no.4 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 6-0 F5 22 (22kW) no.6 impellers diameter= 143 mm
0 USgpm. 50 100 150 200 250 300
| | | | | | |
| 1 1 1 1 1
0 Imp.gp.m. 50 100 150 200 250
200 mp.g.p.m
600
H H
ml [ [f]
- ———-_|
150 e — 6~ 500
- —7 L
_ [ \\5\&\\ W 100
T 5, SO
100 — N
< N\ — 300
N \
\\ N
\ —200
NPSH
50
[m] [ft]
6——20 —100
777_,47
NPSH P— 1o
0 0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I I
0 10 20 30 40 50 60 Q [m3/h]
22 i —
P9 6_|O //
kw) '8 6-2 — — ——
14 6_IO Vl,/ T
6-2 [~ —
10 I
0 200 400 600 800 1000 Q [I/min]
80 i
n —_— 5-0/6-0—
L
[%] 70 \
, 6— | — N
60 r/ 5—I2
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2940 min
Test standard: ISO 9906-Annex A
233

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)45 50 Hz

EVM45 7-2 F5 30 (30kW) no.5 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 7-0 F5 30 (30kW) no.7 impellers diameter= 143 mm
EVM45 8-2 F5 30 (30kW) no.6 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 8-0 F5 30 (30kW) no.8 impellers diameter= 143 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| I I I I |
0 Imp.g.p.m. 50 100 150 200 250
250
— 800
Ho H
[m] — == —— 700 [#]
200 —— — 8~
_ =1 [ =L
—— &\\ 600
L L ~Z-0 g \‘
150 ~—— \\ N - 500
\\
— 400
NUC N\
100 N
NPSH [~300
[m] [ft]
6—— 20 200
50
NPSH ~ 7
—10 100
" 2
——1
0 0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I
0 10 20 30 40 50 60 Q [m3/h]
30
I -——-—g
[kW] 2 8-2 e ———
. —
e —
7-2
10 I
0 200 400 600 800 1000 Q [I/min]
80 i
a\ _ A
n =~/ /8-0
[%] 70 ~
7 7-2/8-2
60 yd
T 4
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2960 min -
Test standard: ISO 9906-Annex A
234

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)45 50 Hz

EVM45 9-2 F5 30 (30kW) no. 7 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 9-0 F5 37 (37kW) no. 9 impellers diameter= 143 mm
EVM45 10-2 F5 37 (37kW) no. 8 impellers diameter= 143 mm / no.2 impellers diameter= 127 mm
EVM45 10-0 F5 37 (37kW) no.10 impellers diameter= 143 mm

0 USgpm. 50 100 150 200 250 300
| | | | | | |
| I I I I |
0 Imp.g.p.m. 50 100 150 200 250
300 mp.g.p.m
900
H T — H
—— 1 - ‘l‘\ ft
[m] | —_ — — \\;g'\\g\ L 800 [ ]
— e ——*_ ~
T — L :>'2\\\\
T N — 700
200 Q—PQQ\\
\\\\\\ 600
NN
—500
N\
— 400
100 NPSH |00
[m] [ft]
6— 20 |-200
NPSH // 4
— , 10 (100
0 0
0 200 400 600 800 1000 Q [I/min]
[ I I I I I I
0 10 20 30 40 50 60 Q [m¥/hn]
40 i
Py 10-0 —
W54 10-2 e
_' — —
3_'8 N——
2 | A —
|
0 200 400 600 800 1000 Q [I/min]
80 i
1 9-0/10-0—
[%] 70 7\\/
~ 9-2/10-2
60 i
50
0 200 400 600 800 1000 Q [I/min]
Rotation speed ~ 2960 min
Test standard: ISO 9906-Annex A
235

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz
EVM64 1-1 F5 4.0 (4.0kW) no.1 impeller diameter= 131 mm
EVM64 1-0 F5 5.5 (5.5kW) no.1 impeller diameter= 143 mm
0 US.gpm. 100 200 300 400
| | | | |
| 1 1 1
0 Imp.g.p.m. 100 200 300
30
S— —90
H \ﬂl\\ 7 H
=0 ft
[m] —— | [0
—/— ™ — 70
" \ﬂ\\‘\/\] \\\
Iy N — 60
\\
—50
\\ \
N Nes |
10 [m] [ft]
—30
8_
/// —20 20
NPSH — 4
__—— ~10 10
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m3/h]
6
P2 ‘
() o _—
1-1 "]
‘ ——
2
0 400 800 1200 Q [I/min]
80
n
T —
(%] 70 =1 e \\\‘
} \’é'/ ™N \\
60 1—0\\/ \\
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2900 min -
Test standard: ISO 9906-Annex A
236

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz
EVM64 2-2 F5 7.5 (7.5kW) no.2 impellers diameter = 131 mm
EVM64 2-1 F5 11 (11kW) no.1 impeller diameter = 143 mm / no.1 impeller diameter= 131mm
EVM64 2-0 F5 11 (11kW) no.2 impellers diameter = 143 mm
0 US.gpm. 100 200 300 400
| ! ! ! !
| | 1 1
0 0 Imp.g.p.m. 100 200 300
— = 180
H ~— ~+— H
[m] = - \\g\f\ . [
L T B
r—— _ \\2\7 \\\
——— 7\ \ 140
40 2~
~ 2
\\ N 120
~N \
\ \\ —100
\ NPSH
N [m] [ft] |-80
20 8
60
// =20
7 — 40
// 4 -
NPSH -
l// 0
’_-_____/'
0 0
0 400 800 1200 Q [1/min]
| | | | |
0 20 40 60 80 Q [m3/h]
12 |
P2 2-0
[kW] L T
8 2‘—1\ ~ ———
22—
4
0 400 800 1200 Q [I/min]
80
n = —_—
[%] 70 2-2 A NN
! /// NN
\
60 P —— AN
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2930 min
Test standard: ISO 9906-Annex A
237

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz

EVM64 3-3 F5 15 (15kW)
EVM64 3-2 F5 15 (15kW)
EVM64 3-1 F5 15 (15kW)

no.3 impellers diameter = 131 mm
no.1 impeller diameter =143 mm / no.2 impellers diameter = 131mm
no.2 impellers diameter = 143 mm / no.1 impeller diameter = 131mm
EVM64 3-0 F5 18.5 (18.5kW) no.3 impellers diameter = 143 mm

0 US.gpm. 100 200 300 400
| | | | |
| T 1 |
0 0  Imp.g.p.m. 100 200 300
H = —— — 3 H
[m] i~ == T~ — 250 [#t]
——— — \3\2 \\ \\
60 \\\‘;\5\ \\\‘ \ — 200
T~ \\\\ \
\\ N \\\
\\\\ N\ \‘ — 150
30 \ NPSH 100
[m] [ft]
8
— 20 —50
///
NPSH —— 4
"] 10
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m3/h]
18
P2
(kW] 0
6
0 Q [I/min]
80
n
(%] 70
60
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2940 min -
Test standard: ISO 9906-Annex A
238

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz

EVM64 4-3 F5 18.5 (18.5kW) no.1 impeller diameter = 143 mm / no.3 impellers diameter = 131mm
EVM64 4-2 F5 18.5 (18.5kW) no.2 impellers diameter = 143 mm / no.2 impellers diameter = 131mm
EVM64 4-1 F5 22 (22kW) no.3 impellers diameter = 143 mm / no.1 impeller diameter = 131mm
EVM64 4-0 F5 22 (22.5kW) no.4 impellers diameter = 143 mm

0 USgpm. 100 200 300 400
| | | | |
| I I I
0 | 100 200 300
g0 2 mPgpm
[H] \\::\\\\::‘ﬂ\\ e - 350 [H]
m S = = — 4 ft
——— ——— [T
——— ‘:QQ\\\\ - 300
\4\
. SN
- 250
\\\\\\\\
\‘\ - 200
N
) NPSH
ft
\ [m] [ft] | 50
40 8
_~ 0
- — 20 -100
NPSH - 4
l// —10 |50
0 0
0 400 800 1200 Q [I/min]
| T T T T
0 20 40 60 80 Q [m3/h]
24 :
4-0
P2 | —
1 e —
b e
4-3—
8 |
0 400 800 1200 Q [I/min]
80 |
n \ '
[%] 70 AN\l
NN
6 Z N 4-2
~~4-3
50 |
0 400 800 1200 Q [I/min]
Rotation speed ~ 2940 min
Test standard: ISO 9906-Annex A
239

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz

EVM64 5-3 F5 30 (30kW) no.2 impellers diameter= 143 mm / no.3 impellers diameter = 131mm
EVM64 5-2 F5 30 (30kW) no.3 impellers diameter= 143 mm / no.2 impellers diameter = 131mm
EVM64 5-1 F5 30 (30kW) no.4 impellers diameter= 143 mm / no.1 impeller diameter = 131mm
EVM64 5-0 F5 30 (30kW) no.5 impellers diameter= 143 mm

0 US.gp.m. 100 200 300 400
| | | | |
| | I |
0 Imp.g.p.m. 100 200 300
150
— T~ - 450
e—— T —— ~—— = ft
[m] i — %\‘ 40 [
\X\\\\\
NN — 350
L\ ‘\\\ - 300
AN
\\1 - 250
D
NPSH 200
50 [(m] [ft]
—150
8 —
// —20 —100
//
NPSH —— 4
P —10 50
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m¥/h]
30 ‘
P 570
P ———
5-3—
10 |
0 400 800 1200 Q [I/min]
80 ‘
n ~
(%] 70 Sl
N 51
N -
60 B ‘ 2
5-3
50 ‘
0 400 800 1200 Q [I/min]
Rotation speed ~ 2960 min -
Test standard: ISO 9906-Annex A
240

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz

EVM64 6-3 F5 30 (30kW) no.3 impellers diameter = 143 mm / no.3 impellers diameter = 131mm
EVM64 6-2 F5 30 (30kW) no.4 impellers diameter = 143 mm / no.2 impellers diameter = 131mm
EVM64 6-1 F5 37 (37kW) no.5 impellers diameter = 143 mm / no.1 impeller diameter = 131mm
EVM64 6-0 F5 37 (37kW) no.6 impellers diameter = 143 mm

0 US.g.p.m. 100 200 300 400
| | | | |
| I | |
0 Imp.g.p.m. 100 200 300
200
— 600
H — H
M e ——— 650 [ft]
150 —— = \*&‘\2:\ - 500
N
\\\\
6-27 NI \\\\ - 400
6-3 NN
100 SN
NG - 300
O
N
NPSH 1909
ft
o [m] []
8
— 20 100
l//
NPSH — 4 "
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m3/h]
35 |
P2 6TO /74————
[kw] ” 6—1 —
6-3——t1
15 |
0 400 800 1200 Q [1/min]
80 —
n |
[%] 70 & 6_‘0
X6
6-2
60 ;
6-3
50 ‘
0 400 800 1200 Q [1/min]
Rotation speed ~ 2960 min -
Test standard: ISO 9906-Annex A
241

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PERFORMANCE cURVE: EVM(.)64 50 Hz
EVM64 7-3 F5 37 (37kW) no.4 impellers diameter= 143 mm / no.3 impellers diameter = 131mm
EVM64 7-2 F5 37 (37kW) no.5 impellers diameter= 143 mm / no.2 impellers diameter = 131mm
EVM64 7-1 F5 37 (37kW) no.6 impellers diameter= 143 mm / no.1 impeller diameter = 131mm
0 US.gpm 100 200 300 400
| | | |
| 1 1
0 Imp.g.p.m 200 300
200 =——7_
\\\\
150 7- 2>§\\ 500
7-3 NI\
NN
\\ \\\ — 400
NN
100 \\1
— 300
NPSH 1900
ft
5 [m] [ft]
8
— 20 |-100
//,
NPSH —— 1
0 0
0 400 800 1200 Q [I/min]
| | | | |
0 20 40 60 80 Q [m3/h]
40 |
P2 - e
LU | —
_ —
| B B — ey
20
0 400 800 1200 Q [I/min]
80
[%] 70 / = Q___7‘—1
/ N 7-2—
60 7—3—
50
0 400 800 1200 Q [I/min]
Rotation speed ~ 2960 min ™
Test standard: ISO 9906-Annex A
242

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVIM(.)3 50 Hz

Pump without ball bearing

O = -
5&8
TT T
/'7'(‘5’
2
-5
%
R
) O\
yon
&
= =2 N
T
- o

043-3 m
044-1/\m 115-2
052-1 e 005-3

075-1 :ﬁ | 5

- 273-1 971 — b s & °&: 005-1
| 2o BT LA A H 120-11

o — o )\ \021

- 006 T =T L ‘\ 107

L L. /AN A | [\ N 219
115-3

160

See dimensions page 401.
300

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTioNs: EVM(.)3 50 Hz

Pump with single ball bearing

274-2
150
131-1
245
130-4
130-2
120-3
1M1-3
1281
1351

See dimensions page 401.

301

% E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG3 50 Hz

Pump without ball bearing

131-1 140
245 120-5
130-4 120-13
130-2 120-6
120-3 162
M-3 273
120-1 | 075

219
117

128-1 N ] | é—{‘y 212
135-1 ] 115-5
NE ] &
0431 n ¥ 115-1
58 A e w1
047 M i 007
' [ -
043-3—— 11
0441 ——— P = 115-2
075-1 052-1 i o —005-3
£ . J
273-1 1371 Y 005-1
202-1 08— [ 1 | L [T \120-11
031 .—7;1[ L —{/y\fﬁj ‘m}— ( \021
006 = 107

See dimensions page 401.

302

% ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG3 50 Hz

Pump with single ball bearing

274-2
150
131-1
245
130-4
130-2
120-3
111-3
128-1

-—
(o]}
(3}
iR

J
Y

/

;

V| S S S |5 | S| S| S | S | e P =

e [

o
2
‘I"o
o L

(,

Al

f
|

~
[~
——s
i»‘%—?&t
2731 137-1 ?E%_
2121 048——— [ It & | ,
031— e *@/ -
006/ ¥ | ~=
045 C }
13— |

See dimensions page 401.

303

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTioNs: EVIM(.)5 50 Hz

Pump without ball bearing

I~ |~

H 0054

I~ \
S : N 115-2
075-1 043-6 s e ——005-3
273-1 137-1 el a8 5% 005-1
Mo/ ~212-1 048 T == I \120-11

031 IS IR 021

See dimensions page 401.

304

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTioNs: EVM(.)5 50 Hz

Pump with single ball bearing

0441
052-1
075-1 043-6—

2731 13— 7] |
202-1 04— ] i\%
03— |

—
045 =
613—/

See dimensions page 401.

305

5 E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG5H 50 Hz

Pump without ball bearing

075-1 043-6 /?:‘t g ———005-3
273-1 137-1 A EI RS o051
20241 48— 1 | | B \ 12011

o / i 1 l k _(\ //}-E@}_ J L 021

| + =

006 ?ﬂ' ‘ g ( \ 107

— i 219

17

See dimensions page 401.
306

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG5H 50 Hz

Pump with single ball bearing

120-13
131-1
130-4
245
130-2
120-3
m-3
120-1
128-1
135-1
043-1
047

043-5
043-2
043-3

052-1— |
075-1 043-6—

273-1 137-1

212-1 048———
03— -
S
045

613

See dimensions page 401.

307
5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)10 50 Hz
Pump without ball bearing
162
245 140
131-1 120-5
1304 K 12013
130-2 - ﬁ'///‘ 120-6
120-3 4/; m-3
128-1 ™~ . ) — 075
135-1% 4 # ¢ 273
! [

075-1 048——

043-1 -
e
047

41— |
043-5 ﬁ
043-3

-

0441

e

V)V\l

-
-

052-1——  CH

N

-

212-1 0317
273-1 006

L

4y

|~

_*

See dimensions page 402.

308

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)10 50 Hz

Pump with single ball bearing

043-2
043-3
044—1
052-1—— — ||

137-1 mmiy )
075-1 048 1 ‘

273-1 03
212-1 006

See dimensions page 402.

309

% E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)10 50 Hz
Pump with single ball bearing
140
120-7
135-4 274-2
0701 150
51 AERA
s A T e e s
1311 i Q Q\LE 120-13
130-4 H——] e 56
120-3 \ : 162
128-1 - 245
135—1 R 130-2
0431 075

120-1 |
047 k

043-2

043-3

RUARARR

044~1

052-1———— ||

137-1 i : J=
075-1 048 ‘A R o -ULL] e 0

N
I
EEETaas—s—e,eee-— = tuE= |

Jlg

273-1 031
212-1 006

See dimensions pages 402.

&‘!
et/ [ S

310

B EaARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG10 50 Hz

Pump without ball bearing

162
245 140
1311 120-5
130-4 K_ 120-13
130-2 h’//‘ 120-6
120-3 q ) 11-3
1351 075
0431 fit { 212
120-1\'(” ' £ NS, 115-5
—
047 iy k 151
41— [ —————005-4
/ \—
043-5 -/J%LR | \ 007
043-3 B : m
/ ; i
0441 . 115-2
075-1 052-1 I \_ 005-3
273-1 1371 — | a 0051
212-1 048 | 2 ) 120-11
— 0317 I N\ FZ%%T-\ (174]
006 ?WH“ ’ \ 107
frﬁﬁ 219
17
See dimensions page 402.
311

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PU

MPS

EVM

consTrRucTions: EVMG10

50 Hz

Pump with single ball bearing

274-2
150

274-3
F 6
. 51

052-1——————

/[ /

140 L _
131-1 L *4““,/Ddl | %162
130-4 = Q __7LJ77J— 120-8
120-3 \\ / i 245
128-1 : - +f i 130-2
135—1& \‘ wlli 120-6
043-1 M\ o : 075
120-1\' | 212
274—1%@\ :\115—1
043-5———— T | 005-4
| i ? . 115-5
! : 111-3
| = 007
| | "
| i
| : Q
| i ; 4
i |
: !
| |
043-2 | :
043-3 | i
044-1 | i ?ﬁf
H !
| |
M |
us

075-1
273-1
212-1

See dimensions page

1371 2
048

031

006

045 —— |
613

{

402.

312

B EaArA

EBARA ru

MPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrRucTions: EVMG10

50 Hz

Pump with single ball bearing

075-1
273-1
— 212—-1

120-6

131-1
130-4
120-3
128-1
135-1

o
043-1 :%
120-1 \
047 &
274-1 ‘

043-5——+

043-2
043-3
044-1
052-1—— |

1371

140

120-7
135-4
070-1

51

274-2
150

120-8 ™

/
i

SR

/ 162

il

.

048

031
006 i

45— |
613

-

See dimensions page 402.

313

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)18 50 Hz

Pump without ball bearing

245
131-1\ 120-13
130-2 , , 120-5
130-4\ - L4 120-6

™ _‘!1)‘

140 N /—152
120-3_\ i 273
'2&"\% 075
135-1———— | ~— g
- e | pi— 115-5

047 : j | 5 | 005-4
W———— | -3
043-5—— || 11
43-3—— || 0431
0441 007
052-1— | 005-3

075-1 137-1——_
273-1 048
212-1 031

ms . T 5
45— 1 il
613 -

|

See dimensions page 402.

314

5 E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)18 50 Hz
Pump with single ball bearing
274-2
150
‘ 274-3
— T JUJ/)\_ss
0 /QJ 28 ‘\_51
120-13 \ =/ 162
140 T / \—120—8
25 \ o 131-1
130-2 R 120-6
130-4 i C 075
128-1 DhL LT 212
135-1 j O \\_273
120—3——//)_ | \\115-5
o-w—‘>)r \ =P/\\“1-3
47 1 |y ? 005—4
274—1% i I m
= =
|
= =
= =
==
|| ==
|
|| =lle=_
| T s
120—1?i; Qg E \—$3 ’
043-2 | | —————005-3
ou—s/i % Il 115-2
0441 il @Ji 0051
075-1 052-1 ) / € 021
2731 137-1 T 115-1
212-1  048—— |
oN— | L {} ‘ \ﬁ 11:;
wsﬁ | l )T/;
045 ] r N ki
613 ‘ 1
See dimensions page 402.
315

B EaARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)18 50 Hz

Pump with single ball bearing

[ 1
120-7 ] 274-2
51—/’{ | = i T 150
e —— e O] 7] [0] [
070-1 CE ! T 120-13
120-8 . B 162
245 \ / 56

131-1
120-6
075

g

(el ff <

1281 g 0 212
[l ) J Al

135-1 Ji o IN 273

120-3 —//L/ ~ 115-5

=T
1T
}

(il

11-3
005-4
m

I

|
|
|
|
|
|
|
|
|
|
|
|
| T os-2
/4' g \— 007
043-2 /I
|
|

\
043-3 s —~— 115-2
044—1 ol % 3 005—1
075-1 052-1 ) S 021
273-1 1371 i T 115-1
2121 48— || | [ {3 ‘ \ \_ 107
01— o = - 160
M — —
06— 7| | il
045 -1 ]
613—/ uf [ 1] —

See dimensions page 402.

316

% E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG18 50 Hz

Pump without ball bearing

See dimensions page 402.

/i

\ﬁ‘}iﬁ

. “J\—
20 i \s‘_?ﬁi—;
\—

3|

317

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG18 50 Hz

Pump with single ball bearing

274-2
150
o 274-3
— ZZ 1 ] 56
/ N Q Q /ngU w\\_m
120-13 . 7 162
140 \ / 120-8
245 \ T / 131-1
130-2 SNRE -] i 120-6
130-4 gu ST 075
1281 2Py 0 212
135-1 10 O :\_ 273
120—3-—//i~ : " \\115-5
0431 /—L’/ —— T / \— M1-3
477113@ % \005—4
274—1/1 i m
043-5 | g
|
|| ==
|
|| ==
|
==
|
| ==
|
=\ =1
S
120—1?4’:: \007
043—2/* | —————o005-3
043-3 L — 115-2
0441 [k | 005-1
= Tis 021
115-1
K;\L(\%\107

See dimensions page 402.

318

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG18 50 Hz

Pump with single ball bearing

aEna!

120-7 274-2
s1— 1L ‘§ = L ] ) 150
135-4— M jJE Q @ J T———128-3
0701 CH g 120-13

]
T
[ ]
-
\

162

)
/

245 \ / 56

130_2 \ : 7;:£LE {r/} // 1 31 _1
\ F—.

140 L ? ) ] 120-6
130-4 i ' 075
‘28—1/@? B 212
135-1 110 O N 273
120-3——— ||| | : ) \\115—5
043—1—/,j_,:/§('/4ﬁ1‘ 1 — \111_3

o—— e ey a5+
| il 2
043-5 | p 3 C 5

|
‘
|
= =
|
| @ f@
|
| =l =
|
| g f@\
120—1/ Jr:’\% | 007
04:5—2/‘ % % Q 5 | ————005-3
043-3 ) L;’ Il — 115-2
0441 Iy B 005—1
075-1 5o | / \ s—‘om
2731 437+ ] ) | I 115-1
212-1 I ST
w— T g e
‘fv?

06— pin

045 ( ‘ﬁ‘j

613 ‘

See dimensions page 402.

319

% ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM
consTrucTions: EVM(.)32

Pump without ball bearing

N

0 Hz

120-13
245

B

fl\/

?
I

043-4—
137-1 I

048

075-1 031———

2731
] N2-1 006— |

N ]
.\ 045/ ]
lﬁ% 613

See dimensions page 404

320
5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)32

50 Hz

Pump with single ball bearing

. |
'1"1’(: : mig i) 51
130-1 T e
_ LN 45
120-3 + - Pe. 130-2
T |
:2; :% [ T~ 1206
162
111-2_—s‘,\ | D . 075
( ]
o6 ~ 212
274-1\u
043-5 sﬁ N
T

075-1 031
273-1

~ 2N2-1 006—

20— |
043-2— |
S —
044-1\

043-4 -\:“ﬂ

137-1

048 =

-

See dimensions page 404

321

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrucTioNs: EVIM(.)32 50 Hz
Pump with single ball bearing
120-7 274-2
135-4 . 150
120-13 , ‘
== Tl
120-8 N
245 AH 070-1
140-2 i LE 56
1311 et , Eip—
130-2 '~. 1o} §is ! 1401
130-4 L ! 039-1
114 | 4 | 135-3
130-1 L ~ | 120-5
120-3 '\ ﬂ}ﬁ | 120-6
128-1 L e — ] 120-4
= sSall=rs: o
il 22
L P | ' 1"
{ Ny 115-1
iy \\115—5
] \\111-3
115—4?£/;% U \‘“"
043-1 g8 005-4
047 7 il ] Xm—z
2741 | \130—3
| 043-5
! i1 .
i
{ J [\
|
‘ J N
120-4——— |
w-3— || 1l
os2-t— |11 o0
R— N
137-1 b N = 045-2
See dimensions page 404
322

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

consTrucTions: EVM(.)32

50 Hz
Pump with double ball bearing
120-7— 129
112::-1; sl w 7] b
51-/\i§1 AN Is J
A N i Q Q | /7
128-3 | | S
120-8 *\Nﬂ/j' \___/
245 il = 070-1
140-2 L—] 56
[ =
1311 .( e , 162
130-2 ! juusej [§is ! 140-1
130-4 : ! 039-1
-4 ~8 | 135-3
130-1 ". ™ 3( 120-5
120-3 -. s | 120-6
128-1 L T | B 120-4
M
135'1\ \L i I i 273
g 075
i F 2
LR ] ‘ EE— 1
i N -
|t
L &\%—m-s
115_4_///% \111-1
- -2
0477 Al \\005-4
2741 \130-3
\jé % 043-5
J A
J .
J A
|
120-1—— % 2@}\
33— =T \
o — 1 NN o
T el L 005-2
043-4—— ] i
137-1 —-CEN '77\0“_2
- | > ~\oos—3
\115—2
/ 005-1
. . i,\oﬁ
\ 107
T | —120-10
160
See dimensions page 404
323

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG32 50 Hz

Pump without ball bearing

140
131-1
130-4
M11-4
130-1
120-3
128-1
135-1
1M11-2

.

e e e
[ ]

4

047
2741
120-1

043-5— |
043-3

I
052-1— |
044-1 |
043-4—
137-1 mion

048 S —
075-1 031 .W
273-1 i \
20-1 06— 1 Nz
| N AN

1 E
_______ 4 613 F !

i

)/

|

\

See dimensions page 404.

324

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG32 50 Hz

Pump with single ball bearing

120—1
M3-2—— ||
o-3—— ]
052-1

0441 I
M43-4—— I
137-1
048

075-1 031

2731
=7 N2-1 06—

L 1
/
¥,
\I\_
/]
| I
F T
%
— |
@
o

See dimensions page 404.

325

5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG32 50 Hz

Pump with single ball bearing

120-7 274-2
135-4 q
120-13
128-3 N
120-8 N
245 NI
140-2 i
131-1
130-2
130-4
1m-4
130-1

120-3
128-1

135—1\

|

\

\

I

[

i
e e e Ty

;i
il
)

075-1 031
2731
212-1 006

See dimensions page 404.

326

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTRucTions: EVMG32

50 Hz
Pump with double ball bearing
120-7——
135-4 =
120-13— 41 T ‘
51 r\ggw \
12&-39\ ﬁq Q
120-8 oy
2 eI
140-2 1
1311 ¢ - T
130-2 ‘ vsi
130-4 \
M-+ ]
130-1 '- >
120-3 ! L
128-1 L e
135-1 T
T ~
ijf 1
i - E \_
No—4—— 11— = §
R \
047/ \
| )
)
)
J
See dimensions page 404.
327

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVIM(.)45 50 Hz

Pump without ball bearing

N

Y

075-1
273-1
212-1

e B

See dimensions page 405.

328

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVIM(.)45 50 Hz

Pump with single ball bearing

274-2
150
274-3
56
51
/ 120-8
| 120-6
s L~ H 1 162
je / .
///—111—3
+ 1T 273
% *(\?/075
| LA
‘ = 22
\$ { /115—1
ki =y g 007
e vy Il .
o47\i\ I 3\ﬁ\\/— 11-1
—\ | }(' /
L » 0431
z—— i i —
| ]E/ 53
AN i ?21
| #\ 005-2
043—6-\T\\i~ L =i
137-1— || =
048 -\g\?\ @EI\ d 2 —t
LT N
031— %4?@;“ == N | 1
043-7 i -
L

See dimensions page 405.

329

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)45

50 Hz
Pump with single ball bearing
1207 274-2
135~4 om 1057°0_1
120-13 TN
\r [ i
125-3 N L 1401
12‘;: ‘R:Ej::» /162
| 0381
11;1“'_21 o = L = : 136-3
130-2 | ) | ‘ 120-3
130-4 | | 120-6
= ! 120-4
114 ‘ !
1301 | = |
| — I
120-3 \ - !
-3 — M 73
12:;-1:>U‘E SN i} :17:
135-1——= i - — .
i —
el S - -
L i .
W7— T 3\ 007 .
| /i \/_(x,s_
Wa— [ o _
s s— T ——m-
T \\\\m-z
\115—4
33— ||| i 043+
052-1— | | |f i \
ota1— || = i \136-1
o4-4— (| | 043-8
‘ ‘ 7 ‘
] |
075-1
,_ﬂé 2731
Aﬁﬂj 2121
See dimensions page 405.

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVIM(.)45 50 Hz

Pump with double ball bearing

120-7 -
135-4 N b
120-13—1 11 = —
a1— L ‘ — 1
128-3 /\"123,[1 \\ i Q Q Mn // // 5070—1
NN ! ! /
120-8 N —7 140-1
245 \iig -/ 182
140-2 i ; —
! 0391
1';_'; ? S a0 : 135-3
" | | (o ] 120-5
130-4 ! ! 120-8
' | 120-4
11-4 N’ \g |
130-1 -.“ }h ",
120-3 . Tl O | 4 j
1M-3 8 g 273
7y o8
s e m
= M
=l e = 115-1
130-3 o0y
i R
47— [T~ A
1 I \ \_/__‘15_4
21— T T _
s ] \\_111-1
T I :\m-z
\_115—4
35— ([ || Ny 043-1
052-1— |

o1— || \133-1

043—4— |

See dimensions page 405.

331

5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

consTRucTions: EVMGA45

50 Hz

Pump without ball bearing

075-1
273-1
212-1

See dimensions page 405.

( i .
H H "\ I//-
- ! 005-4
7-\‘ R e /
o \ﬁg % 111
21— [ Jl:i 5
. il /
we—iH —
m-\_.—_. 11 I ————005-2
o31— & ;ﬁﬁ\ O LGR "qu
= T VAN Il - 12
043-7 — +//¥*//
052-2——— 1" X M ! \_ —
044-2 —— i Y 128-2
i W s /| 120-2
oos— LI | B W -2
os5— b m 107
s | r T
RN NSNS
s \/1&137-2
135-5
120-12
332

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMGA45 50 Hz

Pump with single ball bearing

274-2
150
274-3
120-13 :16
140

)

131-1

T ! /120—6
130-4 0] I 1 3
-4 - Q o) L LM 162
e 130-2
130-1 N -
| | 245
128 1\ i + S é‘y + ] / s
| N 075
135-1 |
111—5%@1\ C 22
111—2\ i N = 151
115_4\~ I \J-R | @ 007
130 3\I = \@ \ 005-4
—3— a4 = I
! \\ e
S | I —
1NN — i 81
043-5 InE w7
il m=s s
\
| | :it\m
120-1— 1] | \136—1
ou3-6—— ||| | || |—IT i 043-8
137-1— 11T [0 | =
o=l syl o
03— L | T i S~ 12

See dimensions page 405.

333

% ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMGA45 50 Hz

Pump with single ball bearing

120-7 f:o"'z
135-4 qm oot
120-13 ‘u i G !
51/ axaall \% %
S
e W) s
5 N 162
140-2 0381
131-1 . T ] 135-3
130-2 \ T | [ ‘. 120-5
130-4 | " 120-6
| o | 120-4
- T i
'. lﬁ !
120-3 | el - | ‘ -
1-3 — et
128-1:>WF ] L :17:
135-1 e = T e "
115-5 1 — ‘ — |
130-3\ ] | /115-1
047\‘ L] L \|——007
L [T M N ——o005-4
e P
043-5 T
— ] ! \111-2
\115—4
043-3— [ || N 0431
052-1— || | | \
AN | \13@-1
43-4—  [[| [N 043-8
043-2— ||l
1201 B
m—s-_l\\
137-1— ) LT
m\% T
031— 2
043-7 =
075-1 052-2—— 11| NS
2731 044-2 iy \\\ ‘1
212-1 i Vi
(BN J
006 ——_| R
45—
13— T
| ~
| L

See dimensions page 405.

334

5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMGA45 50 Hz

Pump with double ball bearing

120-7

135-4 N 12
120-13 PR : ——— 138
1} — 1 1
1283 | i Q Q 1“. ::H
I | / //
12(;; . cb(;“ L —7 140-1
140-2 Nid LJﬂ/—“’2
0381
1'3‘;_"2' , - =t ' 135-3
130-4 ‘ R ! 120-5
~‘ ‘; 120-8
‘ 5| 120-4
|
!
o 73
o075
NiNe 272
- 1
— L% 151
[’
D o054
I \—
1M-1

/
//////

/

) ‘| 15-2
o43-2— | HNF — _
| jf—=e 8
120_1_\ .‘ _/—53
043-8— || | ’!:“ ‘<21
Py S| Eiee )
L i - 12
03— o | !’;y h 4 i
075-1 043-7 - 2 \ 128-2
27311 052-2—— 17| J ‘ e
i TR 120-2
212-1 044-2 \ W %m ! \107
oos_/ 1 (IR [l -120-9

22
-
Zé
il
544

{
[T
ﬁ
[
| —

j{

-
:

See dimensions page 405.

335

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTioNs: EVIM(.)64 50 Hz

Pump without ball bearing

—

o NN

1
g

075-1 044-2—

2731
2021 006— |

?
e e e 1 et e s o /5

131-2

See dimensions page 406.

336

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrucTioNs: EVIM(.)64 50 Hz
Pump with single ball bearing
274-2
150
274-3
56
51
/ 120-8
it 120-6
=T TMJ 162
Q ng iz 130-2
— J /
| 245
| //—111—3
o1 ||+ 273
|/ | 075
_ N[N )=~ 212
::;_i\!“ ST \ { 1151
U hES ‘ T 007
e T , e
—— M 11-1
21— [Ty Wﬁ\/— o3t
043—5—\4\\‘“ ) ! /_81
i o
| | ~—Jd ?_21
i I ——
120-1 Iy i -
043—6-1\\\ !=L \} \043—3
137-1— || I — T 043-2
048 -\ii\% = & —
031\:ij:@; oS IR 12
043-7 +
052-2——— 1] N
075-1 044-2 i
273-1 |
212-1 oos—/_\}
e i
813 — ! |
T
131-2

See dimensions page 406.

337

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTioNs: EVIM(.)64 50 Hz
Pump with single ball bearing
120-7 274-2
135-4 (I '05700_1
120-13 T\
a— S 2
NN I
128-3 N 140-1
12‘;: NN /—162
140-2 7 0381
1t S Y . 135-3
- | AE. sk
'. sxis] ¥ ‘ 120-5
- u | s
M-4 '- + | 120-4
130-1 | r 'I
| AL |
120-3 3 R |
M1-3 S e’ 273
1281 il il 075
135_1—/“' $ b\ uJ — 12112
ni \ _
M-S — 1l — 115-1
M-5— T \ o0r
T « » B
130-3
047\4‘\N‘r‘ N 0054
Tt T I
o | J y \§111—2
X = N 1154
M43-3— i || I \_
052-1 \4‘\ - T _ 0431
043—4_\\‘\ | | 0458
N |
NN |
NN L |
] | "
3= il s
\
120-1— (|1 ] 4_/_:13
43-6— || | | e
13;;\%1\ ! s ———005-2
-_—
ST T
o3t~} D : "
043-7 T ;‘L//
|
052-2———{]1T]
044-2 /‘ ﬂ\
|
i
ow_/r JL I\\\I /i
—~ |
T
B3 —— " |
i
i
131-2

See dimensions page 406.

338
5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

consTrucTions: EVM(.)64

50 Hz

Pump with double ball bearing

.
Wil
"

See dimensions page 406.

0751
2731
2121

120-7
135-4

129
——138

a
|

v

=

ISR
o
.

\

S\

“\
N

\
3,

7t

g

Hir
o
Oy T

. - 77!
) A 070-1

7 140-1
162

039-1
135-3
120-5
120-6
120-4

| —n5-2

-8

211
005-2

12

128-2
120-2

107

120-9
070-2
137-2
135-5

120-12
160

339

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrRucTions: EVMG64

50 Hz

Pump without ball bearing

R,

T

See dimensions page 406.

Wil

e 0

/

{_.

340

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrRucTions: EVMG64

50 Hz

Pump with single ball bearing

075—-1 044-2

ZM 273-1
5 212-1

i

See dimensions page 406.

120-13

140
131-1

7

130-4

11-4
130-1
120-3
115-5
128-1
135-1
111-5
11-2
15-4

7

4

130-3
047

2741—— |

Ik

[ [ ] /T

043-5—

|
L
==

120-1

At g oy

043-6— |

137-1—_

048 —

03— |

043-7

052-2——

006

045— [

613 —— ]

e e e s s

341

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVMG64 50 Hz

Pump with single ball bearing

120-7 ?;4-2
135-4 (1T
120—13—/|/\ R 0701
e il R B *
128-3 U
120-8 N d 140
S 162
14(?: “J T 0391
131-1 | il I ! 133
130-2 | e ' 120-5
130-4 " 5 120-6
I
| 120-4
11-4 e 3
1301 '-‘ SV I,‘
120-3 '. LS| g |
m-3 S ‘ J ﬁ;:
128-1 I i o2
1351 e Xy B O — "
I _ —
nS=5—~ g — llr—a 115-1
M-5— 11— ‘ oo
. o > 12N /
13:_4:\+\~ m o054
2741 T T ——m
NN -2
043-5 i 2 \\\\—115—4
043-3 Ll 1
osz-1— - “+\\_°“'1
ot Tl T\\_WH
045—4_\i | | 043-8
TN |
R |
\ i
il 7 —_
o ] I—
2\—L\J f 81
120-1 T L ——
o3-6-— || | | i
137-1— [ || i |
08— 5| | Q
03—
043-7 ARt
052-2—— 1]
075-1 044—2 ik
2731 |
S fa— 2121 ooe-/ﬁ\ il
45—}
613 — ||
T Oj|
B L

See dimensions pages 406.

342

5 ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

consTrRucTions: EVMG64

50 Hz
Pump with double ball bearing
120-7
135-4 N 129
———136
gy i — 1]
51_):_»,} \ Q Q I S 070-1
128-3— S\ i ] 5
12(;: N /,5 '1\ 7 140-1
Ny \\;/ //_ 182
':;'21 ] 030-1
130:2 ¢ = = ; 135-3
: s J | 120-5
130-4 1 ! 120-8
| ]
M-4 1 "f 120-4
— I
o e |
| - |
111-3\ S ’ g
128-1 :s(@ I i .
1351 ( NN u , 121'2
\ : _
“5_5\t:=L’£ - /—115-1
Mm-5— j
N 4 . —o7
80-3— ||| | )
oar— U [T “w\\_um y
T D iy
043-5 A
03-3— | T
HL | i~ 0431
052-1— | ]
0441 I \_133—1
vt 043-8
_\\ ™~
- 2
L —ns-2
_/—81
o83
] = 21+
. 005-2
a 12
S
\! 128-2
i 120-2
o 107
s Iy 120-9
il y 070-2
j ¢ 137-2
— 135-5
i il
L |
See dimensions page 406.

B EaArA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)3 EVM(.)5

CONSTRUCTIONS

z / / / i Wad3 103iseh abuely LT
1 £60€ HO 29TXLY'ET SY4M-WAd3 Wdd Nad3 Bul-of G-STT
z T'EX0S SYHM-WAd3 Nd4 Nad3 [ / bul-o| e-sTT
1l | z8evy0 £5°€X20'86 SYHM-WAd3 Wdd Wad3 (Buises ayeipaunaul) Bu-0|  2-GTT
z 0TSO ¥O | vE'SXyS'62T SY4M-WAd3 Wd4 Nad3 (Buises Jano) bul-of  T-STT
T (v0€ ISIV)TOEY'T N3 (9T ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 1e8s [eas [edUBYIDN| €-TTT
T mém\w_r_n_%uawh__ﬁ_umao\ INdI=/I0GIES/PIGIED UO: [eas [ealueyoaN|  TTT
[t] Q%w«wm%%ﬂm.@zm\ (91€ I1SIV) TOVY'T NI/3d1d (vO€ 1SIV)TOEY T NI/WAd3 Buii eury L0t
v ONAZ

2 SY4M-WAd3 Wdd Nad3 WS WA (Bnyd) Bun-of  1-520
T SYIM-Nad3 Wdd wad3 (6nyd) Bu-o SL0
[t 95¢ bed a|qe) 995 Buireaq |leg 950
[1] apiqled uaisbun | Buueag| T-z50
(1l T9ST N3-002-10D-N3 uoi i1sed 1a1depe Jojop 150
T 8N HOSULXOUI LM Jiosu xou L 1asul Xoul YUM EZEL INN 0L-2Y inussjiedwi|  8v0

€2€L INN 0L-2Y €2EL INN OLPY
T (vO€ ISIV)TOEY'T N3 (9T€ ISIV) TOYY'T N3 (vOg ISIV)TOEY'T N3 Japjoy Bury 110
[1] (v0€ ISIV)TOEY' T N3 (9T€ ISIV) TOVY'T N3 (v0g ISIV)TOEY'T N3 (feas [eaiueyoaw) Buu yds 9v0
v (0zv ISIV) T20%'T N3 Jepjoy sbueld[  Gp0
[T] aplaued usisbuny Buueaq anse9ls yeus| T-vv0
[t] (¥0€ ISIV)TOEY' T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 (uaunsnipe) anaals yeus| 9-€v0
(1l (¥OE ISIV)TOEY T N3 (9T€ ISIV) TOVY'T N3 (vOE ISIV)TOEY'T N3 (aBess 1se|) ansals yeys|  G-ev0
[1] (vOE ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 (Buureaq) ansals yeys| €-evo|
[t] (¥0€ ISIV)TOEY T N3 (9T€ ISIV) TOVPY'T N3 (vOE ISIV)TOEY T N3 (areipawiaul) andajs Yeys|  z-ev0
T (v0€ ISIV)TOEY' T N3 (9T€ ISIV) TOYY'T N3 (vOE ISIV)TOEY'T N3 (leas [eolueyoaW) 9A99IS Yeys| T-Ev0|
T (91€ ISIV) TOVY'T N3 yeys T€0
] (v0g ISIV)TOEY'T N3 (91€ ISIV) TOYY'T NI [ (O€ ISIV)TOEY'T N3 Jeledwi| 120
T (9T€ ISIV) TOVY'T NI Buised JaInO 100
T (v0€ 1SIV)TOEY'T NI (9T€ ISIV) TOPY'T N3 (bOg ISIV)TOEY'T NI T9ST N3- Buiseo wonog| 900
002-109-N3 uoll 1sed
T (vOE ISIV)TOEY'T N3 (91 ISIV) TOYY'T N3 (¥0€ ISIV)TOEY T N3 Buises abreyosial  ¥-500
[1] (vO€ ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 Buireaq Buised ajelpawalul[  €-500
[1] (¥0€ ISIV)TOEY' T N3 (91€ I1SIV) TOVPY'T N3 (YOE ISIV)TOEY'T N3 Buised ajelpawaiul(  2-500,
T (vO€ ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 Buises uonons|  1-500
MWAT INAT WA i ONAT
”_o:u_:.w prepueis suolsuawiqg [eusrew sureu 1ed N

[1] See table on page 356.

344

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)3 EVM(.)5

CONSTRUCTIONS

z |9als uogled abue|q €19
orta ¥Z SWA3
[t] |zevziNn 060 08 OL [98)s uogred ‘22 01 T SNA3 ‘92 ENA (1>f0e1q) Buis deus adA1-D|  €-v22
z.a 2T 010T S WAT ‘22 € WAT ‘8T EWAT
0sa ¥Z SWA3
[1] |sevzINN ova 08 DL [98)s uoged ‘22 01 4T GWAZ ‘92 EWAT (Bundno) Buu deus adh1-o|  z-v.¢,
sea 2T 01 0T G WAT ‘22 € WAT ‘8T EWAT
4 OWAI
(¥O€E ISIV)TOEY'T N3 (9T€ ISIV) TOYY'T N3 (v0€ ISIV)TOEY'T N3 . (Bnyd) sousem| T-€L2
z TNAT ‘WA
T (v0€ ISIV)TOEY'T N3 (91€ ISIV) TOVY'T N3 (vO€E ISIV)TOEY'T N3 (Bnid) sousem €2
4 (¥0€ ISIV)TOEY'T N3 prenb Buidnod sz
[1] (YOE ISIV)TOEY'T N3 (9T€ ISIV) TOYY'T N3 (70€ 1SIV)TOEY'T N3 i |231s ajeduIz abuey Ja1UN0D), 612
14 OWAI
(¥O€ ISIV)TOEY T N3 (9TE ISIV) TOYY'T N3 (v0€ ISIV)TOEY'T N3 5 bnid| 1-2TZ
z TNAT ‘WA
T (v0€ ISIV)TOEY'T N3 (91€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 Bnid [414
T (¥O€ ISIV)TOEY T NI + uonised | (9TE ISIV) TOYY'T N3 +uolised | (yO€ ISIV)TOEY'T N3 + uoil 1sed i T9ST N3-002-10D-N3 U0l 1sed 193081 J0JON 291
T T9ST N3-002-10D-N3 uoi 1sed i / aseg 091
[1] |981s uogJen 1900dg 0sT
T S0.S INN 85 LO sselg Buijdnod orT
T (¥0€ ISIV)TOEY' T N3 (91€ ISIV) TOVY'T N3 (vO€ ISIV)TOEY'T N3 J1aoeds J9jladwi|  T-LET
14 2659 INN | ZXTZXS'0T |981s ayesulz 18ysep|  T-GET
T |9a1s uogied Yeys lojuid| T-TET
T 6265 INN 9XSIN |981s uogied MB108-19S|  #-0€T|
v |289LINN 9XSIN €2€L INN 0L-2Y prenb Buiidnod Joj me1ds|  z-0€T|
14 889G INN OTN |981s aredulz po1 an 10y INN T-82T
BELSINN | SZXTIW ¥Z SWA3
v 6ELS INN 0EX8A 11868 OS1 SSEI WIS g6 [931S AIEIUZ 22 01 0T SWAT ‘92 0} 8T EWAT Jorow 10y mans| £1-0zt
6€LS INN 0ZX8N 801 L WA ‘ST 01 €T ENA
6€L5 INN 9TX9N 9012 SWAT 'TT 03 2 ENAT
[1] [6€25INN| OZXOTW €2€L INN 0L-2Y abue|IaIuN0d 10} MBIIS| TT-02T
[1] | 651NN SZXTIN /868 OSI ssejo Jybuans g'g |9dls ajesurz (1oydepe Jojow) maids|  8-02T
z TE6SINA Oexen |9a@1s ajeaulz Ve SNA3 Buidno 10§ ma1ds|  9-02T
T€6S INN 9TX9N 22 012 SWAT 'ENA '
[1] [te6sINN 9TX9N /868 OS| Ssejo Wbuauns g'g [99)s ajeoulz Buyjdnoo Joy maids|  §-02T|
¥ | T€6S INN 9X¥IN €2€L INN 0L-2Y Ma1s|  €-02T
14 T/868 OS| Ssep ybuais g'g [98)s apeourz poall| T-02T
MNAT TNAZ A3 OWAI
M“:.H_ piepuels suolsuswiq fels1eN dureu jed oN

[1] See table on page 356.

345

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)10

CONSTRUCTIONS

z / / / i Nad3 19vse9 abueld LTT
T |szivdo €GEXVETE SYHM-Nad3 (| Nad3 Bul-o| S-GTT
z T'EX09 SYHM-Nad3 Nd4 Wad3 i / Bun-0| €-GTT
1] €5'EX9'9ZT SYYM-Nad3 Ndd Nad3 (Buiseo ayeipaunaul) Buu-Of  Z-GTT
Z | sv99 "O YE'GXOP ¥IT SYYM-INad3 Ndd Nad3 (Buiseo seyno) Bul-O|  T-GTT
T (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOPY'T N3 (YO ISIV)TOEY'T N3 Jeas [eas [edlueyddN| €-TTT
T w<w_m>ﬁ\w_.n_\\,__moun__._m._nw__n_“_m0\ Wd4/uogied/apiqies uodl|is [eas [edlueyos|N 1T
[r] ?omm_,«ww__,\\,wmm_wu n_Hm_zm\ (91 ISIV) TOYY'T N3/3d1d (v0€ ISIV)TOEY'T NIWAd Buuseun| 20T
14 OWAI

SYdM-Nad3 Wd4 nad3a - (Bnid) Buu-o|  1-G20
z INAT ‘WA
T SYYM-WAd3 Wd4d Nad3 (Bnyd) Bun-0 S.0|
[1] (v0€ ISIV)TOEY' T N3 Buireaq o) Buid|  T-020)
[1] L5¢ Bed a|ge) 9as Buireaq |leg 950
[1l apigtes uaisbuny Buieag| T-z50
(1] T9ST N3-002-1C9-N3 uoi 1sed J1aydepe J0joN 150

Uasul Xoul yum JBsUI Xoul Ynm
1 0T €267 INM OL-2 €26 INM 0L Hasul Xou! Yim €Z€L INN 0L-2Y nu sajjaduw 80|
(1] (v0€ ISIV)TOEY' T N3 (9TE ISIV) TOVY'T N3 (¥0€ ISIV)TOEY T N3 (reas eajueyoaw) Buu Jids 90|
4 (0zv 1SIV) T20%'T N3 19p|oy abue|q Sv0)
[1] apigred uaysbun Bureaq anasls yeuys| T-vv0
[1] (v0€ ISIV)TOEY T N3 (91€ 1SIV) TOVY'T N3 (¥0O€ ISIV)TOEY T N3 (abess Isey) andals Jeuys|  S-ev0|
[1] (v0€ ISIV)TOEY T N3 (91€ 1SIV) TOVY'T N3 (¥0€ ISIV)TOEY T N3 (Buueaq) anaals yeys| €-evo
[1] (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOVY'T N3 (¥OE ISIV)TOEY'T N3 (areipauLialul) 9A93)S Jeys|  Z-Ev0)
T (¥0€ ISIV)TOEY T N3 (9T€ ISIV) TOVY'T N3 (¥OE ISIV)TOEY'T N3 (leas [evjueyoaw) aAdals Jeys| T-Ev0)
T (91€ ISIV) TOVY'T N3 yeys 1€0
(1l (¥0€ ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 i (¥OE ISIV)TOEY'T N3 Jajadw 120
T (9T€ ISIV) TOVY'T N3 Buises JaIN0 100
T (¥0€ ISIV)TOEY'T N3 (9TE ISIV) TOVY'T N3 (¥O€ ISIV)TOEY'T N3 95T N3 Buises wonog 900

002-109-N3 uol 1seD
T (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOPY'T N3 (v0€ ISIV)TOEY'T N3 Buises abreyosial  #-500
[1] (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOPY'T N3 (¥OE ISIV)TOEY'T N3 6uireaq Buises syeipawell|  €-500
[1] (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOPY'T N3 (¥O€ ISIV)TOEY'T N3 Buises eyeipsunal|  z-500
T (v0€ ISIV)TOEY' T N3 (91€ 1SIV) TOVY'T N3 (¥O€ ISIV)TOEY'T N3 Buiseo uonons|  1-s00
MINAT INA NAZ i OWAI
o | PrEPUEIS suoisuawiq reLozen Swen Hed N

[1] See table on page 357.

346

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)10

CONSTRUCTIONS

347

Z |@31s uoqued mm:m_u €19
oTT 0Z 01 2T 0T WA3
[t] |zev2INN 06 08 DL [991s uoqIed TT 038 0T WAS R}
ST Bul deus adf-D
zL 90T WA3 ‘'S 0T WA3
s9d 22 OTNAZ
[t] |sevszINn 0sa 08 DL [991s uoqIed | ogoet oIina (Buydnoo) fa2k4
ora TT 018 OTWA3 Bun deus adA-0
sed 90T WA3 'S OTINAZ
[1] 8/6T-70824 SIC 9T°'A (v0€ ISIV)TOEY' T N3 (91 ISIV) TOVY'T N3 (¥OE ISIV)TOEY'T N3 (leas evjueyoaw) bun deus adA-0|  T-v/2|
4 OWAI
(v0€ ISIV)TOEY T N3 (91€ 1SIV) TOPY'T N3 (Y€ ISIV)TOEY T N3 ; (Bnid) soysem| T-€L2
z TNAZ WA
T (v0€ ISIV)TOEY'T N3 (91 ISIV) TOVY'T N3 (¥OE ISIV)TOEY'T N3 (Bnd) saysem|  £4¢]
4 (v0€ ISIV)TOEY'T N3 psenb Buydno) svel
[1] (¥0€ ISIV)TOEY T N3 (91€ 1SIV) TOPY'T N3 (v0€ ISIV)TOEY T N3 i |981s ayeoulz abuely ;23uno0d 612
¥ OWAI
Z (vO€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 (YOE ISIV)TOEY'T N3 TS NS Bnid| 1-2TC
T (v0€ ISIV)TOEY T N3 (91€ 1SIV) TOPY'T N3 (¥O€ ISIV)TOEY T N3 Bnid [4%4
T (v0€ ISIV)TOEY'T NI + uoaised | (9T€ ISIV) TOYY T NI +uolised | (vOE ISIV)TOEY'T N3 + uoil ised i T9ST N3-002-109-N3 uol 1830rIq J0JON 29T
T T9ST N3-002-10D-N3 U0l 1seD i / aseg 09T
[1] |931s uogled 1aoeds 0ST
I 0Tdd UAS G€ 40 2Z OTWNAZ Buydnos v
S0.S INN 85 1O sseig SI9PON IV
T (v0€ ISIV)TOEY' T N3 i (91 ISIV) TOVY'T N3 (¥OE ISIV)TOEY T N3 J1aoeds Jajjadw)|  T-LET
1] |98ls uogreD (Buireaq) sjausem |  p-SET
14 2699 INN G'ZXVZXET |991s ayeauiz saysepm| T-seT
T |@81s uogled yeysojuidf T-TET
T 6265 INN 9X9N |@81s uogied MBI0S-18S Y-0€T
v | 2892 INN 9XSW €2€L INN 0L-2Y oo 10 Ma10S|  Z-0ET
[1] |9als ayeoulz (1oow) nN|  e-8zT
14 8855 INN TN |991s ayedulz poJ an 10y INN T-82T
6ELS INN GOX9TIN 2Z OTNAZ
6ELS INN GZXTTIN 0201 2T OTINAT
v | 6ELSINN 0EX8IN /868 OSI S| Jybuais 8'g [881S 8jeauz TT01 G OTWAI Jojow Joy Ma1dS| €T-02T
6ELS INN 0ZX8IN ¥ 0TNAZ
TE6S INN 9TXIN €01 Z 0TWAI .
[1] |eeLsINN 0ZXZTN €2€L INN 0L-2Y abuejpaun0d 10) MAIDS| TT-0ZT W
[1] |eeLsINN GZXZN 198}s apeoulz (1aydepe 0jow) Ma1ds|  8-0ZT ™
[1] |eeLsINN 0TX9 /868 OSI SSej Jybuails g'g [2als ajeaurz (Buireaq) mans|  2-02T %J
TE6S INN SZXOTN 22 0TWA3 m
z | TE6S INN 0ZX8IN 192)s ayeoulz 02 018 0TWAI Buyjdnoo 1oy ma10S|  9-02T c
TEBS INN 9TXIN 9012 0TNAT o©
[t] | te6sINN 9TXIN /868 OSI S| 1ybuals 8'g [881S 8jeauz Buidnoo Joy ma1os|  G-0ZT m
v | TE6S INN XS €2EL INN 0L-2Y Mans|  €-0ZT S
4 /868 OSI SSej Jybuais g'g [2als ajedurz posail| T-02T (5}
MINAT TNAZ A3 OWAI %
_HMM:.H_ prepuels suoisuawig [ela1ey sweu Led N m

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)18

CONSTRUCTIONS

T €Ty 4O £G°EXT9E SYHM-INad3 Wdd Nad3 Buu-of §-STT
[1] €G'€X9'92T SYHM-INad3 Wdd Nad3 (Buises ayeipaswisiul) Bun-of  Z-STT
z S99 4O ¥E'GX9P 79T SYIM-INAd3 [\EE] Nad3a (Buises sano) bul-0|  T-STT
T (¥0€ ISIV)TOEY'T N3 (9T€ 1SIV) TOPP'T N3 (#0€ ISIV)TOEY' T N3 189S [e9S [eJIUBYOBN|  €-TTT
T w<w_%_.n_\_,_mn_un_ﬂw_oemo\ INd/uogreD/apigied uodi|is [eas [edlueyds N 11T
[1] Qom_/ww__w,wmm_w aﬁm_zu\ (9T€ ISIV) TOVY'T N3/34Ld (v0€ ISIV)TOEY T N3/WAd3 Buti Jaur L0T
4 BRIV

Z SYYM-INAd3 Wdd wad3a BRETTEETTE] (Bnyd) Bul-0|  T-520
T SYdM-INad3 [\EE] Nad3 (6nyd) buu-o S0
[1] (¥O€ ISIV)TOEY' T N3 Buireaq 1oy Burdf  T-0L0
(1] L5¢"Ped ajqe) 805 Buureaq |reg 950,
(1] apiqred uaisbun Buueag| 1-zS0|
(1] T9ST N3-002-10D-N3 U0l }sed J1a1depe J0j0N 150
T CTN Hesu xou LIBSLI XOu! LM USSUI Xoul Yum €zZ€/ INN 02-2V nu Jojladw| 810

€2€L INN 0L-2Y €2€L INN 0LbY
T (¥0€ ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 (vog ISIV)TOEY' T N3 19pjoy Bury 10|
14 (02 ISIV) T20Y'T N3 Japjoy abuely S0
[1] apigres uayshun Buueaq ansais yeys| T-vr0
[1] (vO€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 (¥0€ ISIV)TOEY'T N3 (abe1s 1se|) andals yeys| S-evo
[1] (v0€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 (¥0€ ISIV)TOEY'T N3 (Burreaq) anvals yeuys| €-€v0)
(1l (¥0€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 (#0€ ISIV)TOEY T N3 (areipawnalul) 939l Yeys|  z-evo
T (¥0€ ISIV)TOEY'T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 (leas [eajueysaw) anaals yeys| T-£v0
T (9T€ ISIV) TOVY'T N3 yeus €0,
[1] (vO€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 i (vO€ ISIV)TOEY'T N3 Ja)19dw| 120,
T (9T€ ISIV) TOYY'T N3 Buises a0 100
T (vO€ ISIV)TOEY'T N3 (91€ ISIV) TOVY'T N3 (vO€ ISIV)TOEY'T N3 15T N3- Buiseo wonog 900
002-109-N3 uoit 1sed
T (¥0€ ISIV)TOEY'T N3 (91€ 1SIV) TOVY'T N3 (#0€ ISIV)TOEY T N3 Buises ebreyosia| ¥-500
[1] (v0€ ISIV)TOEY' T NI (9TE ISIV) TOPY'T N3 (¥OE ISIV)TOEY'T N3 Burreaq Buises arelpawuaiul|  £-500
[1] (v0€ ISIV)TOEY' T NI (9TE ISIV) TOPY'T N3 (vOE ISIV)TOEY'T N3 Buises areipawaiul|  z-500
T (vOE ISIV)TOEY'T N3 (91€ ISIV) TOVY'T N3 (¥O€ ISIV)TOEY'T N3 Buises uonons|  1-500)
MINAT RE! NAT i ONAT
”._u“:—d/”_ prepuels suolsuswig lersleiN aweu yed oN

[1] See table on page 357.

348

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)18

CONSTRUCTIONS

4 |98ls uoqued abue| €19
[t] |zevZINN orra 08 D1 [981s uogied | BOSEINAG (peiq) £y
06a ¥ 8TINAT Buy deus adh1-o
s9a 9T-0T 8TNAI
[t] |serZINn osa 08 D1 [981s uogied 8-G 8TINAZ (Buydnoo) 24
. - - buu deus adA-o
ora ¥ 8TINA3
[1] (vOE ISIV)TOEY' T N3 (91€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T NI (jess eaiueyoaw) Bun deus adA-0|  T-v.2
14 ONAT
(0€ ISIV)TOEY' T N3 (9T€ I1SIV) TOPY'T N3 (vOE ISIV)TOEY'T N3 —— (Bnid) seusem| T-€2
z TNAT ‘WA
T (v0€ ISIV)TOEY'T N3 (91€ ISIV) TOVY'T N3 (¥0€ ISIV)TOEY'T N3 (Bnyd) Jausem €Lz
4 (¥0€ ISIV)TOEY' T N3 prenb Buydnod svz
14 ONAT
(¥0€ 1SIV)TOEY' T N3 (9T€ ISIV) TOVY'T N3 (vO€ ISIV)TOEY'T NI — bnid| T1-2TZ
4 TNAT ‘AT
T (vOE ISIV)TOEY' T N3 (91€ ISIV) TOVY'T N3 (¥0€ ISIV)TOEY'T NI Bnid [414
T (¥O€ ISIV)TOEY'T N3 + U0l IseD | (9T€ ISIV) TOYY T NI + uoatised | (vO€ ISIV)TOEY'T N3 + U0IISeD | T9GT N3-002-109-N3 uoll 1sed 19%40Iq J0J0N 29T
T T9ST N3-002-109-N3 uoli 1seD / aseg 09T
[1] |99)s uoge) 190edS 0ST
I 0T0dd UNS S€ 40 9T 01 0T 8TNAZ Buidnos -
G0/S INN 85 1O sseig s|apou |1
T (¥0€ ISIV)TOEY' T N3 (9T€ ISIV) TOVY'T N3 (v0€ ISIV)TOEY'T N3 Jaoeds sgjladwi(  T-LET
1] |981s uogren (Buireaq) Jaysem| v-GET
14 ZTS9 INN GZXVEZXET |231s |1edulz Iaysep T-GET
T 1991 uoque) Yeysojuid| T-TET
T |[6265INN 8X8N |98)s uogen masos1es|  v-0eT
v [ 2892 INN 9XSW €2€L INN 0L-2Y parenb Buidnod 1oy ma1ds|  Z-0ET
[1] |931s a1eoulz (ioow) nn|  e-82T
v [885SINN ZIN |981s apeoulz poi an 104 INN|  T-82T
6ELGINN [ SOX9TN 970} 0T 8TNAT
14 GELSINN | SIXCIN /868 OS| Sse|o Wybuals 8'g [931s apedulz | BSETNAG lojow 10} MaIIS| €T-0ZT
6ELGINN [ 0EX8N 7 8TWAI
6€LGINN [ 0Zx8N €01 Z 8TWAT
[t] |eesSINN| SexeIw 1/868 OS| SSe|0 Jybuais g'g [991s ajeauz (1a1depe Jojow) ma1ds|  8-02T
[t] |6eL5INN 0TX9 1/868 OS| Sse|o 1buans 8'g [933s ayeoulz (Bureaq) mands|  2-02T
TE6S INN [ GZXOTW 9T 01 0T 8TNAZ
Z TE6S INN 0ZX8N |291s |1eduIZ 801 € 8TINAT Oc__uzou 10} MaI0S 9-02T
TE6SINN | 9TXOW Z 8T NA3
[t] |Te6SINN| 9TX9W 1/868 OS| Sse|o 1buans 8'g [981s ayeoulz Buydnoo 1oy mands|  §-02T
v | 1€6S INN 9XSI €2€L INN 0L-2Y MRS €-02T
4 /868 OS| Sse|o 1ybuans 8'9 [981s eyeoulz posall| T-0ZT
MNAT INAT NAT ONAT
o | PrEPURIS  SuoisuowiG feLiare Sweued N

[1] See table on page 357.

349

EBARA PUMPS EUROPE S.p.A.



Rev. D

E

VERTICAL PUMPS

50 Hz

EVM(.)32

CONSTRUCTIONS

14 1/868 OSI ssejo Jybualls g'g [98)s ejeouz por-alLf 1-0Z)
! £GEXY0'vy'a Nd4 Nad3 (4on00 |eos) Bury-O|  G-GLL
L 65'€X66'vZ 'A Ndd Nad3 (onoays o6pLMEd) BUY-O| -Gl L
[1] L'EXE 6S) Nd4 Nad3 (Buiseo ejeipawusiul) Bury-0|  Z-GLL
z YE£'6X 16'802° Nd4 Nad3 (Buiseo sayno) bury-O|  L-GL 1
[1] (91 1SIV) LOVP'L N3 (¥0€ ISIV) LOEY' L NI Buu Bunsnlpy| G-LLL
! (91€ 1SIV) LOVY'L N3 G0./S INN 8G LO sseid Jeploy [ees|  p-LLL
! (9LE ISIV) LOYY' L NI (¥0€ ISIV) LOEY'L NI Jeas |ess [OlUBYODIN|  €-LL]
L (91 1SIV) LOVY'L N3 (Y0€ 1SIV) LOST L N3 obpuped ess [eolueyosiN|  Z-LLL
I INdd / UogJeD / 8pIg/ed UodliIS |eas [edlueyosN|  L-LLL
[1] (91L€1SIV) LOYY'L N3 /3d1d (v0€ 1SIV) LOEY'L NI /Nad3 Bun Jour 101
¥ Ndd nad3a (Bnd) Burd-0|  1-620
I Ndd Nad3 (Bnyd) Bury-0 5.0
[1] (¥0€ ISIV) LOEY'L N3 Bunesq 1oy Burd|  1-020
[1] Lo¢ obed a|qe} 898 Buueaq |leg 950
1] apigJed usysbuny Bunesg| |-z50
[1] 19G1 N3-00Z-1Mr9-N3 uoui isep Jsydepe Jojoy 150
9SUl XOoul IM | Xoul IM
F o G251 NN 02 s26. 1NN 0229 i o] 810
L (91 1SIV) LOVP'L N3 (¥0€ ISIV) LOEY'L NI Jap|oH Bury 1¥0
14 (0zv ISIV) 2Z0t'L N3 Japjoy abuely S¥0
1] apiqJed usysbuny Buieaq arsals yeys|  L-#¥0
L (91 1SIV) LOVY'L N3 (¥0€ ISIV) LOEY' L NI (obess yse|) onosls yeus| G-ev0
[1] (91 1SIV) LOVY'L N3 (¥0€ ISIV) LOEY' L NI (Juswpsnlpe) arsals yeys| -c¥0
[1] (91 1SIV) LOVP'L N3 (¥0€ 1SIV) LOEY L N3 (Buueaq) anesls yeuys| €-€v0
[1] (91 1SIV) LOVP'L N3 (Y0€ 1SIV) LOSY L NI (ereipawsiul) ansels yeus| z-£v0
! (91€ 1SIV) LOVY'L N3 (¥0€ ISIV) LOEY' L NI (lees [edlueyosw) anosls yeus| L-€v0
[1] 099 INN 06X8X2CL |99}3 uoquen Aoy| 1-6€0
L (91€ ISIV) LoV L NI yeys 1€0
[1] Jjjadwi peonpay|  1-120
(91 1SIV) LOVY'L N3 (Y0€ 1SIV) LOSH L N3
[1] Ja|jedu) 120
[1] ore _wﬁ__uwmw_ N3 (voe _w_ﬁ_%ww_ N3 L9GLN3-062-1r9 N3 uoJ| }sed Janoo Buised 110
! (9LE ISIV) LOYY' L NI (¥0€ ISIV) LOEY L NI Buises ssInQ 100
L (N840 INLSV) 80F'L NI | (840 WLSV) 80€t'L N3 7 19GLN3-062-1rD N3 uoJ| }sed Buiseo wopog 900
L (91€ 1SIV) LOVP'L N3 (¥0€ 1SIV) LOEY L N3 Buiseo ebieyosial  $-G00
[1] (9LE ISIV) LOYY' L NI (¥0€ ISIV) LOEY L NI Buneaq Buiseo sjelpawisiul|  €-G00
[l (91 1SIV) LOVY'L N3 (Y0€ 1SIV) LOSY L N3 Buise) ejelpswisiul[  Z-G00
! (91€ 1SIV) LOVY'L N3 (¥0€ 1SIV) LOEY L N3 Buises uonong|  1-500
TNAZ WA3 7 SNAZ
uun piepuelg suoisuawiq |eudye N Swieu ped N
104°N

[1] See table on page 358

350

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)32

CONSTRUCTIONS

4 |199)s uogle)d abue|4 €19
[1] LEVLINN oLv'a 08 O1 199}S uogiey (3o>j0elq) Bun deus adA-0|  g-v/2
GESLINN s/a ZL O} LL ZEWAT
[1] GEVLINN s9'd 08 D1 193]S uogie) | 010G zEWAT (Buydnoo) Buu deus adA)-0
GEPZINN 0s'a ¥ 0} € ZEWAT evie
L GEVLINN 9za (9L€ ISIV) LOYF'L N3 (v0€ ISIV) LOEY L N3 (jees |eoueyosw) Buu deus 8dA1-0|  L-v/2
¥ (9L€ ISIV) LOYP'L N3 (¥0€ ISIV) LOEY L N3 Joysem Bnid|  L-€L2
3 (9L€ ISIV) LOVY L N3 (¥0€ ISIV) LOEY'L N3 Jaysep Bnid €2
4 (¥0€ ISIV) LOEY' L N3 psenb Buydnon sve
¥ (9L€ ISIV) LOYF'L N3 (Y0€ ISIV) LOSY' L N3 bnid| L-zie
} (9L€ ISIV) LOVY L N3 (¥0€ ISIV) LOEY'L N3 Bnid 4%4
| 19G1 N3-002-1r9-N3 uoi ised 1odoRIq 0O 291
L 19G1 N3-002-1r9-N3 uoi ised oseg 09}
[1] |99)s uogJed J90edg 0SL
1] |98}s uogqien (apis sojow) Bundnod|  z-ovL
[1] |99)s uogle)d Bundnoo Jojopy 1-0vL
[1] G0.G INN 85 LO sseig Buydnoo ovl
} (9L€ I1SIV) LOvH'L N3 (¥0€ ISIV) LOEY'L N3 Jeoeds Jsjlodw|  |-/€1
[1] |98}s uoqien 18ysep oel
[1] LGZLINN ¥'9 |99}s uoqued pajeld Jaysep| -Gel
[1] LGZLINN | 2'ZXS'LLXS 0L |93)s a1edUIZ seusem| g-gel
14 Z6S99INN EX0EXLL |99}s ajeoulz seysepm|  L-gel
L [9®)g uogIen yeystopuld| |-Lgl
} €266 INN OLXOLIN [92)s uoqued Maseg|  #-0€L
} €Z6SINN 9X9N €2€L INN 042V Mansog|  €-0€l
14 189N 9XSIN €2€. INN 04-2Y pJenb Buidnoo 1oy mesog|  Z-0¢l
€ €265 INN 8X9N €2€L INN 0L-2Y Maseg|  L-0gL
[1] [99}S uogIe) nu %007 62l
[11 | 8885 INN LN [99)s ejeoulz InNN| €821
14 885G INN 9lN [o®)s epeoulz posan 1o} InN|  |-821
6€.5 INN GOX9LIN 71 0} G ZEWAT
¥ 6€.5 INN 0EXZLIN 1/868 OSI sse|o Jybuass g'g [99)s ajeoulz ¥ 0} € ZEWAT Jojow 1oy mandg| €1-02)
6€2G INN 0ZX8IN 20} | ZEWAT
¥ 6€45 INN ObXZLIN 1/868 OSI sse|o Jybuaiis g°g [98}s 8jeoulz mag| 01-0Z)
6€.5 INN 0EX0LIN 71 0} G ZEWAT
[1] 1/868 OSI sse|o Jybuass g°g [98}s 8jeoulz e — mang|  g-0zl
6€4G INN GZXZLN ¥ 0} € ZEWAT
[l1 | eeL5INN OLX9N 1/868 OS| ssep Jybuaiis g'g [99)s djeoulz mang| -0zl
L€6S INN 0EXCIIN 71 0} G ZEWAT
4 1€6S INN 0ZX8IN 1/868 OSI sse|o Jybuais g'g [99)s ajeoulz €% 0} ¢ ZEWAT Buijdnoo 1oy masog|  9-0Z)
1€6S INN 9LXON | ZEWA3
6€4G INN 0EX0LIN ¥l 0} G ZEWAT
[1] 1€6G INN 0ZX8 W 1/868 0S| ssep Jybuaus g'g [99)s ajeoulz 2-Z pue Z ZEWAT Buiidnoo 1oy masog|  G-0zlL
L€6S INN 9LX9 W L ZEWA3
[l1 | eeL5INN GZX0LN 1/868 OSI sse|o Jybuass g'g [99)s 8jeoulz mang| -0zl
¥ L€6S INN OLXSIN £2€/ INN 04-2Y mang|  €-0zk
RTTE] f WA3 f ONA3
jun | aweu Jed
104°N piepuels suolsuawiqg |elv)e|y oN

[1] See table on page 358

351

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)45

CONSTRUCTIONS

[l | 6€5INN GZXOLN 1/868 0S| Ssefo Jybuays g'g [88)s sjeoulz MaIOg 7021
14 1€6G INN 0LXSIN €2€L INN 0L-2Y MaIOg €-02L
z (9L€ISIV) LOYP'L N3 (¥0€ ISIV) LOEY L N3 poy &1L z-0zL
14 1/868 OSI ssejo Jybuais g9 [98)s ajeoulz poy a1l 1-021
3 €G'eEXY0'vy'a Nd4 Nad3 (19100 |e®S) Bury-O G-GLL
3 €5'€X66'72'd Nd4 wad3 (anoea|s aboplpes) Bury-O -Gl
] £5'eX¥'961°a Wdd Wad3 (Burseo syeipauusiu) Bury-0 SLL
z ¥€'$X99'0vZ'a Nd4 wad3 (Buiseo Jeyno) Bury-0 L-GLL
L (9L€ ISIV) LOVY' L N3 (¥0€ ISIV) LOEY'L N3 Buu Bunsnlpy Gl
| (9LE ISIV) LOVY'L N3 S0.S INN 85 10 sseig Japjoy [eag pLLL
L (9L€ ISIV) LOVY' L N3 (v0€ ISIV) LOEY'L N3 Jeas |eas |eOlUBYOBI el
L (9L€ISIV) LOYP'L N3 (Y0€ ISIV) LOEY L N3 abplpes [eas [edlUBYIBIN L
3 INdd/uogied/ 8pigied uodlis |eS [EDIUBYOBIN bbbl
[1] (9L€ISIV) LOPY'L N3/ 3d1d Bu seur 101
[1] 341d ysng 180
14 Wdd wad3 (Bnid) Bury-0 1-620
3 Nd4 nad3 (B6nid) Bury-0 G0
L (9L€ ISIV) LOVY' L N3 (#0€ ISIV) LOEY'L N3 Buneaq Joy Bury 2-0L0
[1] (¥0€ ISIV) LOEY L N3 Buieaq 1oy Bury 1-020
[1] 19¢ obed o|qe)} sos Buesq |leg 950
[1] (9L€ISIV) LOYP'L N3 (¥0€ ISIV) LOEY L N3 Japjoy ysng €50
1 apiqued usysbun] Buueag 2-250
1] apigJeo usjsbun | Buneag 1-250
[1] 19G1 N3-002-1r9-N3 uoli jsed Jajdepe Jojop 150
9SuUl XOoul yum | Xoul yym

, o 252 IN 029Y 262 INN 02-2 musetedunl - gv0
3 (9L ISIV) LOYY'L N3 (¥0€ ISIV) LOoEY' L N3 Japloy Bury L¥0
14 (0z¥ 1SIV) 20%'L N3 Japjoy abue|y S¥0
L opiqued usysbun | (Bunieaq wopoq) ersals Buueeg Z-vv0
[1] apigJeo usjsbun) Bulieaq ansa|s yeys L-¥¥0
L (9L€ISIV) LOYP'L N3 (Y0€ ISIV) LOEY'L N3 (1omol-ab.eyosIp) aAs3|s Yeys 8-€v0
L (9L€1SIV) LOoYy'L N3 (Y0€ ISIV) LOEY'L N3 on99|s JJeys L-€¥0
3 (9L ISIV) LOYP'L N3 (Y0€ ISIV) LOEY L N3 (Juswysnlpe) anss)s yeys 9-€%0
L (9L€1SIV) LOYY'L N3 (Y0€ ISIV) LOEY'L N3 (ebeys Jsey) anaa)s Yeys G-€0
[1] (9L ISIV) LOYP'L N3 (¥0€ ISIV) LOEY'L N3 (Juswysnipe) anss)s yeys ¥-€¥0
[1] (9L€ISIV) LOYY'L N3 (¥0€ ISIV) LOoEY' L N3 (Buueaq) aresls yeys €-€¥0
[1] (9L€ ISIV) LOYP'L N3 (¥0€ ISIV) LOEY'L N3 (a1e1poWLIB)UY) 8BS YRS Z-€%0
L (9L€ISIV) LOYP'L N3 (Y0€ ISIV) LOEY'L N3 (less |eolueyosw) aA93|S YeUs L-€¥0
[11 | v099 INN 06X8XCL [9®)s uogien Koy 1-6€0
3 (9LEISIV) LOYY'L N3 yeus 1€0
Jajjadwi peonpay 1-120

[1] (9L ISIV) LOYP'L N3 (YO€ ISIV) LOEY'L N3
Jajjedu| 120
3 (9L€1SIV) LOYY'L N3 (YOEISIV) LOEL'L "NT Jon00 uonong [4%]
0 (OV21SIV) 1OYLNT (108 ISIV) LOBYENS 00, 3062 0 N woi 190 oroosuseol 110
3 (9L€1SIV) LOYY'L N3 (Y0€ ISIV) LOEY'L N3 Buises seno 200
L (N840 WLSY) 80t L "N | (84D INLSV) 80€¥'L ‘NI | L9GL N3 0SZ IrD N3 uoul jsen Buises wopog 900
3 (9L€ISIV) LOYP'L N3 (0g ISIV) LoSY' L N3 Buises abieyosiq ¥-500
[1] (9L€ ISIV) LOVY' L N3 (¥0€ ISIV) LOEY'L N3 Buiseo ajeipawialu| 2-500

ANAI WA3 OWAT
Hun aweu Jed
104N pJepuelg | suoisuawiq |elajen oN

[1] See table on page 359

352

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)45

CONSTRUCTIONS

Z |981s uoqied OOcm_H_ €19
[1] LEVLINN ora 0801 [99}s uoqied Buu deus 4dA1-O €v.2
GESZINN s.a 2-9 Pue 0-9 GYINAT
[l | sevzINn s9'a 08D 198} UogeD S 0} € GYNAT 6uu deus 1dA1-0 e
GEYLINN os'd 2-2‘0-C SYINAT
} GEVLINN 9z'd (9LE ISIV) LOYY'L N3 (¥0€ ISIV) LOEY'L NI Buus deus adA}-O L-v.2
14 (91L€ 1SIV) LOYY' L N3 (¥0€ ISIV) LOEY'L N3 Jeysem Bnig 1-€/2
| (9L€ ISIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Jaysem bBnid €2
4 (¥0€ ISIV) LOEY'L N3 pienb Buydnod Stz
¥ (9L€ ISIV) LOYY'L N3 (Y0€ 1SIV) L0EY' L N3 Bnid 1-zie
L (91€ 1SIV) LO¥Y' L N3 (¥0€ ISIV) LOEY'L N3 Bnid [4%4
| 19GLN3 002-1r9-N3 uoli jsed jodoRIq SO 29l
L 191N 002-1rO-N3 uou jsed oseq 091
[1] |e8}s uogien Jeoedg 051
0] 193]S uogJen (apis dwnd) Buyidnod z-ovl
[1] |99}s uoque) Buijdnoo Jojop L-ovk
[1] G0.S INN 85 1O sseid Buydnoo ovL
| (9L€ ISIV) LOYY'L N3 (Y0€ 1SIV) L0EY' L N3 Jaoeds yeys z-L€1
| (9L€ ISIV) LOYY'L N3 (Y0€ 1SIV) LOEY' L N3 Jaoeds Jajjadw| L-L€L
L (9LE ISIV) LOYY'L N3 (¥0€ ISIV) LOEY'L NI Buu seddoyg 1-9€l
[1] |98}s uogsen Jaysem Buuesg 9eL
L (9L€ ISIV) LOYY'L N3 (Y0g 1SIV) L0EY" L N3 Jaysem g-gel
[1] LGZLINN v'9 [99)s U0gIed pajeld Jaysem y-Gel
[1] LSZLINN | TTXSLIXS 0L |931s ajeourz 1ousem e-gel
14 2659 INN EX0EXLL |99)s 9jed2UIZ J9ysem 1-GEL
L €289 INN GZX9 |98} ayeouz uid onse|3 zLel
1 |93)s uoque) Heys Joj uld L-lel
l €265 INN OLXOLN |981s uoque) Ma.0S 198 y-0€l
l €265 INN 9X9N €2€L INN 0L -2Y MaIOS Jo5 €-0¢l
¥ 1892 INN 9XSIN €2€L INN 0472V p1enb Bulidnood Joj meiog z-0€lL
€ €265 INN 8X9N €2€L INN 0L -2Y MaIOS Jo5 1-0g}
[ ZXSLN [98}s uoguen Inu 307 62l
[L] | 88sSINN 9N [93}s sjeoulz NN €821
14 8895 INN SN (9L€ ISIV) LOYY'L N3 |99)s uogJen NN z-8zl
14 8855 INN 9N [98}s 8jeoulz pou 8y Joj NN 1-821
6E4G INN GOX9LN 26 01 0-€ SYINAT
1€25 INN GSX9LIN 2-04 ‘0-01 ‘06 SYNAI
14 6ELSG INN OLX9N 1/868 OSI sse|o ybuauns g'g [98)s sjeoulz 2-0l ‘0-01 ‘0-6 SYINAT malog €1-0ct
6€.G INN 0EXTIN 2-2°0°C SYINAT
6€4G INN 0ZX8N L1 ‘0-L SYINAT
l LE6S INN 0ZX9N (9L€ ISIV) LOYP'L N3 (¥0€ ISIV) LOEY'L N3 Malog zL-ozh
6€.G INN OWAT ‘WA
14 8XSIN (9L€ ISIV) LOYY'L N3 (Y0€ ISIV) LOEY'L N3 M3I0g 6-02L
L€1G INN INAT
6€.G INN 0EXO0LN 0L 0 € GF NAT
[ 1/868 OSI Ssejo ybusns g'g |esls sjeoulz MaIog 8-0ZL
6E4G INN GZXTIN Z-ZPUB O-Z SY NAT
[L] | 6€L5INN OLX9N 1/868 OSI ssejo ybuals g'g [98)s djeoulz Mg yR4}
2 +€64 INN 0eXeLN 1L/868 OSI sseo Emcm‘:w 8'Q |98)s ajedulz oLore v A3 mc__usoo 10} MBIOS 9-021L
L€6S INN 0ZX8IN Z0 L SPINAT
[1] 6e25 INN OEXOLN 1/868 OSI Sse|o Jybusls g'g |99)s ajeauz OL OVE SV AT Buidnoo Joy masog g0zl
LE6S INN 0ZX8 W L-L PUEO-L G NA3
ANAT WA3 OINAT
uun | piepuelg | suoisuswiq |euajey Suwieu Jed oN
104 °'N

[1] See table on page 359

353

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)64

CONSTRUCTIONS

[L] |6€L5INN GZXO0LN 1/868 0S| Ssep Jybuang g'g [99)s sjeourz (19100 Buised) masds| -0zl
v | 1€6SINN OLXSIN €2€L INN 0L-2Y (leas |edjueyoaw) maIog| €-0Zh
L (9L€ ISIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 por-all| z-0Zl
14 1/868 OS| ssejo Jybuans §'g 99}s sjeourz pos-all| L-0Zb
3 €5'EXV0'vY'a Nd4 nad3a (109102 [e®S) Bury-O|  G-GLL
3 €5'€X66'72'd Nd4 nad3 (anoa]s abpuped) Bury-0| #-GLL
[ €G'eXy'961°'a Nd4 nad3a (Buises sjeipaunaiul) Bury-O| Z-GLL
z y£'6X99°0v2'a Wd4 nad3 (Buised seno) Bury-O| L-GLL
3 (9L€ I1SIV) LOvY'L N3 (¥0€ ISIV) LOEY'L N3 Buu Bunsnlpy| G-LL1L
3 (9L€ ISIV) LOYP'L N3 G0.S INN 85 10 sseig Joploy [eag|  p-LLL
3 (9L€ ISIV) LOVY'L N3 (¥0€ ISIV) LOEY'L N3 1e9s |eds [eOlUBYOdN|  €-LLI
L (9L€ ISIV) LOYP'L N3 (y0€ ISIV) LOEY'L N3 obpuyeo |ess [eoluBYOSN|  Z-LL1L
3 INd4/ uogieD / 8pigied uodliis |eas [eolueyodiN|  L-LLL
[ (91L€ ISIV) LOPY L N3/ 341d Buu Jsur J01L
[ 341d usng 180
12 Nd4 nad3a (Bnid) Bury-0|  1-620
3 Wd4 wad3 (6nid) Bury-0 6.0
3 (9L€ I1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Buueaq toy Bury| 2-020
0l (¥0€ ISIV) LOEY'L N3 Buueaq Joy Bury|  1-020
[ L9¢ obed o|qey g Buueaq |leg 950
[ (9L ISIV) LOYP'L N3 7 (YO€ ISIV) LOEY' L N3 Japjoy ysng €50
1 apigled usysbun] Bunesg| z-zs0
[1] apigJeo usysbun) Buueag| |-zS0
[ 19G1 N3-002-1r9-N3 uoul jsed Jaydepe Jojopy 150
Jasul Xoul Yum Jasu| Xoul yim

F o €262 INN 0LvY €2€L INN 0L-2Y nu saifedul 8vo
3 (9L€ ISIV) LOVY'L N3 (¥0€ ISIV) LOEY' L N3 Japjoy Bury 110
4 (0zv I1SIV) 20v'L N3 Japjoy abue|4 S0
L aplqled usysbun] enosls Bulesg| zZ-v¥0
[1] apigJeo usysbun) Buueaq ansals yeuys| L-#v0
| (9L€ ISIV) LOVY'L N3 (b0€ 1SIV) LOEY'L N3 (1omoy/ab1eyosip) arsals Jeus| 8-£v0
L (9L€ I1SIV) LOYY'L N3 (v0€ ISIV) LOEY'L N3 (Buuieaq wopoq) ansals yeus| L-ev0
L (9L€ ISIV) LOVY' L N3 (b0€ 1SIV) LOEY'L N3 (juawysnipe) aneals yeus| 9-€¥0
3 (9L€ I1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 (abeys se|) ansvals Yeus| G-ev0
1] (9L ISIV) LOYP'L N3 (v0€ ISIV) LOEY'L N3 (juswysnipe) aneals Yeus| -0
[ (9L€ I1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 (Buueaq) aneals yeus| €-€v0
] (9L€ ISIV) LOYP'L N3 (v0€ ISIV) LOEY'L N3 (eveipauuielul) arsals Yeus|  Z-£v0
3 (9L€ I1SIV) LOovy'L N3 (¥0€ ISIV) LOEY' L N3 (lees |eojueYOBW) BAGAIS US|  L-E40
[L] | ¥099 INN 06X8XZl |99} uoquen Koyi| 1-6€0
3 (9L€ ISIV) LOYP'L N3 yeus L0
Jaledwi psonpay|  1-120

] (9L€ I1SIV) LOYY'L N3 (v0€ ISIV) LOEY'L N3
Jajledw) 120
L (9L€ I1SIV) LOYY'L N3 (¥0€ ISIV) LOEY'L N3 Jonoo uomdNg( L0
[ (ore _err,mv__mmmwr N3 | (voe _MMV__F.MMWP N3 961 N3 -082-1rD N3 uoi 158D Jan0d Buisen 110
3 (9L€1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Buises JenO 200
3 (91L€ISIV) LOYY L N3 | ($OE ISIV) LOEY L NI | 1L9SL N -052-1rD NI uoa jsed Buiseo woypog 900
3 (9L€1SIV) LOoYY'L N3 (¥0€ ISIV) LOEY' L N3 Buiseo abieyosial  $-500
[ (9L ISIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Buises sjeipaundlul|  Z-500

TNAZ WA3 OINAT
uunp piepuels | suolsuawiq Suleu Jed oN
104 "N

[1] See table on page 360

354

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

50 Hz

EVM(.)64

CONSTRUCTIONS

Z |@81s uogied wm:m_u_ €19
[l | zevZINN orr'a 080 [99)s uoqied Buu deus odA1-0| €-v/2
GEGL INN X} v ‘0¥ ¥OWNAT
[l] | sevZINn s9°a 080 I99)s uoqued €% 012 YINAT Buu deus 8dA1-0| z-viz
GEYLINN 0s'a 22 0L WA3
L | GEYLINN 9z'a (9LE ISIV) LOVY'L N3 (b0€ 1SIV) LOEY'L N3 Buu deus odA1-0| L-¥L2
14 (9L€1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Jaysem Bnid( L-€2
I (9LE ISIV) LOVY'L N3 (v0€ 1SIV) LOEY'L N3 Jaysem Bnid €2
4 (¥0€ ISIV) LOEY'L N3 psenb buydnod|  sve
12 (9L ISIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Bnid| 1-zlz
3 (9L€ ISIV) LOVY'L N3 (¥0€ ISIV) LOEY' L N3 Bnig 4%
L 19G1 N3-002-1r9-N3 uou ised 1o50RIq JOJON 291
I 19S5} N3 002-1r9-N3 uoit jsed - aseq 091
[1] |oa)s uoglen J80edg oSl
[1] |98)s uogten (apis dwnd) buydnod| z-0¥1
:._ |9®1s uogie) mr___n_:Oo JOJON L-0vL
1] G0/S INN 8S LO sseig Buydnod oyl
L (9L€ISIV) LOYY'L N3 (v0€ ISIV) LOEY L N3 Jooeds yeus| z-L€L
I (9L€ ISIV) LOVY'L N3 (b0€ 1SIV) LOEY'L N3 Jooeds Jojladwi|  L-L€L
3 (9L€1SIV) LOYY'L N3 (¥0€ ISIV) LOEY'L N3 Buu seddois| L-9¢1
[1] |98)s uoglen Jaysem Buneag ocl
3 9a (9L€1SIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Joysep| G-GEL
[l | 1s2LINN ¥'9 [98}s uoqJed pajeld Joysem| t-GeL
[L] | LSLLINN | 2'2XS'2LXS 0L |o8}s sjeourz Jaysepm| e-Gel
14 2699 INN EX0EXLL |93)s ajeoulz seysep| 1-sel
L | €289INN SZX9 |08} sjeourz - udonsel3| z-lel
I [9®)s uogien yeysopuld| L-lEL
L | €265 INN 0LXOLN [o8}s sjeouz masoses|  #-0gh
L | €265 INN XN (9L ISIV) LOYY'L N3 (v0€ ISIV) LOEY'L N3 masosieg| €-0gh
¥ | 289NN 9XSIN €Z€. INN 0L-2Y pJenb Buiidnoo Joy malosg|  Z-0€h
€ | €265 INN 8X9N €2€L INN 0L-2Y masosieg| L-0gh
1] |93} uogied nu 007 62l
[1] |88gsINN 9L |99)s 8jeoulz N[ €-821
¥ | 8885 INN SN (9L ISIV) LOYY'L N3 [o8)s uoqued INN| Z-8zL
¥ | 8885 INN 9LIN |08} sjeourz poian oy INN|  L-8ZL
6€.5 INN GOX9LIN G0l Z ¥9 WA
L€1G INN GSX9LIN L 019 ¥9 WA3
14 1/868 OS| ssefo Jybuais g'g [99}s ajeauz . masos| €1-0zt
6€.G INN 0EXZLIN 220} ¥9 WA3
6€.S INN 0ZX8 N -1 ¥9 WA
L | L€6S INN 0ZX9 N (9L ISIV) LOYY'L N3 (¥0€ ISIV) LOEY' L N3 Mmalog| Z1-0Zt
6€.G INN 8XSN . ) OWAI ‘WA3
14 (9L€ ISIV) LOYP'L N3 (¥0€ ISIV) LOEY' L N3 MmaIg|  6-0Z)
1€1G INN 8XSIN INAT
6€.S INN 0EXOLN
] 1/868 OSI ssef Jybuais g'g (08} sjeouz e — mang| 8-0zL
6€.5 INN 0LX9 N zZ 0} Y9WAI
[L] |6€.5INN 0LX9 N |9®)s ejeouz masos|  /-0zl
z LE6S INN OEXZII 1/868 0S| ssep Jybuang g'g [98)s ajeourz Lw;.mf u.:m ¢ronA3 Buiidnoo Joy masog|  9-0Z)
1€65 INN 0ZX8 ZZ 1L 0L Y9 WAS
0l 6eL5 INA OEXOMA 1/868 OS| ssefo Jybuais g'g [99}s ajeourz soud pue € 9 A3 Buidnoo Joy masog|  G-0Zh
1€65 INN 0ZX8 -1 ¥9 WA3
TNAZ OINAT
uunp piepuels | suolsuawiq suleu Med oN
104 "N

[1] See table on page 360

355

EBARA PUMPS EUROPE S.p.A.



Rev. D

50 Hz

EVM(.)3-5

T T / T / v / I°r4 ve ZZ 01€9 T z T T z T T z 1C vz z 1T §'G/S4vT §
T T / T / / / € [44 77 80€9 T z T T z T T z 6T 2z z 6T 0'v/S422 §
T T / T / / / (014 6T 77 80€9 T z T T z T T z 9T 6T z 9T 0'7/SH6T §
T T / T / / / 6T 8T 77 80€9 T 14 T T 4 T T 4 ST 8T z ST 0'v/S48T §
T T z T 14 / / LT 9T 77 80€9 T z T T z T T z €T 9T z €T 0'€/SNIT §
T T z T 14 / / ST vT 77 80€9 T z T T z T T z T vT z T 0'€/SNVT §
T T 4 T 14 / / €T 4 77 1029 T z T T z T T z 6 43 z 6 TTSNZT §
T T 4 T 14 / / [ 1T 77 1029 T 4 T T 4 T T z 8 1T z 8 Z'ZISNTT §
T T [4 T 14 / / 1T 0T 77 1029 T T T T T T T T 8 0T T 8 2'ZISNOT §
/ / 4 / 4 / [4 6 8 / / T / T T T T T 9 8 T 9 S'T/SN8 G
/ / 4 / 14 / 4 8 L / / T / T T T T T S L T S GT/SNL S
/ / 4 / 14 / 4 L 9 / / T / T T T T T 14 9 T 14 T'T/SN9 §
/ / [4 / 14 / [4 9 S / / T / T T T T T € S T € T'T/SNG §
/ / 4 / 4 / [4 S 4 / / T / T T T T T 4 4 T 4 GL'0/SNV §
/ / 4 / 14 / 4 14 € / / T / T T T T T T € T T SG'0/SNE §
/ / 4 / 14 / 4 € 4 / / T / T T T T T / z T / LE°0/SNZ §
T T / T / / / le 9z 77 1029 T 14 T T 4 / / 4 €e 9z z €e 0'€/S492 €
T T / T / / / ford 4 77 1029 T z T T z / / z 6T e z 6T zelsdze €
T T / T / / / 6T 8T 77 1029 T z T T z / / z ST 8T z ST z2/S48T €
/ z / 14 / z 9T ST / / z / T z / / z 4 ST z 4 ST/SNST €
/ 4 / 14 / 4 vT €T / / 4 / T 4 / / 4 (0] €T 4 (0] S'T/SNET €
/ 4 / 14 / z T T / / T / T T / / T 6 1T T 6 TT/SNTT €
/ 14 / 14 / z 0T 6 / / T / T T / / T L 0T T L T'T/SN6 €
/ z / 4 / z 8 L / / T / T T / / T S L T S SL0/SNL €
/ z / 14 / z L 9 / / T / T T / / T 14 9 T 14 SL°0/SN9 €
/ 4 / 14 / 14 9 S / / T / T T / / T € S T € GG'0/SNS €
/ / / 14 / 4 S 14 / / T / T T / / T z 14 T z GS'0/SNY €
/ 4 / v / 4 14 € / / T / T T / / T T € T T LE'0/SNE €
/ z / 14 / z € z / / T / T T / / T / z T / LE'0/SNT €
€12 6T¢ | 0ST |1T-02T|8-0¢T | S-02T | 2-GTT | 0T | odAyBuuesg | 950 |[7T-250 [ TSO | 9v0 | T-¥¥0 | 9-€¥0 | S-€¥0 | €-€¥0 | 2-€¥0 | T20 [ €-S00 | 2-500
(INAZ
|opow 1o} Aypuend adAl dwnd

VERTICAL PUMPS
CONSTRUCTIONS

356

EBARA PUMPS EUROPE S.p.A.




Rev. D

50 Hz

EVM(.)10-18

CONSTRUCTIONS

/ T T T € 4 / 14 € JA 9T T ZZ €1€9 T z T z T z €T z €T ST/G49T 8T
T T T € 4 / ¥ € 9T ST T ZZ €1€9 T 4 T z T z 43 4 T ST/G4ST 8T

/ T T T € 12 / ¥ € ST vT T ZZ €1€9 T z T z T z 1T z T ST/S4YT 8T
/ T T T € 4 / ¥ € €1 43 T ZZ €1€9 T z T z T z 6 C 6 TT/S42T 8T
T T T € ¥ / 14 € T 0T T ZZ €1€9 T z T z T z L z L TT/S40T 8T

T T T T / / / ¥ 6 8 / ZZ 01€9 T T T T T T 9 T 9 §'//548 8T
T T T / T / / / 4 / 8 L / ZZ 01€9 T T T T T T S T S G'//S4. 8T
T T T ! T / / / 14 L 9 / 77 01€9 T T T T T T 14 T 12 §'G/S49 8T
T T T / T / / / v / 9 S / ZZ 01€9 T T T T T T € T € §'G/GdS 8T
T T T ! T / / / / S 14 / 77 80€9 T T T T T T z T 4 0'7/S4¥ 8T
/ T / / / / ! [4 v € / / / T / T T T T T T 0'€/S€E 8T

/ 1 / / / / / 4 € 4 / / / T / T T T / T / 2'2/S4T 8T

T T / T € ¥ / 14 €2 [44 T ZZ €1€9 T z T z T z 6T z 6T TT/5422 0T

T T T / T / / / v 12 [or4 / ZZ 0T€9 T z T z T z LT z LT §'//S40Z 0T
T T T / T / / / 14 6T 8T / ZZ 01€9 T z T z T z ST z ST §'//S48T 0T
T T T / T / / / v LT 9T / ZZ 0T€9 T z T z T z €1 4 €T §'//S49T 0T
T T T / T / / / 14 9T ST / 77 01€9 T z T z T z 4 z 4} §'G/SHST 0T
T T T z T / / ¥ 14 ST ¥T / ZZ 01€9 T z T z T z 1T z 1T S'G/SNYT 0T
T T T z T / / 14 14 €T [4) / 77 01€9 T z T z T z 6 z 6 G'G/SNZT 0T
T T T z T / / ¥ / / zT 1T / ZZ 80€9 T T T T T T 6 T 6 0'7/SNTT 0T
T T T z T / / 14 / / 1T 0T / 77 80€9 T T T T T T 8 T 8 0'7/SNOT 0T
T T T z T / / ¥ / 6 8 / 77 80€9 T T T T T T 9 8 T 9 0°€/SN8 0T
T T T z T / / ¥ / L 9 / ZZ 1029 T T T T T T 14 9 T 4 2'Z/SN9 0T
T T T z T / / ¥ 9 [ / 77 1029 T T T T T T € S T € 2'2ISNS 0T
/ / T 14 / / / 14 S 14 / / / T / T T T z 14 T z S'T/SNY 0T
/ 1 4 / / / 14 v € / / / T / T T T T € T T T'T/SNE 0T
T 14 / / / v € z / / / T / T T T z T / S.'0/SNZ 0T

1% 61C ¥-GET | €-82T |1T-02T 2-STT | 20T | T1-0.0 | @dA)Bulresg 250 | TS0 ¥¥0 | G-€V0 | €€V 20 | €500 | 2-500
|opouw Jo} Auzuend wamw_.s_%M:n_

VERTICAL PUMPS

357

EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)32 50 Hz

e
e ~ ~ - v v~~~ ~ ~ -~~~ -~~~ ]~~~ u e~~~
~
~
o
R B R R R R R e e e B I e R B e e B R B IR B B S I I N
NS
~
o
B~ ~~ v/ v v vl v vl v v v v v v v v v v - -~ ~
2
o
1= ] S N R R e B R Rl e B e e e R N I I I I
3
-
<] ~|~|~|~|~|[~|c||=|cle|c]| ||| ||| === ~| ]| -
I
-
)
e Rl R I I N N e e e e T S S N [ (N N N [ N P S
©
O~ ~~ /-~~~ -~~~ ~ -~~~ ]~~~ s~~~
e
b
B~~~ ===~ o 00000 o0o0o0o0o000000o0000
e
°Q
B~ ~ =~~~ =~ =2 ¢¥ ¥/ ¥ ¥ ¥ T ¥ T T T ¥ LTS
@
N[~ ~~/~~ ~ ~ |~~~ ~~~~ ]~~~ =~~~ -
d
°?
IR SR A R AR AR SRR AR A AR AR AR A R R S
B
il
IR IR AR IR AR AR AR SR AR SR AR AR SR AR SR AR AR SR AR AR AR
B
by
Q- "~~~ =~ " m om0 0 0000000000000
s
QY v~~~ St T T T T T Y T YT T T TS
I
I SR A R AR AR SRR AR AR AR AR R A S R S
B
- S
3 Blm oo <+ v 0 wvolo~~o®o oo 22 - dY2eI T LR
<] -
E
= w0
2 e S B B B e e e e e Rl R e I I I B () R IR I I I P (N (N P
- =
=
3 ~
<] Sl v w0 wolo~NN®O®O®Oo 22 YN eST T
2
Ny
[ R R R R R R e e e R R R e R e I R R N R R
=
S
- B T Rl R e e B R R B I e I R R e I R e R I R I
o
] R R R A R b A R R h A A A A S A R B A R AR R AR AR
S
b S N R e e e I I R RN
o
Ny
I[- mr s s s s s s s s s s s s NN NN NN NN NN
S
b
B R R R e R N R A AR AR
S
@
B R R R R R R B O A A R R R AR R RN
S
Q
g\\\r‘—wmmmvvmmgomr\r\r\r\oocommg,?::
S
Y
1.3 S N N R N o R Rl R R e R R B R e I R R R N R I
o
=3
M BRI I I R N N N N R N N R
=)
I N~ o - oo s~ oo o ~ooo o222
hll R e S R e R R e B R R R R R R R R R
°Q
Blr v - m - v v v - s v s s - - - - NN NN NN NN
=3
§
B~~~ -8 a8 ®o s vOoLoOoon~NNNN®© oo 22 T C
S
o
e~
== O 1 LW LW LW o
= 00OV WL LWL WL WLWLWLWLWLL LW W W W W W W W
a g e A e A N e I I I I I
EQ LI RN Q2D Q2SS - dAD DT
S NN OO T 00O ONN®D®OOO O T T T - s s e e e
o NN N NN NN NN NN NN NN NN NN NN NN NN NN
AR ER AR ER AR ER AR R AR ER AR AR AR E R AR AR R R AR AR AR AR HR N AR AR AR )

358

:

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)45 50 Hz

rd
e ~ - -~~~ ~ ]~~~ -]~~~ -~~~ -~
NS
~
Ry
N B R Rl Rl R I I R R I [ S P S I S
~
~
Q
B~ ~ - vl c v v v v v -~ -~~~ -~
2
o
=Y S R e R R e R I R R e I I
I
-
IR R R R S R o I = o IR [ [ [ [N R [ [y
I
-
)
e v~~~ =~~~ =~~~ =~~~
©
Ll Rl I R A R R e e N N T R I I
e
b
B~~~ ~ oo o ononnonononooooo0oo
e
?
B~~~ - ¢ ¥ ¥ % ¥ ¢ ¥ ¢/ ¥ ¢/ /¥
@
Nl ~ ~ ~ ~ ~ ~ ~~ -~~~ -~
d
?
KR AR AR AR AR AR AR AR A AR SR AR SR AR AR SR
o
bl
HIEIAIRIRIRIR IR AR AR AR AR AR SR R A A
o
by
Q- ~ oo om e 000 0000 o0o0o
4
QN N~ ~ ¥ ¥ T T T T T T T T T T
I
Q- — -~ ¥ T T T T T T YT YT
— -
3
] S
£ Olc v a8 oo s 0o oon~N~N000 o 22
5 -
L
£ 5 oo
£ Sl N am ot TLL O o N~NN®D® o 2L
] -
S
(<]
Sl NN oo oot 000 O ~NN~N® OO
Ny
[ BRI R R R R R I e N I
I
S
[ B R R R R Rl R Rl R e e e I R I
Bl oo v 0w O O N~NN~N® oo 22
-
Ll S N e R R R R R o N
0
=3
3 N
S
h{
Q- ~ ~ ~ |~~~ - v v v vl - <«
3
S
@
[} S A N N R R R R R e
<
S
o
-~ - NN NNo o0 0o o N~N~N®®
S
T I I S R B e e e e e B B e e e I R e e
3
=3
M G R T A T e e N e A
=)
Jl=- -~ oa ¢ ®ow <+ owv~o o~ o
9
B~ v~ ossvw O O0~NN®B0 22
=3
o
e -
.2-;, [T Ro)
WL WL LWL WLWLLL LWL 0n0nLCE LT
oS [rigi it il il iR ik i il i i i i i i i i i il g
EQ T dYdeeydoo
S CTlr A NSO T T WO ONN DD -
o VWL L VLYoo oo oo oo o
SRR IR IR AN IR IR IR IR IR IR K I A IR K BRI AN

359

:

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

consTrucTions: EVM(.)64 50 Hz

i
Tl v -~~~ ~~ |~ |~~~ ~~~ ]~~~ =]~~~
N
~
o
Flw v vl v m e =~~~ ~~~~ ~]~~~
~
I
=)
el R R e e R R e R R e e I N A N N R RS RN
Q
N e e R I I I B I
3
I B R R Rl R e B R B I e B e B I B I I IR R e
3
)
Sl = =~~~ ~ ~ |~~~ ~ |~ ~ ]~~~ |~~~ ~~~]~
i
©
Kl B R R R R R R Rl R R R e R R R I I R I A IR I
b
2~~~ o oo 0000000 o0o0o0o0o0o0o00o00o0
?
B~ = = ¢ ¥ T T ¥ T T T T F T T T T T
@
Ql~ ~ ~ |~~~ ~~ |~~~ ~~ - e = ||~
?
IR AR SR AR A AR AR AR AR AR AR AR AR AR R AR R AR AR SR AR
il
HFIRIAIRIRIR AR IR AR AR AR SR AR SR AR AR SR A R A I
by
K IR I A R R R R R A N U A S NI N S S R
o
bl
Qo ~~ v v/ v ¥ v/ ¥ ¥ YT YT TT YT T YT
o
¥
IR AR IR AR AR AR SR AR SR AR IR S AR A AR A I
!
<] o
E Ole -~ NN/ ® oo o T 0L 0b oo oo o~~~
5 -
e
2
£ Sl NN ®® oY T TO L WL0L o oo o N~N~NN~
s
S
(<2
S|l N N[O o oo mmm ot T 000w o o o
[ B R N R T R e e B R B e e B e B I B I I I e B
R
S
- B e e i e Rl Rl Rl R R e R R e R N I
Bl ~ v m oo o OO OL WO OO O NN~
5
A~~~ ~ -~~~ - s~
0
=3
Y B R R i R R i R R R e R R R R Rl R R R R Rl R R
S
h
) S N N e T R R R R R R R N
<
S
g
- X S S S N R R R e e R Rl R e Rl Rl Rl R R R R e e
<
S
«
[ R A R R R R R R R R R R S AR AR SRCRRCRRT]
S
<
) I R R R N
3
=3
w
bl R R e e R e S e e N R AR R AR
=)
Sl -~ -/~ - o~ o N® T Lo 0o T 0o
= O R R i R R R RN R
N
Bl - 8N N ® o oo T T T0L0n o0 oo~~~
S
o
e -
>
L D W WL WL LWL LWL WYL YLnn0nW0LW0L0n0n 0o
o = [righiivia il viah i vieh i vial i vidh f vl vie g vih vl viah f viel i via i v viaf vidh f il B vi  vid
EQ T2YT2 YT TN 7T 9 QT
H R IR TR AR R R R N N S R AT AT - RN R S
I YYTYIYETYIIYTTIYITITTIIYTETITT ST ITT ST Y
S D DD DD DDD DD DDDDDDD DD DD DD

360

ESARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM
consTrucTions: EVM(.)32-64 50 Hz

Pump Type BEARING Pump Type BEARING Pump Type BEARING

EVM (.) TYPE EVM (.) TYPE EVM (.) TYPE
32 1-0F5/2.2 / 45 1-1F5/3.0 / 64 1-1F5/4.0 /
32 2-2F5/3.0 / 45 1-0F5/4.0 / 64 1-0F5/5.5 631022 C3
32 2-0F5/4.0 / 45 2-2F5/5.5 631022 C3 64 2-2F5/7.5 631022 C3
32 3-3F5/5.5 6310 22 C3 45 2-0F5/7.5 6310 ZZ C3 64 2-1F5/11 631322 C3
32 3-0F5/5.5 6310 ZZ C3 45 3-2F5/11 631322 C3 64 2-0F5/11 631322 C3
32 4-3F5/75 6310 2Z C3 45 3-OF5/11 631322 C3 64 3-3F5/15 631322 C3
32 4-0F5/7.5 631022 C3 45 4-2F5/15 631322 C3 64 3-2F5/15 631322 C3
32 5-3F5/11 631322 C3 45 4-0F5/15 631322 C3 64 3-1F5/15 631322 C3
32 5-0F5/11 631322 C3 45 5-2F5/18.5 631322 C3 64 3-0F5/18.5 631322 C3
32 6-3F5/11 631322 C3 45 5-0F5/18.5 631322 C3 64 4-3F5/18.5 631322 C3
32 6-0F5/11 631322 C3 45 6-2F5/22 631522 C3 64 4-2F5/18.5 631322 C3
32 7-3F5/15 631322 C3 45 6-0F5/22 631522 C3 64 4-1F5/22 631522 C3
32 7-0F5/15 631322 C3 45 7-2F5/30 6315 ZZDT C3 * 64 4-0F5/22 631522 C3
32 8-3F5/15 631322 C3 45 7-0F5/30 6315 2ZDT C3 * 64 5-3F5/30 63152ZDT C3*
32 8-0F5/15 631322 C3 45 8-2F5/30 63152ZDT C3* 64 5-2F5/30 63152ZDT C3*
32 9-3F5/18.5 631322 C3 45 8-0F5/30 63152ZDT C3* 64 5-1F5/30 63152ZDT C3*
32 9-0F5/18.5 631322 C3 45 9-2F5/3.0 6315 ZZDT C3* 64 5-0F5/30 6315 ZZDT C3*
32 10-3F5/18.5 631322 C3 45 9-0F5/37 6315 2ZDT C3 * 64 6-3F5/30 63152ZDT C3*
32 10-1F5/18.5 631322 C3 45 10-2F5/37 63152ZDT C3* 64 6-2F5/30 63152ZDT C3*
32 11-3F5/22 631522 C3 45 10-0F5/37 63152ZDT C3* 64 6-1F5/37 63152ZDT C3*
32 11-0F5/22 631522 C3 64 6-0F5/37 63152ZDT C3*
32 12-3F5/22 631522 C3 64 7-3F5/37 6315 ZZDT C3*
32 12-1F5/22 631522 C3 64 7-2F5/37 63152ZDT C3*
32 13-3F5/30 63152ZDT C3* 64 7-1F5/37 63152ZDT C3*
32 13-0F5/30 63152ZDT C3*
32 14-3F5/30 6315 ZZDT C3 *
32 14-0F5/30 6315 2ZDT C3 *

* DT= Two single row deep groove ball bearings matched for paired mounting in a tandem arrangement.

361

5 ESARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS

EVM

consTrucTions EVM(.)3-18 50 Hz
Mechanical seal
D1
ol
J—E j
g
S
1
J
Pump | Size | Max.working Manufacturer Reference d D, L Lo | Lo Material
Type |[mm]| pressure [mm]| [mm]| [mm]| [mm]| [mm]
Pel Manuf Description Material t t'1n r t2 3
’ P Description statio .ary 0 ar_'y rubber
seal ring | seal ring
3-5 12.7 ;g RMG1/12.7-G82 12.7| 23 | 235| 16 7.5
10 | 16 16 Burgmann| RMG1/16-G30 QIBVGG | 16 | 27 | 27 | 17 | 10 | C@rpon | Silicon | gy gy
25 graphite | carbide
18 20 ;2 RMG1/20-G82 20 35 33 | 215|115
(1) EPDM Wras approved for EVMW

B EaARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMP EVM
consTrRucTions: EVM(.)32-45

50Hz

Mechanical seal

D1
S ~ 3
-
1 1
-
it ar » 2
S 3
L
Up to 2.5 MPa From 2.5 to 3.0 MPa
Size | Max. Manufacturer Reference d D L L | L L | 'S Material
[mm]| working [mm]| [mm]| [mm]| [mm1| [mm1|[mm]|[mm]
pressure 1 2 3
MPa ; .
[ ] Manuf. Description Matgngl statlon.ary r°tafy rubber
Description seal ring | seal ring
25 2.5 Burgmann RMG1-28-G82 Q1BvaG | 25 | 43 39 | 265|125| 50 | 3.5 Carbqn Slllcpn FPM
3 H7N-28-G9 50 | 385|115 - - | graphite | carbide

363
——J =TT

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM
piMensions EVM(.)3-18 50 Hz

B

H3
———
&

L 7 =
i 7
) | { |
{ 1 i 1 ]
¢ 3/8
+ | 7
;|
(@\]
T
SN N* HOLES D3
u | \ G 3/8
< Al @ ﬁ@ S J@J@)é} T
C=—f=—r] = —
L BM | N4 HOLES BF | D1
BL BY1
F BW
E

{
SA
SG
D2

7| B e
BM \ ] H8 N4 HOLES BF
BL \ BY1
E BW

See dimensions pages 401, 402.
400

% E2SARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM
piMensions EVM(.)3-18 50 Hz

Pump Type Pmax. | Motor . . Weight
EVM [MPa] Size Dimensions [mm] kel
2 H H2 H3 F E B C BM| BL |[BY1|BW| SA | SG| D1 | D2 | H8 | SN| D3 | BF | BH| A a Pump +
1) 1) 1) g motor
1~ | 3~ 1~ | 3~ | 1~ | 3~ o1~ | 3~
32N5/0.37 16 71 50 | 241 | 215| 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@105 11 | 17 | 17
33N5/0.37 16 71 50 | 262 | 215| 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@105 12 | 17 | 17
34N5/0.55 16 71 50 | 283 | 215| 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@105 12 | 19 | 19
35N5/0.55 16 71 50 | 304 | 215| 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MI0O| @12| 20 (@105 13 | 20 | 19
36N5/0.75 16 80 50 | 335 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@120 14 | 25 | 22
3 7N5/0.75 16 80 50 | 356 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 |M10| @12| 20 |@120| 14 | 25 | 22
39N5/1.1 16 80 50 | 398 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 | G 1" N 75 - - 2 |M10| @12| 20 (@120 15 | 27 | 24
31IN5/1.1 16 80 50 | 440 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@120| 16 | 28 | 26
¢ 313N5/15 16 90S 50 | 492 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 |M10| @12| 20 |@140| 18 | 35 | 30
¢ 315N5/15 16 90S 50 | 534 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 | G 1" - 75 - - 2 | MIO| @12| 20 (@140 19 | 37 | 32
¢ 318F52.2 25 90L 75 | 632 | 278 | 267 - 250 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 | @25 | @63 | P85 |P115| 16 4 | Q14| @12| 20 |@140| 25 | 44 | 41
¢ 322F5)22 25 90L 75 | 717 | 278 | 267 - 250 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 | @25 | @63 | P85 |P115| 16 4 | @14 | @12| 20 |@140| 27 | 47 | 43
326F5/3.0 25 100 75 | 811 - 306 - 250 - 196 - 145 | 100 | 149 | 180 | 210 | @25 | @63 | @85 | D115 16 4 | @14| @12| 20 (@160 31 - 50
5 2N5/0.37 16 71 50 | 255 | 215 | 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 |G1'1/4| - 75 - - 2 | MI0O| @12| 20 (@105 12 | 17 | 17
5 3N5/0.55 16 71 50 | 283 | 215| 215 | 160 | 206 | 142 | 142 | 129 | 112 | 100 | 149 | 180 | 210 |G1"'1/4| - 75 - - 2 |M10| @12| 20 (@105 12 | 19 | 18
54N5/0.75 16 80 50 | 321|232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 |G 1"'1/4| - 75 - - 2 |M10| @12| 20 |@120| 13 | 24 | 21
55N5/1.1 16 80 50 | 349 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - 2 | MIO| @12| 20 (@120| 14 | 25 | 23
56N5/1.1 16 80 50 | 377 | 232 | 232 | 160 | 206 | 160 | 160 | 150 | 129 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - 2 |M10| @12| 20 |@120| 14 | 26 | 24
4 57N5/15 16 90S 50 | 415 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - 2 | MIO| @12| 20 (@140 15 | 33 | 28
4 58N5/15 16 90S 50 | 443 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - 2 | MIO| @12| 20 (@140 16 | 33 | 28
4 510N5/2.2 16 90L 50 | 509 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 |G 1"1/4| - 75 - - 2 | MIO| @12| 20 (@140 18 | 37 | 34
¢ 51IN5/2.2 16 90L 50 | 537 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 |G1'1/4| - 75 - - 2 | MIO| @12| 20 (@140 19 | 39 | 35
¢ 512N5/2.2 16 90L 50 | 565 | 278 | 267 | 160 | 206 | 172 | 180 | 140 | 138 | 100 | 149 | 180 | 210 |G1'1/4| - 75 - - 2 | MI0| @12| 20 (@140 20 | 39 | 36
514N5/3.0 16 100 50 | 631 - 306 | 160 | 206 - 196 - 145 | 100 | 149 | 180 | 210 |G1'1/4| - 75 - - 2 | M10| @12 | 20 |@160| 22 - 41
516N5/3.0 16 100 50 | 688 - 306 | 160 | 206 - 196 - 145 | 100 | 149 | 180 | 210 |G1'1/4| - 75 - - 2 | M10| @12 | 20 |@160| 23 - 43
5 18F5/4.0 25 112 75 | 769 - 306 - 250 - 196 - 145 | 100 | 149 | 180 | 210 | @32 | @71 |@100B140| 20 4 | @14| @12| 20 |@160| 29 - 56
5 19F5/4.0 25 112 75 | 797 - 306 - 250 - 196 - 145 | 100 | 149 | 180 | 210 | @32 | @71 |@100B140| 20 4 | @14 | @12| 20 |@160| 29 - 57
5 22F5/4.0 25 112 75 | 881 - 306 - 250 - 196 - 145 | 100 | 149 | 180 | 210 | @32 | @71 |D100| @140 20 4 | @14 | @12| 20 |@160| 31 - 59
5 24F5/5.5 25 132 75 | 948 - 328 - 250 - 220 - 161 | 100 | 149 | 180 | 210 | @32 | @71 |D100| D140 20 4 | @14 | @12| 20 |@300| 35 - 67

1) AEG motor dimensions except 4 Single phase motors manufactured by Ebara
2) 1.6 MPa=16 bar
2.5 MPa=25 bar

401

E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

piMensions EVM(.)3-18

Pump Type Pmax. | Motor _ _ Weight
EVM [MPa] Size Dimensions [mm] ka]
2 H H2 H3 F E B [} BM| BL [BYl| BW| SA | SG| D1 | D2 | H3 | SN| D3| BF | BH| A a Pump +
1) 1) 1) g motor
1~ | 3- 1- | 3- | 1~ | 3- RS
10 2N5/0.75 16 80 80 | 333 | 232|232 | 200 | 252 | 160 | 160 | 150 | 129 | 130 | 190 | 215 | 250 |G1"1/2| - 100 - - 2 |M12| @12| 20 |@120] 18 | 29 | 26
10 3N5/1.1 16 80 80 | 363 | 232 | 232 | 200 | 252 | 160 | 160 | 150 | 129 | 130 | 190 | 215 | 250 |G1"'1/2| - 100 - - 2 |M12| @12| 20 |@120] 20 | 31 | 29
¢ 104N5/15 16 90S 80 | 403 | 278 | 267 | 200 | 252 | 172 | 180 | 140 | 138 | 130 | 190 | 215 | 250 |G1"1/2| - 100 - - 2 | M12| @12| 20 |@140| 22 | 40 | 35
¢ 105N5/2.2 16 90L 80 | 443 | 278 | 267 | 200 | 252 | 172 | 180 | 140 | 138 | 130 | 190 | 215 | 250 |G1"1/2| - 100 - - 2 | M12| @12| 20 |@140| 23 | 42 | 39
¢ 106N5/2.2 1.6 90L 80 | 473 | 278 | 267 | 200 | 252 | 172 | 180 | 140 | 138 | 130 | 190 | 215 | 250 |G 1"1/2| - 100 - - 2 | M12| @12| 20 |D140| 24 | 44 | 40
10 8N5/3.0 1.6 100 80 | 543 | - | 306 | 200 | 252 - 196 - 145 | 130 | 190 | 215 | 250 |G1'1/2| - 100 - - 2 | M12| @12| 20 |@160| 31 - 50
10 10N5/4.0 1.6 112 80 | 603 | - | 306 | 200 | 252 - 196 - 145 | 130 | 190 | 215 | 250 |G1"'1/2| - 100 - - 2 | M12| @12 | 20 |@160| 32 - 59
10 11N5/4.0 1.6 112 80 | 633 | - | 306 | 200 | 252 - 196 - 145 | 130 | 190 | 215 | 250 |G1"'1/2| - 100 - - 2 | M12| @12 | 20 |@160| 34 - 61
10 12N5/5.5 16 132 80 | 674 | - | 328| 200 | 252 - 220 - 161 | 130 | 190 | 215 | 250 |G1'1/2| - 100 - - 2 | M12| @12 | 20 |@300| 39 - 71
10 14N5/5.5 16 132 80 | 734 | - | 328| 200 | 252 - 220 - 161 | 130 | 190 | 215 | 250 |G1'1/2| - 100 - - 2 | M12| @12 | 20 |@300| 42 - 74
10 15F5/5.5 25 132 80 | 764 | - | 328 - 280 = 220 = 161 | 130 | 190 | 215 | 250 | @40 | @79 |@110|@150| 21 4 | @18 | @12 | 20 |@300| 46 - 78
10 16F5/7.5 25 132 80 | 794 | - | 328 - 280 = 220 = 161 | 130 | 190 | 215 | 250 | @40 | @79 |@110|@150| 21 4 | @18 | @12 | 20 |@300| 48 - 86
10 18F5/7.5 25 132 80 | 854 | - | 328 - 280 = 220 = 161 | 130 | 190 | 215 | 250 | @40 | @79 |@110|@150| 21 4 | @18 | @12 | 20 |@300| 50 - 88
10 20F5/7.5 25 132 80 | 915 | - 328 - 280 - 220 - 161 | 130 | 190 | 215 | 250 | @40 | @79 |@110|@150| 21 4 | @18 | @12 | 20 |@300| 50 - 88
10 22F5/11 25 160M 80 |1005| - | 403 - 280 - 248 - 195 | 130 | 190 | 215 | 250 | @40 | @79 |@110|@150| 21 4 | @18 | @12 | 20 |@350| 56 - 113
& 182F522 16 90L 90 | 373|278 | 267 | - | 300 | 172| 180 | 140 | 138 | 130 | 190 | 215 | 250 | @50 | P92 |P125|@165| 21 4 | @18 | @12 | 20 |@140| 27 | 47 | 43
18 3F5/3.0 16 100 90 | 423| - [306| - |300| - |196| - | 145|130 | 190 | 215| 250 | @50 | @92 |P125|@165| 21 4 | @18 | @12 | 20 (@160 29 | 29 | 48
18 4F5/4.0 16 112 90 | 473 | - | 306 - 300 - 196 - 145 | 130 | 190 | 215 | 250 | @50 | @92 |@125|P165| 21 4 | @18 | @12 | 20 |@160| 31 - 59
18 5F5/5.5 16 132 90 | 524 | - | 328 - 300 - 220 - 161 | 130 | 190 | 215 | 250 | @50 | @92 |@125|P165| 21 4 | @18 | @12 | 20 |@300| 38 - 70
18 6F5/5.5 1.6 132 9 | 564 | - | 328 B 300 B 220 = 161 | 130 | 190 | 215 | 250 | @50 | @92 |@125/P165| 21 4 | @18 | @12 | 20 |@300| 41 - 73
18 7F5/7.5 25 132 90 | 604 | - | 328 B 300 B 220 = 161 | 130 | 190 | 215 | 250 | @50 | @92 |@125/P165| 21 4 | @18 | @12 | 20 |@300| 44 - 82
18 8F5/7.5 25 132 90 | 644 | - 328 - 300 - 220 - 161 | 130 | 190 | 215 | 250 | @50 | @92 | @125/ P165| 21 4 | @18 | @12 | 20 |@300| 44 - 82
18 10F5/11 25 160M 90 | 754 | - | 403 - 300 - 248 - 195 | 130 | 190 | 215 | 250 | @50 | @92 |@125/@165| 21 4 | @18 | @12 | 20 |@350| 54 - 111
18 12F5/11 25 160M | 90 | 834 | - |403| - |300| - |248| - | 195|130| 190 | 215| 250 | @50 | @92 |@125| 2165 21 4 | @18 | @12 | 20 |@350| 57 - | 114
18 14F5/15 25 160M | 90 | 914| - |503| - |300| - |33| - |246|130| 190 | 215| 250 | 50 | @92 |@125| 2165 21 4 | @18 | @12 | 20 |@350| 58 - | 151
18 15F5/15 25 160M 90 | 955 | - 503 - 300 - 335 - 246 | 130 | 190 | 215 | 250 | @50 | @92 |P125|B165| 21 4 | @18 | @12 | 20 |@350| 58 - 151
18 16F5/15 25 160M 9 | 995 | - 503 - 300 - 335 - 246 | 130 | 190 | 215 | 250 | @50 | @92 |P125| B165| 21 4 | 218 | @12 | 20 |@350| 61 - 154

1) AEG motor dimensions except 4 single phase motors manufactured by Ebara
2) 1,6 MPa=16 bar
2,5 MPa=25 bar

402

E2ARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM
pimensions EVM(.)32-64 50 Hz

H3
coJ

H

g A

H2

SN No. HOLES-@ D3

3 SG
D

i

No. 4 HOLES — @ BF 5 H8

See dimensions pages 404, 405, 406.

403

% E2ARA EBARA PUMPS EUROPE S.p.A.




Rev. D

VERTICAL PUMPS EVM
piMENsIons: EVM(.)32 50Hz

Pump Type | Pmax. | Motor Dimensions [mm] Weight
EVM MPa] | Ssize tkal
2
) H H2 | H3 E B C | BM| BL |BY1l| BW | SA SG D1 D2 H8 | SN | D3 | BF | BH| A a ‘g_ §
) y |y S5¢
= =}
3~ 3~ | 3~ s e

32 1-0F5/2.2 16 90L 105 | 493 | 267 | 320 | 180 | 138 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 140| 56 72

32 2-2F5/3.0 16 100 105 | 503 | 306 | 320 | 196 | 145 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 160 | 58 v

32 2-0F5/4.0 16 112 105 | 503 | 306 | 320 | 196 | 145 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 160 | 58 85

32 3-3F5/5.5 16 132 105 | 572 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 | @65 | @110 | D145 | @185| 23 @18 | @14 | 35 | 300 74 | 106

32 3-0F5/5.5 16 132 105 | 572 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 300| 74 | 106

32 4-3F5/7.5 16 132 105 | 620 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 300 77 | 115

32 4-0F5/7.5 16 132 105 | 620 | 328 | 320 | 220 | 161 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 300 77 | 115

32 5-3F5/11 16 160M | 105 | 799 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 96 | 153
32 5-0F5/11 16 160M | 105 | 799 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 218 | @14 | 35 | 350 96 | 153
32 6-3F5/11 16 160M | 105 | 847 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 99 | 156
32 6-0F5/11 16 160M | 105 | 847 | 403 | 320 | 248 | 195 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 99 | 156
32 7-3F5/15 16 160M | 105 | 895 | 503 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 | 102 | 195
32 7-0F5/15 16 160M | 105 | 895 | 503 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 | 102 | 195
32 8-3F5/15 25 160M | 105 | 943 | 503 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | D145 | @185| 23 @18 | @14 | 35 | 350 | 105 | 198
32 8-0F5/15 25 160M | 105 | 943 | 503 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 | 105 | 198

32 9-3F5/18.5 25 160L | 105 | 991 | 547 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185 | 23 @18 | @14 | 35 | 350 | 108 | 209

32 9-0F5/18.5 25 160L | 105 | 991 | 547 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | P110 | P145 | @185 | 23 @18 | @14 | 35 | 350 | 108 | 209

3210-3F5/185| 25 160L | 105 [1039| 547 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | ¥110 | P145 | @185 | 23 @18 | @14 | 35 | 350 | 112 | 213

3210-1F5/185| 25 160L | 105 [1039| 547 | 320 | 335 | 246 | 170 | 210 | 240 | 280 | @65 | @110 | P145| B185| 23 @18 | @14 | 35 | 350 112 | 213

32 11-3F5/22 25 180 105 (1087 | 602 | 320 | 366 | 266 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @218 | @14 | 35 | 350 | 116 | 246

32 11-0F5/22 25 180 105 (1087 | 602 | 320 | 366 | 266 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 | 116 | 246

32 12-3F5/22 25 180 105 [ 1135| 602 | 320 | 366 | 266 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 218 | @14 | 35 | 350 | 119 | 249

32 12-1F5/22 3.0 180 105 | 1135| 602 | 320 | 366 | 266 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 350 | 119 | 249

32 13-3F5/30 3.0 200 105 | 1198| 669 | 320 | 405 | 341 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 400 129 | 301
32 13-0F5/30 3.0 200 105 [ 1198| 669 | 320 | 405 | 341 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 400 | 129 | 301
32 14-3F5/30 3.0 200 105 | 1246| 669 | 320 | 405 | 341 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 400 | 133 | 305

CO|0O |00 |0 ||| W W (O (L O X AP BPI PP

32 14-0F5/30 3.0 200 105 [ 1246| 669 | 320 | 405 | 341 | 170 | 210 | 240 | 280 | @65 | @110 | @145 | @185| 23 @18 | @14 | 35 | 400 | 133 | 305

1) AEG motor dimensions
2) 1,6 MPa=16 bar

2,5 MPa=25 bar

3,0 MPa=30 bar

404

E2ARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

piMEnsions: EVM(.)45

Pump Type | Pmax. | Motor Dimensions [mm] Weight
EVM [MPa] Size [kg]
2

) H | H2 | H3| E B C | BM| BL |BY1| BW| SA | SG D1 D2 | H8 | SN | D3 | BF | BH | A a g_ S
1 AV E|EL

o pol

3~ 3~ | 3~ a |a
45 1-1F5/3.0 16 100 140 | 525 | 306 | 365 | 196 | 145 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | P200| 20 | 8 | @18 | @14 | 45 | 160 | 71 90
45 1-0F5/4.0 16 112 140 | 525 | 306 | 365 | 196 | 145 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | F200| 20 | 8 | @18 | @14 | 45 | 160| 73 | 100
45 2-2F5/5.5 16 132 140 | 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 | @80 | @120 | P160 | F200| 20 | 8 | @18 | @14 | 45 | 300| 81 | 113
45 2-0F5/7.5 16 132 140 | 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | F200| 20 | 8 | @18 | @14 | 45 | 300 | 81 | 119
45 3-2F5/11 16 160M | 140 | 821 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | F200| 20 | 8 | P18 | 14| 45 | 350 | 99 | 156
45 3-0F5/11 16 160M | 140 | 821 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 | @80 | @120 | P160 | F200| 20 | 8 | P18 | @14| 45 | 350 | 99 | 156
45 4-2F5/15 25 160M | 140 | 893 | 503 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | @200 | 20 | 8 | 18| P14 | 45 | 350 | 108 | 189
45 4-0F5/15 25 160M | 140 | 893 | 503 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @80 | @120 | P160 | F200| 20 | 8 | @18 | @14 | 45 | 350 | 108 | 189
45 5-2F5/18.5 25 160L | 140 | 965 | 547 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @80 | P120 | @160 | B200| 20 | 8 | 18| @14 | 45 | 350 | 128 | 229
45 5-0F5/18.5 25 160L | 140 | 965 | 547 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | @200 | 20 | 8 |18 | F14| 45 | 350 | 128 | 229
45 6-2F5/22 25 180 140 | 1037| 602 | 365 | 366 | 266 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | P200| 20 | 8 | @18 | @14 | 45 | 350 | 133 | 263
45 6-0F5/22 25 180 140 | 1037| 602 | 365 | 366 | 266 | 190 | 251 | 266 | 331 | @80 | @120 | F160 | F200| 20 | 8 | @18 | @14 | 45 | 350 | 133 | 263
45 7-2F5/30 25 200 140 | 1124| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | F200| 20 | 8 | @18 | @14 | 45 | 400 | 139 | 311
45 7-0F5/30 25 200 140 | 1124| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | Y120 | @160 | @200 | 20 | 8 | P18 | P14 | 45 | 400 | 139 | 311
45 8-2F5/30 25 200 140 | 1196| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | P200| 20 | 8 | @18 | P14 | 45 | 400 | 146 | 318
45 8-0F5/30 25 200 140 | 1196| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | F160 | P200| 20 | 8 | @18 | P14 | 45 | 400 | 146 | 318
45 9-2F5/3.0 25 200 140 | 1269| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | 160 | F200| 20 | 8 | P18 | @14 | 45 | 400 | 151 | 323
45 9-0F5/37 25 200 140 | 1269| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | @200 | 20 | 8 | P18 | P14 | 45 | 400 | 151 | 341
45 10-2F5/37 3.0 200 140 | 1341| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | @160 | @200 | 20 | 8 | @18 | P14 | 45 | 400 | 156 | 346
45 10-0F5/37 3.0 200 140 | 1341| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @80 | @120 | F160 | F200| 20 | 8 | P18 | P14 | 45 | 400 | 156 | 346

1) AEG motor dimensions
2) 1,6 MPa=16 bar

2,5 MPa=25 bar

3,0 MPa=30 bar

405

E2ARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

piMENsIONs: EVM(.)64

Pump Type Pmax. | Motor Dimensions [mm] Weight
EVM [MPa] Size [kgl
2

) H H2 H3 E B C BM | BL | BY1 | BW SA SG D1 D2 H8 | SN D3 BF | BH A a g_ S
1 ny E|E2

> o

3~ 3~ | 3~ a | a
64 1-1F5/4.0 1.6 100 140 | 525 | 306 | 365 | 196 | 145 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 160 | 70 98
64 1-0F5/5.5 1.6 132 140 | 546 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | F220| 20 8 @18 | @14 | 45 | 300 | 77 109
64 2-2F5/7.5 1.6 132 140 | 618 | 328 | 365 | 220 | 161 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 @18 | @14 | 45 | 300 | 81 119
64 2-1F5/11 1.6 160M | 140 | 749 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 94 | 151
64 2-0F5/11 1.6 160M 140 | 749 | 403 | 365 | 248 | 195 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 @18 | @14 | 45 | 350 | 94 151
64 3-3F5/15 1.6 160M | 140 | 821 | 503 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 99 | 192
64 3-2F5/15 1.6 160M | 140 | 821 | 503 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | P14 | 45 | 350 | 99 | 192
64 3-1F5/15 1.6 160M | 140 | 821 | 503 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 99 | 192
64 3-0F5/18.5 1.6 160L 140 | 821 | 547 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 @18 | @14 | 45 | 350 | 99 200
64 4-3F5/18.5 1.6 160L | 140 | 893 | 547 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | F100 | P140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 108 | 209
64 4-2F5/18.5 1.6 160L | 140 | 893 | 547 | 365 | 335 | 246 | 190 | 251 | 266 | 331 | @100 | P140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 108 | 209
64 4-1F5/22 1.6 180 140 | 893 | 602 | 365 | 366 | 266 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | F220| 20 8 @18 | @14 | 45 | 350 | 116 | 246
64 4-0F5/22 1.6 180 140 | 893 | 602 | 365 | 366 | 266 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 350 | 116 | 246
64 5-3F5/30 1.6 200 140 | 980 | 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 400 | 128 | 300
64 5-2F5/30 1.6 200 140 | 980 | 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | F220| 20 8 @18 | @14 | 45 | 400 | 128 | 300
64 5-1F5/30 1.6 200 140 | 980 | 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 400 | 128 | 300
64 5-0F5/30 1.6 200 140 | 980 | 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 | @18 | @14 | 45 | 400 | 128 | 300
64 6-3F5/30 1.6 200 140 | 1052| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @180 | @220 | 20 8 @18 | @14 | 45 | 400 | 136 | 308
64 6-2F5/30 25 200 140 | 1052| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 | @22 | @14 | 45 | 400 | 136 | 308
64 6-1F5/37 25 200 140 | 1052| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 | @22 | @14 | 45 | 400 | 136 | 326
64 6-0F5/37 25 200 140 | 1052| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 | @22 | @14 | 45 | 400 | 136 | 326
64 7-3F5/37 2.5 200 140 | 1124| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 @22 | @14 | 45 | 400 | 139 | 329
64 7-2F5/37 25 200 140 | 1124| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 | @22 | @14 | 45 | 400 | 139 | 329
64 7-1F5/37 25 200 140 | 1124| 669 | 365 | 405 | 341 | 190 | 251 | 266 | 331 | @100 | @140 | @190 | @235 | 26 8 | @22 | @14 | 45 | 400 | 139 | 329

1) AEG motor dimensions
2) 1,6 MPa=16 bar
2,5 MPa=25 bar

406

E2ARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PACKING AND WEIGHT o0 Hz

S TreE

Ry %% TYPE 2

TYPE 3

T . 24

407

% E2ARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM

PACKING AND WEIGHT: EVM(.)3-5 50 Hz

PUMP TYPE PUMPS PUMPS WITH MOTOR ~1 PUMPS WITH MOTOR ~3
EVM ()
PACKING [mm] WEIGHT | PACK PACKING [mm] WEIGHT | PACK PACKING [mm] WEIGHT | PACK
) TYPE [kg] TYPE lka] TYPE
X Y z X Y z X Y z

3 2N5/0.37 265 | 265 | 410 12 1 265 | 265 | 525 18 1 265 | 265 | 525 18 1
3 3N5/0.37 265 | 265 | 410 13 1 265 | 265 | 525 19 1 265 | 265 | 525 19 1
34N50.55 265 | 265 | 410 13 1 265 | 265 | 525 20 1 265 | 265 | 525 20 1
3 5N5/0.55 265 | 265 | 410 14 1 300 | 300 | 825 24 2 300 | 300 | 825 23 2
3 6N5/0.75 265 | 265 | 410 15 1 300 | 300 | 825 29 2 300 | 300 | 825 26 2
3 7N5/0.75 265 | 265 | 410 15 1 300 | 300 | 825 29 2 300 | 300 | 825 26 2
39NS5/1.1 265 | 265 | 525 16 1 300 | 300 | 825 31 2 300 | 300 | 825 28 2
31IN5/1.1 265 | 265 | 525 17 1 300 | 300 | 825 32 2 300 | 300 | 825 30 2
313N5/15 265 | 265 | 525 19 1 300 | 300 | 935 39 2 300 | 300 | 935 35 2
315N5/1.5 300 | 300 | 825 23 2 400 | 400 | 1047 43 2 300 | 300 | 935 36 2
318F5/2.2 300 | 300 | 825 29 2 480 | 480 | 1147 52 2 400 | 400 | 1047 48 2
322F5/2.2 300 | 300 | 935 31 2 480 | 480 | 1207 55 2 400 | 400 | 1047 50 2
3 26F5/3.0 400 | 400 | 1047 38 2 - - - - - 480 | 480 | 1207 60 2
5 2N5/0.37 265 | 265 | 410 13 1 25 | 265 | 525 18 1 25 | 265 | 525 18 1
5 3N5/0.55 265 | 265 | 410 13 1 25 | 265 | 525 20 1 25 | 265 | 525 20 1
5 4N5/0.75 265 | 265 | 410 14 1 300 | 300 | 825 28 2 300 | 300 | 825 25 2
55N5/1.1 265 | 265 | 410 15 1 300 | 300 | 825 29 2 300 | 300 | 825 27 2
5 6N5/1.1 265 | 265 | 410 15 1 300 | 300 | 825 30 2 300 | 300 | 825 28 2
5 7N5/1.5 265 | 265 | 525 16 1 300 | 300 | 825 36 2 300 | 300 | 825 32 2
58N5/1.5 265 | 265 | 525 17 1 300 | 300 | 935 37 2 300 | 300 | 935 32 2
5 10N5/2.2 300 | 300 | 825 22 2 300 | 300 | 935 40 2 300 | 300 | 935 38 2
5 11N5/2.2 300 | 300 | 825 23 2 400 | 400 | 1047 44 2 300 | 300 | 935 39 2
512N5/2.2 300 | 300 | 825 24 2 400 | 400 | 1047 44 2 400 | 400 | 1047 42 2
5 14N5/3.0 300 | 300 | 825 26 2 - - - - - 400 | 400 | 1047 48 2
5 16N5/3.0 300 | 300 | 825 27 2 - - - - - 400 | 400 | 1047 49 2
5 18F5/4.0 300 | 300 | 935 33 2 - - - - - 480 | 480 | 1207 66 2
5 19F5/4.0 300 | 300 | 935 34 2 - - - - - 480 | 480 | 1207 67 2
5 22F5/4.0 400 | 400 | 1047 38 2 - - - - - 410 | 1350 | 542 72 3
5 24F5/5.5 400 | 400 | 1230 42 2 - - - - - 520 | 1540 | 547 83 3

408

E2SARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PACKING AND WEIGHT: EVM(.)10-18

50 Hz

PUMP TYPE PUMPS PUMPS WITH MOTOR ~1 PUMPS WITH MOTOR ~3
EVM ()
PACKING [mm] WEIGHT | PACK PACKING [mm] WEIGHT | PACK PACKING [mm] WEIGHT | PACK
[kal TYPE [kal TYPE Ikl TYPE
X Y z X Y z X Y z
10 2N5/0.75 265 | 265 | 410 22 1 300 | 300 | 825 33 2 300 | 300 | 825 30 2
10 3N5/1.1 265 | 265 | 410 24 1 300 | 300 | 825 35 2 300 | 300 | 825 33 2
10 4N5/1.5 265 | 265 | 525 26 1 300 | 300 | 825 43 2 300 | 300 | 825 39 2
10 5N5/2.2 265 | 265 | 525 28 1 300 | 300 | 935 45 2 300 | 300 | 935 44 2
10 6N5/2.2 265 | 265 | 525 30 1 300 | 300 | 935 46 2 300 | 300 | 935 46 2
10 8N5/3.0 300 | 300 | 825 32 2 - - - - - 400 | 400 | 1047 54 2
10 10NS5/4.0 300 | 300 | 825 36 2 - - - - 400 | 400 | 1047 66 2
10 11N5/4.0 300 | 300 | 825 35 2 - - - - - 400 | 400 | 1047 65 2
10 12N5/5.5 400 | 400 | 1047 46 2 - - - - - 480 | 480 | 1297 81 2
10 14N5/5.5 400 | 400 | 1047 49 2 - - - - - 480 | 480 | 1207 84 2
10 15F5/5.5 400 | 400 | 1047 53 2 - - - - - 410 | 1350 | 542 92 3
10 16F5/7.5 400 | 400 | 1047 53 2 - - - - - 410 | 1350 | 542 98 3
10 18F5/7.5 400 | 400 | 1047 54 2 - - - - - 410 | 1350 | 542 99 3
10 20F5/7.5 400 | 400 | 1230 60 2 - - - - - 410 | 1350 | 542 105 3
10 22F5/11 400 | 400 | 1230 62 2 - - - - - 610 | 1750 | 597 134 3
18 2F5/2.2 400 | 400 | 780 31 2 300 | 300 | 825 49 2 400 | 700 | 780 47 2
18 3F5/3.0 400 | 400 | 780 32 2 - - - - - 400 | 400 | 1047 53 2
18 4F5/4.0 400 | 400 | 780 36 2 - - - - - 400 | 400 | 1047 65 2
18 5F5/5.5 400 | 400 | 780 46 2 - - - - - 400 | 400 | 1047 80 2
18 6F5/5.5 400 | 400 | 780 47 2 - - - - - 400 | 400 | 1047 81 2
18 7F5/7.5 400 | 400 | 780 49 2 - - - - - 400 | 400 | 1047 89 2
18 8F5/7.5 400 | 400 | 1047 50 2 - - - - - 480 | 480 | 1207 o1 2
18 10F5/11 400 | 400 | 1047 61 2 - - - - - 500 | 1350 | 552 126 3
18 12F5/11 400 | 400 | 1047 65 2 - - - - - 520 | 1540 | 547 131 3
18 14F5/15 400 | 400 | 1230 68 2 - - - - - 520 | 1540 | 547 169 3
18 15F5/15 400 | 400 | 1230 68 2 - - - - - 520 | 1540 | 547 170 3
18 16F5/15 400 | 400 | 1230 72 2 - - - - - 610 | 1750 | 597 179 3

409

E2ARA

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PACKING AND WEIGHT EVM(.)32: 50 Hz
PUMP TYPE PUMPS PUMPS WITH MOTOR ~3
EVM()
PACKING [mm] WEIGHT | WEIGHT PACKING [mm] WEIGHT | WEIGHT
[ka] [ka] PACK [ka] [ka] PACK
TYPE TYPE
EVM(G) | EVM() EVM(G) | EVM(L)
X Y Z X Y Z

32 1-0F5/2.2 400 400 780 56 61 2 400 400 1047 74 79 2
32 2-2F5/3.0 400 400 780 58 63 2 400 400 1047 79 84 2
32 2-0F5/4.0 400 400 780 58 63 2 400 400 1047 87 92 2
32 3-3F5/5.5 400 400 780 72 79 2 400 400 1047 106 113 2
32 3-0F5/5.5 400 400 780 72 79 2 400 400 1047 106 113 2
32 4-3F5/7.5 400 400 780 75 82 2 400 400 1047 115 122 2
32 4-0F5/7.5 400 400 780 75 82 2 400 400 1047 115 122 2
32 5-3F5/11 400 400 1047 94 103 2 500 1540 540 158 167 3
32 5-0F5/11 400 400 1047 94 103 2 500 1540 540 158 167 3
32 6-3F5/11 400 400 1047 97 106 2 500 1540 540 161 170 3
32 6-0F5/11 400 400 1047 97 106 2 500 1540 540 161 170 3
32 7-3F5/15 400 400 1047 100 109 2 500 1540 540 200 209 3
32 7-0F5/15 400 400 1047 100 109 2 500 1540 540 200 209 3
32 8-3F5/15 400 400 1240 102 112 2 500 1540 540 202 212 3
32 8-0F5/15 400 400 1240 102 112 2 500 1540 540 202 212 3
32 9-3F5/18.5 400 400 1240 105 115 2 610 1750 593 220 230 3
32 9-0F5/18.5 400 400 1240 105 115 2 610 1750 593 220 230 3
32 10-3F5/18.5 400 400 1240 108 119 2 610 1750 593 223 234 3
32 10-1F5/18.5 400 400 1240 108 119 2 610 1750 593 223 234 3
32 11-3F5/22 400 400 1240 112 123 2 610 1750 593 256 267 3
32 11-0F5/22 400 400 1240 112 123 2 610 1750 593 256 267 3
32 12-3F5/22 400 1350 540 122 133 3 635 2130 587 320 331 3
32 12-1F5/22 400 1350 540 122 133 3 635 2130 587 320 331 3
32 13-3F5/30 500 1350 545 131 143 3 635 2130 587 371 383 3
32 13-0F5/30 500 1350 545 131 143 3 635 2130 587 371 383 3
32 14-3F5/30 500 1350 545 134 147 3 635 2130 587 374 387 3
32 14-0F5/30 500 1350 545 134 147 3 635 2130 587 374 387 3

410

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PACKING AND WEIGHT EVM(.)45: 50 Hz
PUMP TYPE PUMPS PUMPS WITH MOTOR ~3
EVM(.)
PACKING [mm] WEIGHT | WEIGHT PACKING [mm] WEIGHT | WEIGHT
[ka] [kal PACK [kal [ka] PACK
TYPE TYPE
EVM@G) | EVM(L) EVM(@G) | EVM(L)
X Y 4 X Y 4
45 1-1F5/3.0 400 400 780 69 76 2 400 400 1047 90 97 2
45 1-0F5/4.0 400 400 780 71 78 2 400 400 1047 100 107 2
45 2-2F5/5.5 400 400 780 79 86 2 400 400 1047 113 120 2
45 2-0F5/7.5 400 400 780 79 86 2 400 400 1047 119 126 2
45 3-2F5/11 400 400 | 1047 97 106 2 500 1540 540 161 170 3
45 3-0F5/11 400 400 | 1047 97 106 2 500 1540 540 161 170 3
45 4-2F5/15 400 400 | 1047 105 115 2 500 1540 540 193 203 3
45 4-0F5/15 400 400 | 1047 105 115 2 500 1540 540 193 203 3
45 5-2F5/18.5 400 400 | 1240 123 135 2 610 1750 593 238 250 3
45 5-0F5/18.5 400 400 | 1240 123 135 2 610 1750 593 238 250 3
45 6-2F5/22 400 400 | 1240 127 140 2 610 1750 593 271 284 3
45 6-0F5/22 400 400 | 1240 127 140 2 610 1750 593 271 284 3
45 7-2F5/30 480 480 | 1297 136 149 2 635 2130 587 380 393 3
45 7-0F5/30 480 480 | 1297 136 149 2 635 2130 587 380 393 3
45 8-2F5/30 500 1350 | 545 147 160 3 635 2130 587 387 400 3
45 8-0F5/30 500 1350 | 545 147 160 3 635 2130 587 387 400 3
45 9-2F5/30 500 1350 | 545 151 165 3 635 2130 587 391 405 3
45 9-0F5/37 610 1750 | 593 158 172 3 635 2130 587 409 423 3
45 10-2F5/37 610 1750 | 593 162 177 3 635 2130 587 413 428 3
45 10-0F5/37 610 1750 | 593 162 177 3 635 2130 587 413 428 3
411

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

PACKING AND WEIGHT EVM(.)64: 50 Hz
PUMP TYPE PUMPS PUMPS WITH MOTOR ~3
EVM(.)
PACKING [mm] WEIGHT | WEIGHT PACKING [mm] WEIGHT | WEIGHT
[ka] [ka] PACK [ka] [ka] PACK
TYPE TYPE
EVM(G) | EVMQ) EVM(G) | EVM(L)
X Y z X Y z

64 1-1F5/4.0 400 400 780 69 76 2 400 400 1047 98 105 2
64 1-0F5/5.5 400 400 780 75 82 2 400 400 1047 109 116 2
64 2-2F5/7.5 400 400 780 79 87 2 400 400 1047 119 126 2
64 2-1F5/11 400 400 | 1047 92 100 2 500 1350 545 156 165 3
64 2-0F5/11 400 400 | 1047 92 100 2 500 1350 545 156 165 3
64 3-3F5/15 400 400 | 1047 97 106 2 500 1540 540 198 207 3
64 3-2F5/15 400 400 | 1047 97 106 2 500 1540 540 198 207 3
64 3-1F5/15 400 400 | 1047 97 106 2 500 1540 540 198 207 3
64 3-0F5/18.5 400 400 | 1047 97 106 2 500 1540 540 206 215 3
64 4-3F5/18.5 400 400 | 1047 105 115 2 500 1540 540 214 224 3
64 4-2F5/18.5 400 400 | 1047 105 115 2 500 1540 540 214 224 3
64 4-1F5/22 400 400 | 1047 112 123 2 610 1750 593 256 267 3
64 4-0F5/22 400 400 | 1047 112 123 2 610 1750 593 256 267 3
64 5-3F5/30 480 480 | 1147 126 138 2 610 1750 593 309 321 3
64 5-2F5/30 480 480 | 1147 126 138 2 610 1750 593 309 321 3
64 5-1F5/30 480 480 | 1147 126 138 2 610 1750 593 309 321 3
64 5-0F5/30 480 480 | 1147 126 138 2 610 1750 593 309 321 3
64 6-3F5/30 480 480 | 1297 134 146 2 635 2130 587 378 390 3
64 6-2F5/30 480 480 | 1297 134 146 2 635 2130 587 378 390 3
64 6-1F5/37 480 480 | 1297 134 146 2 635 2130 587 396 408 3
64 6-0F5/37 480 480 | 1297 134 146 2 635 2130 587 396 408 3
64 7-3F5/37 480 480 | 1297 136 149 2 635 2130 587 398 411 3
64 7-2F5/37 480 480 | 1297 136 149 2 635 2130 587 398 411 3
64 7-1F5/37 480 480 | 1297 136 149 2 635 2130 587 398 411 3

412

EBARA PUMPS EUROPE S.p.A.



VERTICAL PUMPS

Rev. D

EVM

TECHNICAL DATA EVM(.)3-18

50Hz

Standard motors technical data

Pump type Motor Capacitor Full load efficency Full load efficency Full load current [A] Locked rotor current [A]
EVM(.) Size ball bearing Single phase and power-factor and power-factor | single Three phase Single Three phase
Single phase Three phase Phase Phase
Pump side Fan side uF \ n % Ccos—¢ n% Cos—¢ 230V | 400V 690V 230V | 400V 690V
3 2N5/0.37 71 6202-2Z 6202-2Z 16 400 63 0.98 65.3 0.70 2.6 1.9 1.1 - 7.5 9.0 5.2 -
3 3N5/0.37 71 6202-2Z 6202-2Z 16 400 63 0.98 65.3 0.70 2.6 1.9 11 - 7.5 9.0 5.2 -
3 4N5 0.55 71 6202-2Z 6202-2Z 16 400 65 0.97 70.8 0.70 3.8 2.8 1.6 - 10,3 13.3 7.7 -
3 5N5/0.55 71 6202-ZZ 6202-2Z 16 400 65 0.97 70.8 0.70 3.8 2.8 1.6 - 10,3 13.3 7.7 -
3 6N5/0.75 80 6204-ZZ C3 | 6204-ZZ C3 25 400 65 0.95 74.5 0.78 53 33 1.9 - 21.8 16.5 9.5 -
3 7N5/0.75 80 6204-ZZ C3 | 6204-ZZ C3 25 400 65 0.97 745 0.78 5.3 3.3 1.9 - 21.8 16.5 9.5 -
39N5/1.1 80 6204-ZZ C3 | 6204-ZZ C3 36 400 74 0.97 77.6 0.82 6.7 4.3 25 - 235 19.9 115 -
3 11N5/1.1 80 6204-ZZ C3 | 6204-ZZ C3 36 400 74 0.97 77.6 0.82 6.7 4.3 25 - 235 19.9 115 -
¢ 313N5/1.5 90 6205-ZZ C3 | 6205-ZZ C3 35 400 79 0.97 78.6 0.82 8,8 5.9 3.4 - 46.0 29.4 17 -
¢ 315N5/1.5 90 6205-ZZ C3 | 6205-ZZ C3 35 400 79 0.97 78.6 0.82 8,8 5.9 3.4 - 46.0 29.4 17 -
¢ 318F5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 N
& 322F5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
3 26F5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3 - - - - 82.6 0.85 - 11.3 6.5 - - 81.4 47 -
5 2N5/0.37 71 6202-ZZ 6202-2Z 16 400 63 0.98 65.3 0.70 2.6 1.9 1.1 - 7.5 9.0 5.2 -
5 3N5/0.55 71 6202-2Z 6202-2Z 16 400 65 0.97 70.8 0.70 3.8 2.8 1.6 - 10,3 13.3 7.7 -
5 4N5/0.75 80 6204-ZZ C3 | 6204-ZZ C3 25 400 65 0.95 74.5 0.78 53 33 1.9 - 21.8 16.5 9.5 -
55N5/1.1 80 6204-ZZ C3 | 6204-ZZ C3 36 400 74 0.97 77.6 0.82 6.7 4.3 25 - 235 19.9 11.5 -
56N5/1.1 80 6204-ZZ C3 | 6204-ZZ C3 36 400 74 0.97 77.6 0.82 6.7 4.3 25 - 23.5 19.9 115 -
¢ 57N5/15 90 6205-ZZ C3 | 6205-ZZ C3 35 400 79 0.97 78.6 0.82 8,8 5.9 3.4 - 46.0 29.4 17 -
¢ 58N5/1.5 90 6205-ZZ C3 | 6205-ZZ C3 35 400 79 0..97 78.6 0.82 8,8 5.9 34 - 46.0 29.4 17 N
¢ 510N5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
¢ 511IN5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
¢ 512N5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
5 14N5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3 - - - - 82.6 0.85 - 11.3 6.5 - - 814 47 -
5 16N5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3 - - - - 82.6 0.85 - 11.3 6.5 - - 81.4 47 -
5 18F5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
5 19F5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
5 22F5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
5 24F5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - - 10.8 6.2 - - 713 41.2
10 2N5/0.75 80 6204-ZZ C3 | 6204-ZZ C3 25 400 65 0.95 745 0.78 5.3 3.3 1.9 - 21.8 16.5 9.5 -
10 3N5/1.1 80 6204-ZZ C3 | 6204-ZZ C3 36 400 74 0.97 77.6 0.82 6.7 4.3 25 - 235 19.9 115 -
¢ 104N5/1.5 90 6205-ZZ C3 | 6205-ZZ C3 35 400 79 0.97 78.6 0.82 8,8 5.9 34 - 46.0 29.4 17 -
¢ 105N5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
¢ 106N5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
10 8N5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3 - - - - 82.6 0.85 - 11.3 6.5 - - 81.4 47 -
10 10N5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
10 11N5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
10 12N5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - 10.8 6.2 - - 713 41.2
10 14N5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - 10.8 6.2 - - 713 41.2
10 15F5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - 10.8 6.2 - - 713 41.2
10 16F5/7.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 87.0 0.89 - 141 8.1 - - 101.5 58.6
10 18F5/7.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 87.0 0.89 - 141 8.1 - - 101.5 58.6
10 20F5/7.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 87.0 0.89 - 14.1 8.1 - - 101.5 58.6
10 22F5/11 160 | 6309-ZZ C3 | 6308-ZZ C3 - - - - 88.7 0.84 - - 21.5 12.4 - - 144 83.1
¢ 18 2F5/2.2 90 6205-ZZ C3 | 6205-ZZ C3 40 400 78 0.97 81.8 0.81 12,9 8.5 4.9 - 61.0 60.3 34.8 -
18 3F5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3 - - - - 82.6 0.85 - 11.3 6.5 - - 814 47 -
18 4F5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3 - - - - 85.0 0.84 - 14.7 8.5 - - 119.5 69 -
18 5F5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - - 10.8 6.2 - - 71.3 41.2
18 6F5/5.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 85.7 0.86 - 10.8 6.2 - - 713 41.2
18 7F5/7.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 87.0 0.89 - 14.1 8.1 - - 101.5 58.6
18 8F5/7.5 132 | 6208-ZZ C3 | 6307-ZZ C3 - - - - 87.0 0.89 - - 14.1 8.1 - - 101.5 58.6
18 10F5/11 160 | 6309-ZZ C3 | 6308-ZZ C3 - - - - 88.7 0.84 - 215 12.4 - 144 83.1
18 12F5/11 160 | 6309-ZZ C3 | 6308-ZZ C3 - - - - 88.7 0.84 - 215 12.4 - 144 83.1
18 14F5/15 160 | 6309-ZZ C3 | 6309-ZZ C3 - - - - 89.7 0.85 - 28.5 16.5 - 205.2 1185
18 15F5/15 160 | 6309-ZZ C3 | 6309-ZZ C3 - - - - 89.7 0.85 - 28.5 16.5 - 205.2 118.5
18 16F5/15 160 | 6309-ZZ C3 | 6309-ZZ C3 - - - - 89.7 0.85 - 28.5 16.5 - 205.2 118.5
¢ Single phase motors manufactured by Ebara

500

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS EVM
moToR DATA: EVM(.)32 50Hz

Standard motor technical data
Pump type Motor Full load efficency Full load current [A] Locked rotor current [A]
EVM(.) Size ball bearing and power-factor Three phase Three phase
Three phase

Pump side | Fan side n% cos—¢ | 230V | 400V | 690V | 230V | 400V | 690V

32 1-0F5/2.2 90L | 6205-zz C3| 6205-ZZC3| 81.8 0.81 8.5 4.9 - 60.3 34.8 -

32 2-2F5/3.0 100 | 6206-2Z C3 | 6206-ZZC3| 82.6 0.85 11.3 6.5 - 81.4 47.0 -

32 2-0F5/4.0 112 | 6306-2Z C3 | 6306-ZZC3| 85.0 0.84 14.7 8.5 - 119.5 | 69.0 -
32 3-3F5/5.5 132 | 6208-2Z C3| 6307-ZZC3| 85.7 0.86 - 10.8 6.2 - 71.3 41.2
32 3-0F5/5.5 132 | 6208-zZ C3| 6307-ZZC3| 85.7 0.86 - 10.8 6.2 - 71.3 41.2
32 4-3F5/7.5 132 | 6208-zz C3 | 6307-2ZC3| 87.0 0.89 - 14.1 8.1 - 1015 | 58.6
32 4-0F5/7.5 132 | 6208-2Z C3 | 6307-ZZC3| 87.0 0.89 - 14.1 8.1 - 101.5 | 58.6
32 5-3F5/11 160M | 6309-zZ C3 | 6308-ZZC3| 88.7 0.84 - 215 12.4 - 144.0 | 83.1
32 5-0F5/11 160M | 6309-2Z C3 | 6308-ZZC3| 88.7 0.84 - 215 12.4 - 144.0 | 83.1
32 6-3F5/11 160M | 6309-2zZ C3 | 6308-ZZC3| 88.7 0.84 - 215 12.4 - 144.0 | 83.1
32 6-0F5/11 160M | 6309-2Z C3 | 6308-ZZC3| 88.7 0.84 - 21.5 12.4 - 144.0 | 83.1
32 7-3F5/15 160M | 6309-2Z C3 | 6309-ZZC3| 89.7 0.85 - 28.5 16.5 - 205.2 | 118.5
32 7-0F5/15 160M | 6309-2Z C3 | 6309-ZZC3| 89.7 0.85 - 28.5 16.5 - 205.2 | 118.5
32 8-3F5/15 160M | 6309-2Z C3 | 6309-ZZC3| 89.7 0.85 - 28.5 16.5 - 205.2 | 1185
32 8-0F5/15 160M | 6309-2Z C3 | 6309-ZZC3| 89.7 0.85 - 28.5 16.5 - 205.2 | 1185
32 9-3F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
32 9-0F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
32 10-3F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
32 10-1F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
32 11-3F5/22 180 6310-2Z 6309 - 77 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
32 11-0F5/22 180 6310-2Z 6309 - ZZ 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
32 12-3F5/22 180 6310-2Z 6309 - ZZ 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
32 12-1F5/22 180 6310-2Z 6309 - ZZ 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
32 13-3F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
32 13-0F5/30 200 6312-77 6311-27 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
32 14-3F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
32 14-0F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2

501

5 E2ARA EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

moTor DATA:EVM(.)45 50Hz
Standard motor technical data
Pump type Motor Full load efficency Full load current [A] Locked rotor current [A]
EVM() Size ball bearing and power-factor Three phase Three phase
Three phase
Pump side Fan side n % cos—o0 230V | 400V 690V 230V | 400V 690V
45 1-1F5/3.0 100 | 6206-ZZ C3 | 6206-ZZ C3| 82.6 0.85 11.3 6.5 - 81.4 47.0 -
45 1-0F5/4.0 112 | 6306-ZZ C3 | 6306-ZZ C3| 85.0 0.84 14.7 8.5 - 119.5 | 69.0 -
45 2-2F5/5.5 132 | 6208-2Z C3 | 6307-ZZC3| 85.7 0.86 - 10.8 6.2 - 71.3 41.2
45 2-0F5/7.5 132 | 6208-2Z C3 | 6307-ZZC3| 87.0 0.89 - 14.1 8.1 - 101.5 | 58.6
45 3-2F5/11 160M | 6309-ZZ C3 | 6308-ZZ C3| 88.7 0.84 - 21.5 12.4 - 144.0 | 83.1
45 3-0F5/11 160M | 6309-ZZ C3 | 6308-ZZ C3| 88.7 0.84 - 21.5 12.4 - 144.0 | 83.1
45 4-2F5/15 160M | 6309-ZZ C3 | 6309-ZZ C3| 89.7 0.85 - 28.5 16.5 - 205.2 | 118.5
45 4-0F5/15 160M | 6309-ZZ C3 | 6309-ZZ C3| 89.7 0.85 - 28.5 16.5 - 205.2 | 118.5
45 5-2F5/18.5 160L | 6309-ZZ C3 | 6309-ZZ C3| 90.4 0.86 - 34.5 19.8 - 262.2 | 151.4
45 5-0F5/18.5 160L | 6309-ZZ C3 | 6309-ZZ C3| 90.4 0.86 - 34.5 19.8 - 262.2 | 151.4
45 6-2F5/22 180 6310-2Z 6309 - 77 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
45 6-0F5/22 180 6310-2Z 6309 - 77 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
45 7-2F5/30 200 6312-7Z 6311 - 27 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
45 7-0F5/30 200 6312-7Z 6311 - 77 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
45 8-2F5/30 200 6312-2Z 6311 - 277 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
45 8-0F5/30 200 6312-2Z 6311 - 77 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
45 9-2F5/30 200 6312-7Z 6311 - 77 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
45 9-0F5/37 200 6312-2Z 6311 - 277 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
45 10-2F5/37 200 6312-2Z 6311 - 77 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
45 10-0F5/37 200 6312-2Z 6311 - 77 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
502

EBARA PUMPS EUROPE S.p.A.



Rev. D

VERTICAL PUMPS

EVM

moTor bATA:EVM(.)64

S50Hz

Standard-motor technical data
Pump type Motor Full load efficency Full load current [A] Locked rotor current [A]
EVM() Size ball bearing and power-factor Three phase Three phase
Three phase

Pump side | Fan side n% cos—¢p | 230V | 400V | 690V | 230V | 400V | 690V

64 1-1F5/4.0 112 | 6306-2Z C3 | 6306-ZZ C3| 85.0 0.84 14.7 8.5 - 119.5 | 69.0 -
64 1-0F5/5.5 132 | 6208-zZ C3 | 6307-ZZ C3| 85.7 0.86 - 10.8 6.2 - 71.3 41.2
64 2-2F5/7.5 132 | 6208-z2Z C3 | 6307-ZZC3| 87.0 0.89 - 14.1 8.1 - 101.5 | 58.6
64 2-1F5/11 160M | 6309-Z2Z C3 | 6308-ZZ C3| 88.7 0.84 - 215 12.4 - 144.0 | 83.1
64 2-0F5/11 160M | 6309-2Z C3 | 6308-ZZC3| 88.7 0.84 - 21.5 12.4 - 144.0 | 83.1
64 3-3F5/15 160M | 6309-Z2Z C3 | 6309-ZZ C3| 89.7 0.85 - 28.5 16.5 - 205.2 | 1185
64 3-2F5/15 160M | 6309-Z2Z C3 | 6309-ZZ C3| 89.7 0.85 - 28.5 16.5 - 205.2 | 1185
64 3-1F5/15 160M | 6309-Z2Z C3 | 6309-ZZ C3| 89.7 0.85 - 28.5 16.5 - 205.2 | 1185
64 3-0F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 34.5 19.8 - 262.2 | 151.4
64 4-3F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
64 4-2F5/18.5 160L | 6309-ZZ C3 | 6309-ZZC3| 90.4 0.86 - 345 19.8 - 262.2 | 151.4
64 4-1F5/22 180 6310-2Z 6309 - ZZ 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
64 4-0F5/22 180 6310-2Z 6309 - ZZ 90.8 0.86 - 41.0 23.7 - 303.4 | 175.2
64 5-3F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 5-2F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 5-1F5/30 200 6312-727 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 5-0F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 6-3F5/30 200 6312-2Z 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 6-2F5/30 200 6312-727 6311-2Z 91.6 0.85 - 56.0 32.3 - 436.8 | 252.2
64 6-1F5/37 200 6312-72Z 6311-2Z 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
64 6-0F5/37 200 6312-2Z 6311-2Z 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
64 7-3F5/37 200 6312-727 6311-2Z 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
64 7-2F5/37 200 6312-2Z 6311-2Z 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0
64 7-1F5/37 200 6312-2Z 6311-2Z 92.2 0.86 - 67.5 39.0 - 519.7 | 300.0

503

EBARA PUMPS EUROPE S.p.A.



	EVM_50Hz
	Contents
	Specifications
	Pump and motor Specifications
	Type Key
	Selection chart
	Performance chart
	Perf. Chart EVM(.)3
	Perf. Chart EVM(.)5
	Perf. Chart EVM(.)10
	Perf. Chart EVM(.)18
	Perf. Chart EVM(.)32
	Perf. Chart EVM(.)45
	Perf. Chart EVM(.)64


	Constructions
	Sectional view EVM(.)3
	Sectional view EVM(.)3 (without bearing)
	Sectional view EVM(.)3 (with single bearing)
	Sectional view EVMG3 (without bearing)
	Sectional view EVMG3 (with single bearing)

	Sectional view EVM(.)5
	Sectional view EVM(.)5 (without bearing)
	Sectional view EVM(.)5 (with single bearing)
	Sectional view EVMG5 (without bearing)
	Sectional view EVMG5 (with single bearing)

	Sectional view EVM(.)10
	Sectional view EVM(.)10 (without bearing)
	Sectional view EVM(.)10 (with single bearing)
	Sectional view EVMG10 (without bearing)
	Sectional view EVMG10 (with single bearing)

	Sectional view EVM(.)18
	Sectional view EVM(.)18 (without bearing)
	Sectional view EVM(.)18 (with single bearing)
	Sectional view EVMG18 (without bearing)
	Sectional view EVMG18 (with single bearing)

	Sectional view EVM(.)32
	Sectional view EVM(.)32 (without bearing)
	Sectional view EVM(.)32 (with single bearing)
	Sectional view EVM(.)32 (with double bearing)
	Sectional view EVMG32 (without bearing)
	Sectional view EVMG32 (with single bearing)
	Sectional view EVMG32 (with double bearing)

	Sectional view EVM(.)45
	Sectional view EVM(.)45 (without bearing)
	Sectional view EVM(.)45 (with single bearing)
	Sectional view EVM(.)45 (with double bearing)
	Sectional view EVMG45 (without bearing)
	Sectional view EVMG45 (with single bearing)
	Sectional view EVMG45 (with double bearing)

	Sectional view EVM(.)64
	Sectional view EVM(.)64 (without bearing)
	Sectional view EVM(.)64 (with single bearing)
	Sectional view EVM(.)64 (with double bearing)
	Sectional view EVMG64 (without bearing)
	Sectional view EVMG64 (with single bearing)
	Sectional view EVMG64 (with double bearing)

	Constructions: EVM(.)3-5
	Constructions: EVM(.)10
	Constructions: EVM(.)18
	Constructions: EVM(.)32
	Constructions: EVM(.)45
	Constructions: EVM(.)64
	Constructions (qty for model): EVM(.)3-5
	Constructions (qty for model): EVM(.)10-18
	Constructions (qty for model): EVM(.)32
	Constructions (qty for model): EVM(.)45
	Constructions (qty for model): EVM(.)64
	Bearings
	Mechanical seal EVM(.)3-18
	Mechanical seal EVM(.)32-64

	Dimensions
	Dimensions EVM(.)3-18
	Dimensions EVM(.)32-64
	Packing and Weight
	Packing and weight EVM(.)3-5
	Packing and weight EVM(.)10-18
	Packing and weight EVM(.)32
	Packing and weight EVM(.)45
	Packing and weight EVM(.)64

	Technical Data
	Motor data EVM(.)3-18
	Motor data EVM(.)32
	Motor data EVM(.)45
	Motor data EVM(.)64





